Hawa Porta
for wooden sliding doors
Comfortable sliding can be so easy

Hawa Porta fitting systems provide
functional, well thought-out and in-
stallation-friendly sliding solutions for
many usage situations in any weight
class. Regardless of whether it is inte-
grated in the wall or ceiling, or as a
pocket solution. The Hawa Porta is
also a force to be reckoned with as
far as wooden doors are concerned:
Anyone who plans with it will appre-
ciate the minimal installation dimen-
sions of the running tracks and the
modular system for variable applica-
tions in different weight classes, and
even with different systems. Anyone
who installs it will benefit from the
efficient installation, continuous
adjustments and economic storage.
Any anyone who uses the fitting every
day enjoys the good running charac-
teristics, the comfort of its integrated
soft closing system, the long service
life and the elegant panelling.

126



Area of application

Expedient, flexible sliding solutions for high-quality interior design in private and public buildings,

Technical specifications

such as entrance doors to walk-in closets, as a large-area separating door between the dining and
living area and as a door for any kind of room partitioning.

System advantages

<> Flexibility
| Productivity

@ Comfort

Aesthetics

Versatile, rational combination options by means of

multiple use of fittings

Efficient, easy installation and convenient adjustment
Minimal amount of door processing required

Running gears with ball bearings for high degree of operating convenience

Soft closing mechanism integrated in running track

Elegant profiles, invisible technology and wide range of design versions

for wall and ceiling mounting

Installation examples

Hawa Porta 100 H

Hawa Porta 100 HC

Hawa Porta 100 HM

Hawa Porta 100 HMD

w Max.
£2  Max.
[

@ Max.

40/45/60/
100/300/600 kg

6000 mm
5000 mm
18-100 mm

Good to know (accessories)

— Soft and self closing
mechanism

— Addition for 2 synchronously

running doors

— Sliding door with

Hawa Porta Acoustics
sound attenuation

Hawa Porta 100 HMT

Hawa Porta 100 HMT
Pocket Acoustics

60 30 53 30
2%. 1%.‘ Q%H 1%‘.
i Hl =)o m Sy
L 3 :N% : — ; T
] LE-.J [EJ ™[ Fico [T=] S
10 40 10 ) 10 40 10, 40 10 40| |10
13u 12.‘ 13u 12.‘ 13 1&.. 13 1&.. 13 Wg‘. 13u
32 16 32 16 32 16 32 16 32 16 32
5 5 g = - Ol S
~|olsy ~|olsy ~| oy ~| oy ~|oly @ =12l
8 B 8 iz iz gL
E s = s = s = 5 ‘ ::I ‘ ::I
———— ———— ——— ——— 1 1
| | | |

Product range
Hawa Porta 45 H
Hawa Porta 60 H
Hawa Porta 300 H
Hawa Porta 600 H

Hawa Porta 40 HC
Hawa Porta 60 HC
Hawa Porta 100 HC

Hawa Porta 60 HM
Hawa Porta 100 HM

Hawa Porta 60 HMD
Hawa Porta 100 HMD

Hawa Porta 60 HMT Pocket
Hawa Porta 100 HMT Pocket

Hawa Porta 60 HMD
Acoustics

Hawa Porta 100 HMD
Acoustics

Hawa Porta 60 HMT
Pocket Acoustics
Hawa Porta 100 HMT
Pocket Acoustics

127



'Hawa [2e8eY 40 H

Fitting for top-running wooden doors up to 40 kg (88 Ibs.), with surface mounted
running track. Optionally with soft and self closing mechanism. Wall mounting.

Product highlights \/

&Tﬁ Flexibility Multi-faceted product range, same parts for —
wooden and glass solutions \\]
M Productivity No door processing, continuous adjustment for
minimal production times
Technical specifications ]
[\ Max. 40 kg (88 Ibs.)
w Max. 2200 mm (7'2 5/8")
&2 Max. 1000 mm (3'3 3/8") /\
»He 18-30 mm (23/32" to 1 3/16") /
!
Installation examples
36 47
153 1
|7 28 3 39 39
" 3n " W "
045 |8 045 | R 1%
4=\ da_\ b IR T
! ; e . ; e o5 0
ol 5y ol 5oy
N d N d H
N Eeo 171‘ N Eeo P 2
16 % %
0 4 x45 +?2 D 4x45 +?2
ir - 80 i
H32 +3z
7 1 (12#* 7] 1
9 3 15uk] 9 n 3
2 2772
ol 10 (6% _21 | _o5_| 0%
Aach Sk 2 313k * 24 20 73 20 20 73 20 24 *
B 1 E & w2 () N o pin pin o e e
-y —| 16 32 8 32 32 8 32 16 =y
2% 2 NES ~_03 03 NN
E= :ﬁ I E= :ﬁ I
EF EF
50
1§
8@ - S - —r___ 1L
[ ~[op [ ~lop =
5 ‘ 1) 16 é
e \_035x20 (A D 03,5x%20
15 32
19 1dn
32 r

128 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Set for wall mounting,
for 1 wooden door up to 40 kg (88 Ibs.)

'Hawa [e8eY 40 H

Set for wall mounting,
for 1 wooden door up to 40 kg (88 Ibs.)

No. No.
Hawa Porta 40 H, for 1 door 057.3168.071 Hawa Porta 40 H, for 1 door, incl. soft close
and tracks, L= 2000 mm (6' 6 3/4") 057.3168.072
~
S X
;@ No. S
™ 3 No.
- 5 5
Set consisting of: o mm N
Set consisting of: (inch) o
Running gear, =
plain bearings, 2 | 057.3149.071 Soft close, up to 40 kg
rollers, plastic, white (88 Ibs.), running gear 2 | 057.3158.073
premounted
Stopper, plastic, gray 2 | 057.3148.071 .
S_topper with release 5 | 057.3151.071
piece to soft close
Hexagon screw,
% M5x18 mm (3/16"x23/32"), 2 | 600.0000.646 Hexagon screw,
steel, zinc-plated % M5x18 mm (3/16"x23/32"), 2 | 600.0000.646
steel, zinc-plated
2\ Prevailing torque, M5,
@‘) steel, zinc-plated 2| 600.0000.459 ) Prevailing torque, M5,
steel, zinc-plated 2 | 600.0000.459
Support bracket,
i . 2 | 057.3165.101
steel, zinc-plated Suppor.t bracket, > | 057.3165.101
steel, zinc-plated
Countersunk head screw,
&E& 4x45 mm (5/32"x1 25/32"), 8 | 600.0000.727 Countersunk head screw,
steel, zinc-plated %@{% 4x45 mm (5/32"x1 25/32"), 8 | 600.0000.727
steel, zinc-plated
Bottom guide, left
. ’ ! 1 | 057.3167.072 A .
plastic, gray lﬂ\é Botto_m guide, left, 1| 057.3167.072
plastic, gray
Blgtstﬁ? grua:de, riont 1| 057.3167.071 Bottom guide, right
plastic, gray om guide, right, 1| 057.3167.071
plastic, gray
Countersunk head screw,
ifg@ﬂ% 3.5x20 mm (5/32"x25/32"), 1 |1 600.0000.728 Countersunk head screw,
steel, zinc-plated &gﬁb 3.5x20 mm (5/32"x25/32"), 1 | 600.0000.728

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

steel, zinc-plated

Cover cap, left,
plastic, anthracite

053.3192.001

Cover cap, right,
plastic, anthracite

053.3192.002

Track cleaner, plastic, red

040.3142.071

Running track,

aluminum, 2,000 |4 | 457 3146.200

anodized, (6'63/4")

pre-drilled

Clip-on panel,

aluminum, 2,000 1 ] 053.3195.200
. (6'63/4")

anodized

129



'Hawa e85y 40 H

Running tracks

Panel end component set, 47 mm (1 27/32"), aluminum

mm No.
(=) e Panel end component set, 47 mm (1 27/32"), 057.3107.081
6,000 aluminum, left ’ ’
Running track 057.3146.600
"9  di (19’8 732" Panel end component set, 47 mm (1 27/32")
alumm.um, anodized, ! ¢ ’ ’ 057.3107.082
pre-drilled CU.T to 057.3146.990 aluminum, right
size
6,000 - | N
Running track, (19 8.7/32") 057.3146.602 8 8
aluminum, stainless 515 No.
steel look, pre-drilled | CUt10 | noony/s 990 5|5
size NSNS
Set consisting of: 8|38
Panels Panel end component,
47 mm (1 27/32"), left, 1 057.3107.077
(ir:g;) No. aluminum, anodized
6,000 ..’ Bracker connector, 1111 0573051101
Clip-on panel, (19'8 7/32") 053.3195.600 steel, zinc-plated ) )
aluminum, anodized cgt to 053.3195.990 Screw, M4x2.6 mm
sSize (5/32"x 1/8"), steel, 2 | 2| 011.0101.171
6,000 zinc-plated
CIip—pn panel,_ (198 732") 053.3195.602
aluminum, stainless Panel end component,
steel look cutto | nza 3195992 47 mm (1 27/32"), right, 1 | 057.3107.079
size aluminum, anodized
S track
pacer tracks Panel end component set, 36 mm (1 13/32"),
mm stainless steel effect
(inch) No. N
o.
2,000
Spacer track, 6 63/4") 057.3166.200 Panel end component set, 36 mm (1 13/32"), 057.3107.075
aluminum, anodized, . stainless steel look, left ’ ’
pre-drilled eutio | v57.3166.990 "
i - : Panel end component set, 36 mm (1 13/32"),
size
stainless steel look, right 057.3107.076
Panel end component set, 36 mm (1 13/32"), aluminum
21e
No. Q|Q
S|S No
Pane'l end component set, 36 mm (1 13/32"), 057.3107.071 5|5
aluminum, left B
- Set consisting of: S| o
Pane_l end c_omponent set, 36 mm (1 13/32"), 057.3107.072
aluminum, right Panel end component,
left, aluminum, 1 053.3195.908
= | au stainless steel look
S|
N~ Bracker connector,
o|o No. N ’
55 © steel, zinc-plated 1| 1| 057.3051.101
5|5
Set consisting of: o | o Screwy M4x2.6 mm
(5/32"x 1/8"), steel, 2 | 2| 011.0101.171
‘ zinc-plated
Panel enq componerjt, 1 053.3195.901 P
left, aluminum, anodized
Panel end component,
Brack t right, aluminum, 1 | 053.3195.909
racker connector, 1|1 | 057.3051.101 stainless steel look
steel, zinc-plated
- Screw, M4x2.6 mm
(5/32"x 1/8"), steel, 2 | 2| 011.0101.171
zinc-plated
Panel end component,
left, aluminum, stainless 1 | 053.3195.902
steel look

130

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Panel end component set, 36 mm (1 13/32"),

plastic

No.

End cap set, plastic, anthracite

053.3192.071

End cap set to spacer track 057.3166.200

057.3162.071

55
& o No.
AR
2|5
Set consisting of: oo
Cover cap, left, 1 053.3192.001
plastic, anthracite
Cover cap, right, 1 053.3192.002
plastic, anthracite
Cover cap to spacer > | 057.0187.001
track, plastic, anthracite ’ ’
Soft close
No.
Soft close, up to 40 kg (88 Ibs.) 057.3159.073
(s
N~
Q
g No.
@
5
Set consisting of: o
Soft close, up to
40 kg (88 Ibs.) 2 | 057.3156.073
Release piece soft close 2 | 057.0182.101
Thread rolling rounded
head screw, M2.5x5
I 2 | 600.0000.764

mm (3/32"x3/16"), steel,
zinc-plated

Accessories

No.

7

Track cleaner, plastic, red

040.3142.071

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

'Hawa [ReeeY 40 H

131



'Hawa [2e8eY 40 H

Calculations of panels

3 Schiene/Track/Rail Schiene/Track/Rail 9
In 11
8 2
| SN
ClipblendeyClip fascia/Cache & clipser ClipblendeyClip fascia/Cache a clipser
— Schiene/Track/Rail = Schiene/Track/Rail + 7,5 %" [ 1.5
Tu
76
Soft close
| [ e
10T
Zz > 260
Y A R — | O, 1 2 Tu
e =104
Hawa Porta 40 H a2l Z
Hawa Porta 40 GE 1128 11108
Hawa Clipo 26 H1S 14y 2o
Hawa Clipo 26 H MS 16557 2' 12" =
Hawa Clipo 36 H 1S AL P ———C N R 2
Hawa Clipo 36 H MS 1'65'| 2' 182" | [ Hawa Porta 40 H 420|620
Hawa Porta 40 GE 376|576
v 1T 1 130
Hawa Clipo 36 HM IS 452" 203" | Mawa Cipo 26 H1s 420 620
Hawa Clipo 26 GR IS 1" 435" 21048 | | Hawa Clipo 26 HMS 458 | 658
I 5 Hawa Clipo 36 H IS 420 | 620
Hawa Clipo 36 G IS 1"43;"| 2'033, | | Hawa Clipo 36 HMS 458 | 658
20| 5 13| | Hawa Clipo 36 HM 1S 420|620
Hava Clipo 36 GPK 1S 14%2") 2°0%" | 'Hawa Clipo 26 GR IS 420 | 620
Hawa Clipo 36 GPPK IS 1144|203 | | Hawa Clipo 36 GIS 420_| 620
Hawa Clipo 36 GPK IS 420 | 620
Hawa Regal C 26 HM IS 1" 432" | 21 0% | [ Hawa Clipo 36 GPPKIS 420 [ 620
23 | 2115 Hawa Regal C 26 HM IS 420 | 620
Hawa Regal C 26 GR IS 133 | " 18" | [Hawa Regal C 26 GRIS 400 | 600
B = (=] (=]
i o)(© [(e) [
10
2460
= 6%
z
Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be
— General accessories from page 518 found on www.hawa.com.

132 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



m 2olar-l 45 H

Fitting for top-running wooden doors up to 45 kg (99 Ibs.), with surface mounted
running track. Wall or ceiling mounting.

Product highlights \\/
“Tﬁ Flexibility Wall and ceiling mounting to the same system
. . \:
with accessories I —
M Productivity Easy processing for minimal production and
installation times
Technical specifications
[\ Max. 45 kg (99 Ibs.)
w Max. 2200 mm (7'2 5/8")
&2 Max. 1000 mm (3'3 3/8") o
s[e 30-45 mm (1 3/16" to 1 25/32") S
i
Installation examples
30 (14-31) 29
0 [T "
05
; 12
PN 15u
AL 32
&= & (B s Q[
de | OS5 || | O 32 O
© |27 =l
S e &5 ‘Crﬂ.ID N
T THT e
SIER SIEN
28 28
15 +3 15"
- 3 3
s 80
05x35 35
+l" 32
8
. e
10/, 40 8 10, 40 _|1 H 10/ 30 100 100 30 |2
x Nl T ey
© |V 0 4%20 03 e 03
- Wy ~ER
I ﬁ f f 2 &) £
SIS =& = b i
37 |12 62 12 12 62 12| 37
15u 15u oLn 150 15u oLu 150 115
132 32 16 32 32 16 32 32
10
13
132
04
w3 O ! 7
Mz % 7
<Y 32
NES i ol .
ol \ SR Bl L b ; slas
— Slo T A —
30 |(22-34)
13 (Z"_1H") 65
6 '8 '32 04x20 2%.,
133

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



m 2olarz-l 45 H

Set for ceiling or wall mounting,
for 1 wooden door up to 45 kg (99 Ibs.)

Set for ceiling or wall mounting,
for 1 wooden door up to 45 kg (99 Ibs.)

No. No.
Hawa Porta 45 H, for 1 door 057.3045.071 Hawa Porta 45 H, with running track, 057.3144.071
2000 mm (6' 6 3/4"), aluminum, for 1 door : :
5 -
g No. 'S\’r.
2. ) No.
T [To] [ap]
Set consisting of: o mm ~
Set consisting of: (inch) 8
Runner, plain bearings,
housing plastic gray rollers 2 | 057.3044.071 Runner, plain bearings,
plastic blue housing plastic gray rollers 2 | 057.3044.071
plastic blue
Stopper, with retention
sprizz plastic, grey 1 | 057.3038.071 Stopper, with retention
’ ’ b P 1 | 057.3038.071
spring, plastic, grey
Suspension bolt,
M8x32 mm (5/16"x1 1/4"), 2 | 057.0123.104 Suspension bolt,
steel, zinc-plated M M8x32 mm (5/16"x1 1/4"), 2 | 057.0123.104
Hexagon nut M8 steel, zinc-plated
e )
N/ . 4 | 767.0808.100
steel, zinc-plated 9 Hexagqn nut M8, 4 | 767.0808.100
steel, zinc-plated
T2 > Support bracket, height
" and lateral adjustable, 2 | 057.3129.101 RGY> Support bracket, height
\/ steel, zinc-plated " and lateral adjustable, 2 | 057.3129.101
\/ steel, zinc-plated
Pan head screw,
?,g@g@ 5x35 mm (3/16"x1 3/8"), 8 | 766.6051.135 Pan head screw,
) steel, zinc-plated %@& 5x35 mm (3/16"x1 3/8"), 8 | 766.6051.135
steel, zinc-plated
a T-bottom-guide, adjustable .
v]/ lastic anthrac"te " | 1| 057.3010.001 4 T-bottom-guide,
$S plastic, ! {7 adjustable, plastic, 1 | 057.3010.001
S anthracite
Wall buffer, 19x10 mm
@ (8/4"x13/32"), rubber, black 1 | 024.0002.046 @ Wall buffer, 19x10 mm 1 | 024.0002.046
(8/4"x13/32"), rubber, black ’ ’
Countersunk head screw,
&Eﬁ@ 4x20 mm (5/32"x25/32"), 4 | 766.5042.120 Countersunk head screw,
steel, zinc-plated S&@g@ 4x20 mm (5/32"x25/32"), 4 | 766.5042.120

134

steel, zinc-plated

Running track,
aluminum,
pre-drilled

2,000
(6'63/4")

057.3037.200

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




m 2olar-ll 45 H

Running tracks Wall mounting
mm 30 (14-31)
(inch) No. 05 [ T )
1700 1 5573087470 |  ahes
(5'615/16")
2,000 1 157 3037.200 ] 1
(6'63/4") 35 B
2 Running track, ity &l
aluminum, 2999 | 057.3037.250 ot
pre-drilled ¢ ) 238
13 +3
6,000 | 457 3037.600 B
(19' 8 7/32")
cutto 1 4573037.990 A
size |1
] 2000 10| 40 8
Disposable cover to ~7% 1 057.3098.001 BT
running track Hawa (©'63/4")
Porta 45/60/100, cut to 10
plastic, black size 057.3098.990 5
04 5;5 415.5
3" 18"
Bracket set for wall mounting , ) ®
&y R ol .
No. ” g |
e b.ra"kfttm(; V‘{g” i I ) 057.3005.172 T Ammm e e
steel, zinc-plated, 10-piece se 0 2250 . o5
i (e k! 35"
(V)
~
8
= No.
@
5
Set consisting of: =)
Wall mounting angle
bracket, steel, zinc-plated 10| 057.0169.101
Countersunk head screw,
S&Eﬁ@ M5x12 mm (3/16"x15/32"), 10| 762.5008.100
steel, zinc-plated
Hexagon nut, M5, steel, 10| 768.9025.100
zinc-plated
Bottom guide set for wall mounting
No.
T-floor-guide set,
for wall mounting 057.3015.071
Accessories
No.
Track cleaner,
% olastio. biue 057.3099.071
Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be
— General accessories from page 518 found on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 135



m gegey 60 H

Fitting for top-running wooden doors up to 60 kg (132 Ibs.), with surface mounted
running track. Optionally with soft and self closing mechanism. Wall or ceiling mounting.

Product highlights I

“Tﬁ Flexibility Ceiling mounting with customer-provided panelling
or integrated clip-on panel in aluminium or wood ——

M Productivity Retrofitting of all components through the provided
assembly opening, prevents contamination during
construction work

Aesthetics Also available in black as a “Black Edition” design
option for a particularly attractive appearance

Technical specifications

[\ Max. 60 kg (132 Ibs.)
$H Max. 2700 mm (8'10 5/16")
Nt
<>  Max. 1600 mm (5'3") /\
9He 30-80 mm (1 3/16" to 3 5/32") —
]
Installation examples
30 63
" 150
135 235 K mit Montagesffnung *
| 05 ’ﬁ(w with assembly opening 11, (66)
- avec ouverture de montage % (2%‘)
N B - A= :
. - ol e o ) (7] | o Ofe e
3|7 - © ks U n(
FEES Il Sl Fierd o R
— SER - IE
2 N 28
3u 3n
135 135 +§
. *
AR 05x35 80 (139
+3 8 5. 5.
SCREE NiE 33" (75")
e 100 30(85)* 2
150 3 uadlnf| 3n
316 136" (G32')| 32
16110 _ 40 _J10 4107) . 40
Su 13 1g., 130 B 9u 1g”
8 32 16 32 32 32 16
N - ~| Fie
e = B o
= |+ | - N BN M
£ I :g I e
x X
s o 12 62 12]_s7(027K]
15 Zn 150 4150 ;b
» 275 )
12 12 &
150 154 255"
) 32 I
e ©lswy & [olse
g o = o &
s 04x20 E 04x20 E 5

136 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Set for ceiling or wall mounting,

for 1 wooden door up to 60 kg (132 Ibs.)

m gegey 60 H

Set for ceiling or wall mounting,

for 1 wooden door up to 60 kg (132 Ibs.)

No. No.
Hawa Porta 60 H/HC, for 1 door 057.3138.071 Hawa Porta 60 H, with running track,
2000 mm (6' 6 3/4"), aluminum, for 1 door 057.3140.071
Hawa Porta 60 H/HC, black, for 1 door 057.3138.075 ’ ’
— | o i
N~ (=}
S |9 =]
j@ j@ No. g No.
2R g
Set consisting of: 0|9 Set consisting of: (inch) o
Running gear, Running gear,
plain bearings, 2 | 2 | 057.3115.071 plain bearings, 2 | 057.3115.071
rollers plastic blue rollers plastic blue
. . Stopper, with retention
Stolpper, W|th retention 5 057.3073.072 spring, plastic, gray 2 | 057.3073.072
spring, plastic, gray
Suspension bolt Suspension bolt,
M M8x32 mm (5/16"'x1 o | 2| 0570123104 M8x32 mm (5/16"x1 1/4"), 2 | 057.0123.104
" ; ' ' steel, zinc-plated
1/4"), steel, zinc-plated
. Hexagon locking nut,
= : . .
) ,\HAZX‘Z?;’QI 'ank(';r_‘glgt‘:é 2 | 2 | 768.9005.101 M8, steel, zinc-plated 2 | 768.9005.101
. C<s Support bracket,
_&£<s =5 | Support bracket, height - A .
> -
%" | and lateral adjustable, | 2 | 2 | 057.3129.101 \// height and lateral adjust 2 | 057.3129.101
\/ steel, zinc-plated able, steel, zinc-plated
Pan head screw, Ay 5335“2?;‘ (?3%%&1 3/8") 8 | 766.6051.135
&E{% 5x35 mm (3/16"x1 3/8"), | 8 | 8 | 766.6051.135 & steel zinc-plated ’ : :
steel, zinc-plated ’ P
. Bottom guide
Bottom guide, ) !
with roller, adjustable, | 1 | 1 | 057.3120.071 with roller, adjustable, 1| 057.3120.071
plastic, anthracite plastic, anthracite
Countersunk head “‘«x@g@ 20;(;] terstzgﬁszeag;g;e\)/v, 4 | 766.5042.120
screw, 4x20 mm X x20 mm "X ", . .
U (5/32"x25/32"), steel, 4] | 7665042120 steel, zinc-plated
zinc-plated .
/ Running track, 2000
. ) aluminum, oo . | 1]057.3016.200
Sto_pper, W|tr_1 retention > | 057.3073.076 pre-drilled (6'63/4")
spring, plastic, black
Countersunk head
Ay, | screw, 4x20 mm, 4 | 600.0000.817
steel, zinc-plated
Subject to technical modifications. Metric specifications are exact. Inches are approximate. 137



m gegey 60 H

Running tracks

Assembly set

138

mm No.
(=) e Assembly set Hawa Porta 60/100, 057.3179.200
5v16,17312” 057.3016.170 2000 mm (6' 6 3/4")
¢ ) Assembly set Hawa Porta 60/100, 057.3179.250
5’603?49 057.3016.200 2oty (& 2 771e
~ ¢ ) Assembly set Hawa Porta 60/100, 057.3179.300
/ Running track, 2,500 057.3016.250 3000 mm (9' 10 1/8") ’ )
aluminum, pre-drilled | @ 27/16") ’ ’
6,000 21813
(198 7132°) 057.3016.600 RI&L|S
eutio | v57.3016.990 IRIRS
Size mm B u'\) u'\v
5000 Set consisting of: (inch) o|o|o
6634 057.3016.201 Running
track
2,500 ; 2,000
/ Running track, 62y | 0573016251 aluminum, | 00 E 057.3174.200
aluminum, anodized, anodized,
pre-drilled 6,000 057.3016.601 pre-drilled
(19' 8 7/32")
Assembly pin,
cut to
v 057.3016.991 plastic, gray 9 |11 ]13| 057.0201.001
F%unnintg);I track, yvith (:;5722“) 057.3016.256 Countersunk head
assembly opening, screw, 5x40 mm
aluminum, anodized, | oyt to i\%@g@ (3116"1 9/16"), 10|12 [ 14| 766.3054.140
pre-drilled size 057.3016.998 steel, zinc-plated
1,700 1 457 3048.170 Running
(5' 6 15/16") track, 2500
2000 aluminum, 8‘;7/16” 1 057.3174.250
~7PY 1 057.3048.200 anodized, | ' )
6347 pre-drilled
2,500 | 457 3048.250 Running
Combi running track, | 62716" track, 3.000
aluminum, pre-drilled | 3 500 aluminum, ’ 1 | 057.3174.300
057.3048.350 . (9'101/8")
(11'5 25/32") anodized,
pre-drilled
6,000 057.3048.600
(19'8 7/32")
Panels
cutto | 457.3048.990
size
mm
2,500 ) .
Combi running track, | (g 5716 057.3048.255 (inch) No
aluminum, black 2,500 042.3004.250
anodized, pre-drilled 3,500 057.3048.355 @©27/16") ’ ’
(11' 5 25/32") 3500
Disposable cover 2,000 | 457 3098001 Clip-on panel, (1 5 251320y | 042-3004:350
to running track (6'63/4") aluminum, anodized 5.000
Hawa Porta | 042.3004.600
45/60/100, CU_t to 057.3098.990 (19' 8 7/32")
lastic, black size
P cutto | 445 3004.990
size
2,500
Clip-on panel, @ 2716 042.3004.255
aluminum,
black anodized 3,500 042.3004.355
(11' 5 25/32")

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Clip-on components

m gy 60 H

Bracket set for wall mounting

No. No.
Clip component for wooden Angle bracket for wall mounting, 057.3005.172
and aluminum panel, every 057.3117.001 steel, zinc-plated, 10-piece set ’ ’
500 mm (1'7 11/16"'), aluminium, ’ ’
pre-drilled ~
N~
Clip component for wooden 3
and aluminum panel, every = No.
500 mm (1'7 11/16"), aluminum, | 9°7-3117:005 8
black anodized, pre-drilled Set consisting of: ]
Wall mounting angle
Soft close . 10| 057.0169.101
Lo . . . . bracket, steel, zinc-plated
For soft closing in opening and closing direction
order 2 sets.
Countersunk head screw,
No. &g& M5x12 mm (3/16"x15/32"), 10| 762.5008.100
- steel, zinc-plated
Soft close Hawa Porta 60/100, Divido 100, 042.3102.072
10-60 kg (22-132 Ibs.), 1 piece ’ '
Hexagon nut, M5, steel,
N zinc-plated 10| 768.9025.100
N~
o
ol
o No. . .
™ Bottom guide set for wall mounting
Al
Set consisting of: S No.
Soft close, top running, )
10-60 kg (22 to 132 Ibs.), 1 | 042.3106.072 Set bottom guide for 057.3128.171
plastic wall mounting, with roller ’ ’
Trlgg.er for spft cllose in 1 | 042.3105.001
buildings, zinc die casting
No.
&E;% Screw set soft close 1 | 600.0000.566 - Routing jig for assembly 042.3118.071
> | opening
P
Cover for assembly opening === Groove cutter to routing jig, 600.0000.309
No % @=10 mm (13/32"), hard metal ’ ’
Cover cap to assembly opening, 1-piece set 042.3114.071
Track cleaner, plastic, blue 057.3099.071
5
§ No.
[sp)
g
Set consisting of: 1<)
)
, Cover cap assembly 1 | 042.0172.001
\ opening, plastic, gray
%E Screw set soft close 1 | 600.0000.566
&
Subject to technical modifications. Metric specifications are exact. Inches are approximate. 139




m gegey 60 H

Assembly set/Wooden panel Optional: Wall mounting

30 30 (14-31)
13 05x40 12 (Sl
16 84 05 16 |16 32
5u
345
05 I
- IR
woyee 035
N T E A=
- gl 2 11T s ke =] 7
S = = iH =
H Qs H 8 olen a gl
== = == e S| H N
AR &l Qs T; = 5| R ) Qlaky
H _ _ i= SIS
2o 2ol ik
28 28 AN
3 130 3 M8
32 32 -3 %u
. 10l 40
+3 HE B 49
1u 13 1w 32 16
H3 HF g
-3 % " 10 25 415
[13.] 3T 15
32 32 8
L 04
|24
TS 12
ALeoles 15, 0| -
<y 32 gl @@ @ | __ _
N = Cydico
- olza S
30 5 815
3 3 7
15 76 33
Soft close
Z= >
19
e a—— DO 1 ) e
Z=2>535
* BT o | 1 [ 2 o | 1| Zetob
Hawa Porta 60/100 H/HC 1659 | 1o | 1 1ar | 24 | 268 298 - *
= Montagedffnung
Hawa Porta 60/100 HMHMD/HMT | 1' 633" | 197" [10 114" | 243 | 2'653" | 2' 93" ] 5 assembly opening
2 ] ) . 2 5 ouverture de montage
Hawa Porta 100 G/GU/GM/GMT | 1'633" | 1975 [ 1"113" | 243" | 26" | 2' 955" * B o |1t 2] 0| 1] 2 o
Hawa Porta 100 GF 1 6%“ 2' 4%“ Hawa Porta 60/100 H/HC 480 [535 | 590 | 730 | 785 | 840
5 o ; % 3 Hawa Porta 60/100 HM/HMD/HMT | 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GW/GWF V8" | 9% | Vg | 26" |26%" | 276" | | Hawa Porta 100 G/6WGMEMT | 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GMD 175 ek (11| 2rsd |27k |27 | | Hawa Porta 100 GF 480 730
Hawa Porta 100 GW/GWF 512 [ 542 | 590 | 762 | 792 | 840
Hana Divido 100 FHVUGR 16| 1ol |1l | 24 |2 62y |2 o | [FavaPorta 100 GUD 483 | 539 | 590 | 738 | 789 | 840
— b |10 qndde] 10 ode o 5 o 1ni1e| | Hawa Divido 100 H/HM/GR 480 | 535 | 590 | 730 | 785 | 840
Hava Divido 100 GRM 18" 110" 110y | 26" | 285" 121059" | " Paa Divido 100 GRM 512 | 567 | 622 | 762 ] 817 | 872
h Eﬂ*__/\_l R\ S
_A_ |® °
Beidseitig gedampfte Ausfiihrungen ohne stirn-
seitigen Zugang erfordern zwei Montagedffnungen| >570
Versions with soft closing mechanism at both Tw
sides without access from the leading edge 211 OE 7—>840
require two assembly openings —=
Les versions avec amortissement bilatéral sans I=> 2‘-9%"
acces frontal exigent deux ouvertures de montage.
Accessories Planning/execution

Further information about the product can be
found on www.hawa.com.

— Lock solutions from page 511
— General accessories from page 518

140

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



60 H Synchro

Fitting for 2 synchronously opening wooden doors up to 60 kg (132 Ibs.),
with surface mounted running track. Wall or ceiling mounting.

Product highlights
T Floxibil o . T
S Flexibility Standard applications can be extended with —
the Synchro option
M Productivity = Easy installation of the accessory, based upon
basic elements
Aesthetics Also available in black as a “Black Edition” design
option for a particularly attractive appearance
Technical specifications
[\ Max. 60 kg (132 Ibs.)
w Max. 2700 mm (8'10 5/16")
€2 Max. 1200 mm (3'11 1/4") /‘/\
)« 30-80 mm (1 3/16" to 3 5/32") |
_
Installation examples
30
11”"
|08 19
| %
4
@ S SN H(e
N L L gl i
& ) &=y G
= EE ] o
28
155"
i a §5x35 o
+1 *p2 5. 5.,
JUE 33 33
100 30 10
16 (10|, 40 _|10
5 18, 48w 13
8 32 16 32
3 2l8S ° @ = Lr:ﬂm P
. o @ @ ©- = JN [3e) v—»\#
i = —_— b ﬂggfgg_.: Iy My M
ok 135.5 35 12 62 12 37
12 65
o % ! __ ]
] 2|5 Ja- ‘ QT Q';N
A oo i 0

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 141



60 H Synchro

Set for ceiling or wall mounting, Synchro set
for 1 wooden door up to 60 kg (132 Ibs.)
No.
No. Hawa Porta 60/100 H/HC and Hawa Divido 100 H,
042.3027.072
Hawa Porta 60 H/HC, for 1 door 057.3138.071 Synchro, for 2 doors
Hawa Porta 60 H/HC, black, for 1 door 057.3138.075
5
= N
5 g S No.
o | © (5}
™| D No. &
o |, Set consisting of: o
NN ;
Set consisting of: 3|8 ‘
) Deviating roller,
? 2 | 055.0101.001
Running gear, \6 ball bearing
plain bearings, 2 | 2 | 057.3115.071
rollers plastic blue ¢
_ Cable safety, steel,
o i retont e zinc-plated 2 | 056.0124.101
opper, with retention 2 057.3073.072

spring, plastic, gray

/ Clamp piece, steel,
Suspension bolt, ](& zinc-plated 2 | 057.0113.101
M M8x32 mm (5/16"x1 2 | 2 | 057.0123.104
1/4"), steel, zinc-plated

. Kevlar cable
Hexagon locking nut, ; " 1| 752.0059.104
S -
(&) M8, steel, zinc-plated 2 | 2 | 768.9005.101 D= 2.5 mm (3/32")
2> Support bracket, height Flat washer, M5, 5.3/15/2 mm
3 and lateral adjustable, 2 | 2| 057.3129.101 ,, (8/16"/19/32"/3/32"), steel, 2 1 600.0000.681
\/ steel, zinc-plated zinc-plated
Pan head screw, Rounded head screw,
&E{% 5x35 mm (3/16"x1 3/8"), | 8 | 8 | 766.6051.135 ‘%@;3;@ 5x25 mm (3/16"x31/32"), 2 | 762.9455.000
steel, zinc-plated steel, zinc-plated
Bottom guide, Head cap screw, with flange,
with roller, adjustable, 1|1 | 057.3120.071 %@&u M5x10 mm (3/16"x13/32"), 4 | 762.9365.000
plastic, anthracite ) steel, zinc-plated
Counte‘rts;rak head %g Pan head screw,
screw, 4x20 mm " "
’ 5x35 mm (3/16"x1 3/8"), 4 | 766.6051.135
N (5/32"x25/32"), steel, 4 766.5042.120 I <tool Zinc(_plated )
zinc-plated ’

Stopper, with retention

spring, plastic, black 2 | 057.3073.076

Countersunk head
Ay, | screw, 4x20 mm, steel, 4 | 600.0000.817
zinc-plated

142 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Running tracks

Assembly set

60 H Synchro

mm No.
ey . Assembly set Hawa Porta 60/100, 057.3179.200
51712/?6 057.3016.170 2000 mm (6' 6 3/4")
¢ ) Assembly set Hawa Porta 60/100, 057.3179.250
(6‘2:’2‘?”) 057.3016.200 2R i (5 2 TS
/ Running track, 2500 éggg”r‘nbg (39?2;'?‘78"’},;’ i B, 057.3179.300
aluminum, 057.3016.250
) 8'27/16")
pre-drilled
6000 o|lo|o
(198 7132 057.3016.600 g! g 8.
RIRIR No
cutto | 557.3016.990 586
size mm NN N
. . 0|l w|w
2000 Set consisting of: (inch) o|o|o
057.3016.201 .
(6'63/4") Running
track,
. Running track, (8?257(/)12--) 057.3016.251 aluminum, | jg)ﬁ) 1 057.3174.200
aluminum, anodized,
anodized, pre-driled | 6000 | gr 416501 pre-drilled
(19' 8 7/32")
cut to Assembly pin,
size 057.3016.991 plastic, gray 9 |11 13| 057.0201.001
Running track,
) Countersunk head
with assembly 2500
opening, aluminum, @2mmey | 007-3016.256 i\.g@ S:;:/';esv,\," ?g}?é?m 1012 |14 | 766.3054.140
anodized, pre-drilled ) ( X )
steel, zinc-plated
Running track, Running
alumm.um, anpdlzed, cqt to 057.3016.998 track,
pre-drilled, with size aluminum 2,500 1 057.3174.250
assembly opening anodized. (8'27/16")
1700 057.3048.170 pre-drilled
(5'6 15/16") -
Running
2000 track,
(6'63/4") 057.3048.200 aluminum, 3,000 1 | 057.3174.300
. ©101/8")
2500 anodized,
, .| 057.3048.250 pre-drilled
Combi running track, | (8'2716")
aluminum, pre-drilled
3500 1 0573048.350 | Panels
(11' 5 25/32")
6000 1 57 3048.600 mm
(19' 8 7/32") (inch) No.
cutto | 957.3048.990 2,500 1 45 3004.250
size ®'27/16")
Combi running track, | 2500 | 4573448 555 3,800 1445 3004.350
aluminum, (8'27/16") Clip-on panel, (11' 5 25/32")
black anodized, 3500 aluminum, anodized 6.000
pre-drilled 057.3048.355 ’ 042.3004.600
(11'5 25/32") (19' 8 7/32")
Disposable coverto | 2000 | 557 3595 004 cutto | 42 3004.990
running track Hawa (6'6 3/4") Size
Porta 45/60/100, cut to 2,500
plastic, black size 057.3098.990 Clip-on panel, © 27716 042.3004.255
aluminum,
black anodized 3,500 042.3004.355
(11 5 25/32")
Subject to technical modifications. Metric specifications are exact. Inches are approximate. 143




60 H Synchro

Clip-on components

No.
Clip component for wooden
and aluminum panel, every
’ ? . 057.3117.001
500 mm (1'7 11/16"'), aluminium,
pre-drilled
Clip component for wooden
and aluminum panel, every
’ : 057.3117.005
500 mm (1'7 11/16"), aluminum,
black anodized, pre-drilled
Accessories
No.
Track cleaner, plastic, blue 057.3099.071
Calculations
Schienenlénge/track length/Longueur du rail S=(2xR0) + 120
Schienenldnge/track length/Longueur du rail S=(2xR0) + 4%"
50 Rahmendffnung/frame opening/Ouverture du cadre = RO 50
Kl JEI
2 2
W —1 [ 5 — a—1 l—
B2 S R | i k| o U o]
] [
TB=RO+98  TB=RO+3}" ¢ B
2 2 32
In der Mitte 1 Stopper mit Arretierungskraft ( rechte Tiire )
10 In the middle 1 stopper with retention spring ( right door) 8 10,
g” Dans le centre 1 butée avec force ( porte a droite ) %"
]
[y a— al —— i
S s o i il R il CAli= ()
] [

26

6
13
%5

6

56
3
%6

10 25

Accessories

— Lock solutions from page 511
— General accessories from page 518

144

3u

61.5
1
25 2" 31

28

55

Assembly set

30
3. 0 5x40
176
g/t

=
j#
Ty
10[_25
3
32

28

3n
135

+
.
EEEE

Planning/execution
Further information about the product can be
found on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [[1%Y 60 HC

Fitting for top-running wooden doors up to 60 kg (132 Ibs.), with surface mounted
running track. Optionally with soft and self closing mechanism. Wall mounting.

Product highlights \/

“Tﬁ Flexibility Wall mounting with integrated clip-on panelling in —
wood or aluminium with stylish end pieces ] \\]
M Productivity Retrofitting of all components through the provided
assembly opening, prevents contamination during
construction
Aesthetics Also available in black as a “Black Edition” design
option for a particularly attractive appearance
Technical specifications ]
[\ Max. 60 kg (132 Ibs.)
w Max. 2700 mm (8' 10 5/16")
&2 Max. 1600 mm (5' 3") /\
5[e 30-45 mm (1 3/16" to 1 25/32") | —

Installation examples

¥ mit Montagedffnung
60 475 716 5 19 with assembly opening 9 (ee)* 1015
05 3. 05 7 O | 5 3013 avec ouverture de montage 31, 19m - 3 1«
\ % \ 5w |8 i || 7 3 3" 6
. = —
. L g ‘ L ©| 5o ] s i
&[N = S| &[N =S| . I ° olfe HMHe |
e gl i glde 9| : [CYeH 2l
- - q N . — 035 O] dq O N
Q| = Qe e s =
d = - S|y E
SIER] =i SR = EEN - =
28 o[ 28 12
3u 3
135 135 .
+3 +3 P5x35 *
13 -3 80 (137)
35" (5%..)
NEN +1 100 30 (87
15, 3 walm
REE % a2 136l
10, 40 6| 10 40 5
13u wiu a 13, 1@.. 3.
2 6 32 2 6 16
N~
S
= T ; o 05 ]
3|21 Q|2 —| IS
| N NS
W= I = 12 62 12 37(94)*
15, 7n 150 415u 11w
HE FlE . 25 » 13%'6%)
1 12 65
150 9.
b @ I
S 2| dieo 8 ©|Sico ol =
= (ol e (ol /’_E‘jm\v
183 ] 7 7~ |
? g\ D4x20 ? a 04x20 g g E

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 145



'Hawa [[1%Y 60 HC

Set for wall mounting,
for 1 wooden door up to 60 kg (132 Ibs.)

Set for wall mounting,
for 1 wooden door up to 60 kg (132 Ibs.)

No. No.
Hawa Porta 60 H/HC, for 1 door 057.3138.071 Hawa Porta 60 HC, with running track, 2000 mm
(6' 6 3/4"), aluminum, anodized, for 1 door 057.3142.071
Hawa Porta 60 H/HC, black, for 1 door 057.3138.075 ’ ’ ’
- [0 ~
N~ o
SRS Y
j@ j@ No. g No.
22 |
Set consisting of: 0|9 Set consisting of: (inch) o
Running gear, Rurjning gear,
plain bearings, 2| 2 | 057.3115.071 plain bearings, 2 | 057.3115.071
rollers, plastic, blue rollers, plastic, blue
. . Stopper, with retention
Stopper, with retention b ; 2 | 057.3073.072
spring, plastic, gray 2 057.3073.072 spring, plastic, gray
Suspension bolt Suspension bolt,
M M8x32 mm (5/16"x1 1/4"), | 2 | 2 | 057.0123.104 M8x32 mm (5/16"x1 1/4"), 2 | 057.0123.104
. steel, zinc-plated
steel, zinc-plated
. Hexagon locking nut,
= : . .
& ,\HAZX‘Z?;’QI 'ank(';r_‘glgt‘:é 2 | 2 | 768.9005.101 M8, steel, zinc-plated 2 | 768.9005.101
. s Support bracket, height
< Support bracket, height Y A
2 | and lateral adjustable, | 2 | 2 | 057.3129.101 \// ;rr]]i_lafztr::jadjusmble' steel, | 2 | 057:3129101
\/ steel, zinc-plated P
Pan head screw, Al Efgshr?ﬁg (?3%%&1 3/8") 8 | 766.6051.135
&E&o 5x35 mm (3/16"x1 3/8"), | 8 | 8 | 766.6051.135 & steel zinc-plated ’ : :
steel, zinc-plated ’ P
. . Bottom guide, with
Bottom guide, with ; ,
roller, adjustable, 1|1 | 057.3120.071 roller, adjustable, 1| 057.3120.07
plastic, anthracite plastic, anthracite
Countersunk head q_ Fixation clip for wooden and
N urmi I 2-pi t 1 | 057.3126.071
%g,% screw, 4x20 mm 4 766.5042.120 aluminum panel, 2-piece se
S (5/32"x25/32"), steel, Clip component for
zinc-plated wooden and aluminum
panel, every 500 mm 5 | 057.3117.001
Stopper, with retention > | 057.3073.076 (1’ 7 11/16"), aluminum,
spring, plastic, black ’ ’ pre-drilled
Countersunk head screw,
Countersunk head AUy 4x20 mm (5/32"x25/32"), 4 | 766.5042.120
%E screw, 4x20 mm & )
A (5/32"x25/32") 4 | 600.0000.817 steel, zinc-plated

steel, zinc-plated

146

Single running

track, aluminum, 2,000
anodized, (6'63/4")
pre-drilled

057.3112.199

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Running tracks

'Hawa [[1%Y 60 HC

Fixing clamp for the end pieces of wooden or aluminum

panels
mm
(inch) No. No.
2,500 057.3112.250 Fixation clip for wooden and aluminum panel, 057 3126.071
(8'27/16") 2-piece set ' ]
3,500
Running track, (15 25/32") 057.3112.350 _
aluminum, anodized, 5_
pre-drilled 6,000 | 957 3112.600 S No
(19'87/32") C‘V_) .
cutto 5
size 057.3112.990 Set consisting of: 3
2500 % Fixation clip for wooden
Running track, (s';7/1e“) 057.3112.255 N and aluminum panel, 2 | 057.3126.101
aluminum, black steel, zinc-plated
anodized, pre-drilled 3,500 057.3112.355
(115 25/52") Panel end component set, 59 mm (2 5/16"), aluminum,
Running track, 3225722 30617 for running track 057.3112.xxx
extended spacing ( ) No
of +9 mm (11/32") 6,000 30618 :
etween door an (19' 8 7/32") anel end component set, with fixation clip,
bet d d Panel end t set, with fixati li
wall, aluminum, cut to 59x60 mm (2 5/16x2 3/8"'), aluminum, black 042.3028.056
anodized, pre-drilled size 30668 anodized
Panel end component set, with fixation clip,
Running track, 82;5722 30619 59x60 mm (2 5/16x2 3/8"'), aluminum, anodized 042.3028.076
extended spacing ( )
of +20 mm (25/32") 6,000 © | o©
between door and (19' 8 7/32") 30620 8 '5_
wall, aluminum, R[S
anodized, pre-drilled | ' 30669 S| g s
ol | o
Set consisting of: 3|3
Panels
Panel end component,
mm oo mm (25167 1| | 042.3028.956
(inch) No. a umllnum, ac
anodized
2,500
’ 042.3004.250
(8'27/16") N2 Bracker connector,
3.500 steel, zinc-plated 2| 2| 057.3051101
- .| 042.3004.350 - -
Clip-on panel, (115 25/32") q Fixation C.|Ip for wooden
aluminum, anodized 6.000 and aIu_mlnum panel, 1] 1] 057.3126.101
’ 042.3004.600 steel, zinc-plated
(19' 8 7/32")
cut to - Screw, M4x2.6 mm
size | 042.3004.990 (5/32"x 1/8"), steel, 4| 4| 011.0101.171
2500 zinc-plated
Clip-on panel, ® 2 186" 0423004255 Panel end component
aluminum, black ’
anodized ’ 3,500 59 mm (2 5/16"), 1 | 042.3028.906
(11 5 25/32") 042.3004.355 aluminum, anodized
Clip-on components
No.
Clip component for
wooden and aluminum panel,
every 500 mm (1' 7 11/16"), 057.3117.001
aluminum, pre-drilled
Clip component for wooden and
aluminum panel, every 500 mm
(1'7 11/16"), aluminum, black | 0°7-3117:005
anodized, pre-drilled
Subject to technical modifications. Metric specifications are exact. Inches are approximate. 147



'Hawa [[1%Y 60 HC

Panel end component set, 79 mm (3 1/8"), aluminum,

for running track 30617, 30618, 30619, 30620, 30668, 30669

No.
Panel end component set, with fixation clip, 30593
59x60 mm (3 1/8x2 3/8"), aluminum, anodized
No.
(sp]
(o]
3
Set consisting of: ®
Panel end component,
79 mm (3 1/8"), 1 30590
aluminum, anodized
Bracker connector, 5 | 057.3051.101
steel, zinc-plated ’ ’
q Fixation clip for wooden
Ny and aluminum panel, steel, | 1 | 057.3126.101
zinc-plated
- Screw, M4x2.6 mm
(5/32"x 1/8"), steel, 4| 011.0101471

zinc-plated

End cap set for running track 057.3112.xxx

No.

End cap set, with fixation clip, plastic, anthracite

057.3132.072

Soft close

For soft closing in opening and closing direction

order 2 sets.

No.
Soft close Hawa Porta 60/100, Divido 100,
10-60 kg (22 to 132 Ibs.), 1 piece 042.3102.072
N
N~
o
ol
S No.
(s
g
Set consisting of: o
Soft close, top running,
10-60 kg (22 to 132 Ibs.), 1 | 042.3106.072
plastic
Trigger for soft close in
buildings, zinc die casting 1 | 042.3105.001
%Eé Screw set soft close 1 | 600.0000.566
&3
Cover for assembly opening
No.
Cover cap to assembly opening, 1-piece set 042.3114.071
~
Q
E No.
[sp]
g
Set consisting of: o

Cover cap assembly
opening, plastic, gray

042.0172.001

A
~
o
‘% No.
©
5
Set consisting of: o
End cap, plastic, anthracite 1| 057.3132.071
Fixation clip for wooden
and aluminum panel, steel, 2 | 057.3126.101

zinc-plated

148

Screw set soft close

600.0000.566

No.

Set bottom guide for
wall mounting, with roller

057.3128.171

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Accessories

No.

Routing jig for
assembly opening

042.3118.071

Groove cutter to routing jig,
@= 10 mm (13/32"), hard metal

600.0000.309

Track cleaner, plastic, blue

057.3099.071

Further installation examples
Wall mounting rails with extended spacing of +9 mm/+20 mm
(11/32'/25/32") between door and wall.

0 69 G 80
23, 5.
% 33
: s b N g SR RE]
R HE IR EEE = 28 L 1 gl
g - q = - f -
Q=1 = J&lay P> Ry J K
—— q = 9
Sl [ ©b- S F—i.
28 el 28 oo
13 PET)
* +3 * +3
-13 -13
1 1.
g g
e . dae L
LR 8 gl
19 0 _6 e 30 40 _16 o
* Bu P = = 130 19 L Tl=
4 16 32 - ! 16 16 32 RN
=l E =&
Calculations of clip-on panels
16 .3 Schiene/Track/Rail 5 Schiene/Track/Rail Schiene/Track/Rail 115
S |] 1n 3. 7.
8 || 8 6 16
= =
= = 97 3
= Q|| Q|0 2|0
2 &z\‘% el ity (1N 3%“ o] ity
[ [ 1 1 —
Holzblende/Wooden fascia/Cache en bois Clipblende/Clip fascia/Cache & clipser Clipblende/Clip fascia/Cache a clipser
= Schiene/Track/Rail + 19 (3") = Schiene/Track/Rail = Schiene/Track/Rail + 10 (33") 15
T
16
Optional: Wall bracket bottom guide
10 25 415
13 il I
32 32
| 04
| 2
<oy 1 ® ®
ety 15 o .
<y 32 el @ @ | _
| Er Lpdieo
- [ EW ———
30 _|(22-34) 5 81.5
Ho oG . Tu
55" (513" i 33

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

'Hawa [[1%Y 60 HC

149



'Hawa [[1%Y 60 HC

Soft close

7=
P o———————1) O) 1 2
* B o | 112 o1 ]o
1+ 229 e Pl 3 « 29 1930
Hawa Porta 60/100 HHC 12 | rok |1l 24l |26 |2 0% . *
= Montagedffnung
Hawa Porta 60/100 HMHMD/HMT | 1' 633" | 197" [10 114" | 2143 | 2'65" | 2/ 9" ] 2 assembly opening

ouverture de montage

Hawa Porta 100 G/GU/GM/GMT | 1'683" | 1 97k" [1' 114" | 243 | 2'653" | 2' 9" * o |1 2] 0| 1] 2

Hawa Porta 100 GF 162 24 Hawa Porta 60/100 H/HC 480 | 536 | 590 | 730 | 785 | 840

. = : - > [[Hawa Porta 60/100 HWHMD/HWIT | 480 | 535 | 500 | 730 | 786 | 840

Hawa Porta 100 G/GWF 83" | 19" | 112" | 26" 126%" |2 76" | | Hawa Porta 100 G/G/GMGMT | 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GMD 175 | e |1 g | 2 sk | 20 74k | 2 7 | | Hawa Porta 100 GF 480 730

Frawa Porta 100 GW/GWF 512 [ 542 | 590 | 762 | 792 | 840

Hawa Divido 100 H/HMW/GR 1683 | 1ok [ 10114 | 2143 | 21683 | 2 o | | Hawa Porfa 100 GMD 488 [539 [ 590 | 738 | 789 | 840

— B A T o | o T aBe oo Tiv] | Hawa Divido 100 H/HM/GR 480 | 535 | 590 | 730 | 785 | 840

Hawa Divido 100 GRM 183" 11105 10y | 26" | 285" 121059" | ["aya Divido 100 GRM 512 | 567 | 622 | 762 ] 817 | 872

A B awe

Beidseitig gedampfte Ausfiihrungen ohne stirn-

seitigen Zugang erfordern zwei Montagedffnungen| 2570
Versions with soft closing mechanism at both 0 milo
sides without access from the leading edge =11 Oﬁ

require two assembly openings
Les versions avec amortissement bilatéral sans l=> 2‘—9@
acces frontal exigent deux ouvertures de montage.

Soft close

N\ S A 2 262
ATD Q= ; : 22

= >320
19
1 5 =135
7=>480
* B oLl ]2 Lot
Hawa Porta 60/100 H/HC TR ek |1 | 24l |26 |2 9d
2 ] ] p 29 B l= * Montagedffnung
Hawa Porta 60/100 HMHMD/HMT | 1'653" | 1" 975" 1" 113" | 2! 43" | 2' 63" | 2' 05" ] ) assembly opening
ouverture de montage
Hawa Porta 100 G/GU/GM/GMT | 163" | 195" [1' 11 | 2143 | 263" [ 29" | | % o |12 o] 1|2
Hawa Porta 100 GF 16 2 43 Hawa Porta 60/100 HHC 480 | 535 | 590 | 730 | 785 | 840
. = : % > [ Hawa Porta 60/100 HWHMD/HMT | 480 | 535 | 590 [ 730 [ 785 [ 840
Hava Porta 100 GW/GWF V8" | 19" | T'11g" | 2°6" | 265" | 2'756" | | awa Porta 100 G/GU/GM/GMT | 480 | 535 | 500 | 730 | 785 | 840
Hawa Porta 100 GMD 17 1redt | 1 | 2 sk | 2 7k | 27 | | Hawa Porta 100 GF 480 730
Hawa Porta 100 GW/GWF 512 | 542 | 500 | 762 | 792 | 840
Hawa Divido 100 FUHVY/GR e 1ok |1l | 24 268 |2 od | [HawaPoria T00GVD 788 | 539 | 590 | 738 | 789 | 840
— — T o E o Tarase 1o | Hawa Divido 100 HHW/GR 480 | 535 | 590 | 730 | 785 | 840
Hawa Divido 100 GRM 8" |11105"| 105" | 26" | 285" |2'10%" | | Haua Divido 100 GRM 512 | 567 | 622 | 762 | 817 | 872
S = Y ~— 262
9 © ° :::MI_;} o Ol 3 22%”
2570
> 110"
© Z=>730
Z=>2-43"
Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be found
— General accessories from page 518 on www.hawa.com.

150 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



60 HC Synchro

Fitting for 2 synchronously opening wooden doors up to 60 kg (132 Ibs.), with surface
mounted running track. Wall mounting.

Product highlights

“Tﬁ Flexibility Standard applications can be extended with
the Synchro option
M Productivity Easy installation of the accessory, based upon T ——
basic elements —

Aesthetics Also available in black as a “Black Edition” design
option for a particularly attractive appearance

Technical specifications ]‘
[\ Max. 60 kg (132 Ibs.)
w Max. 2700 mm (8' 10 5/16")
1 L /\
£2  Max. 1200 mm (3' 11 1/4") | —
P
)« 30-45 mm (1 3/16" to 1 25/32") P
Installation examples
60 9 _1015
110 [3d| 1
05 2 32| B2 16
= - :_-]*
b N b N ke q
4 Y glae : (=G I
- L - q ©
Q[ &= | < e J
SER SR 9
28 o] 12
15 7 7 7 &
+1 05x35
80
5n
33
Has" 100 30
1. ISR 130
g 16 16
10/, 40 _lg
NPT Py 21
32 16 32
Otéo sy
© © S m——] ==
- e o v () 0N = i o M
@/ Careed Sp°  —[aS
==z 1355 35 12 62 1|, %7
I " " 15u 7u 150 154
FlE 533 13 k2 15 % 1%
65
12
©| o =R
- ~[olSy _ Y
04x20

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 151



60 HC Synchro

Set for ceiling mounting, for 1 wooden door

up to 60 kg (132 Ibs.) (order 2x)

Synchro set

No.

No. Hawa Porta 60/100 H/HC and Hawa Divido 100 H,
042.3027.072
Hawa Porta 60 H/HC, for 1 door 057.3138.071 Synchro, for 2 doors
Hawa Porta 60 H/HC, black, for 1 door 057.3138.075
5
— N
5 g S No.
| © @
o | O g
™| D No. &
o |, Set consisting of: o
5|5 ‘
Set consisting of: oo
N/, Deviating roller, ball bearin 2 | 055.0101.001
Running gear, \a 9 9
plain bearings, 2 | 2 | 057.3115.071
rollers, plastic, blue ¢
_ Cable safety, steel,
o i retont e zinc-plated 2 | 056.0124.101
opper, with retention 2 057.3073.072
spring, plastic, gray /
Clamp piece, steel,
Suspension bolt, ](& zinc-plated 2 | 057.0113.101
& M8x32 mm 2 | 2 | 057.0123.104
(5/16"x1 1/4"), steel, ) :
zinc-plated Kevlar cable
L ey 1 | 752.0059.104
Hexagon locking nut, 2 | 2 | 768.9005.101 D= 2.5 mm (3/32")
A= M8, steel, zinc-plated ’ :
Flat washer,

_K>=s SUppOrt bracket, helght M5, 5.3/15/2 mm 2 | 600.0000.681
S n 0 n . .
2 | and lateral adjustable, | 2 | 2 | 057.3129.101 N | (3/16'19/323/32"),

\/ steel, zinc-plated steel, zinc-plated
Rounded head screw.
Pan head screw, " S
I 5x35 mm (3/16"x1 3/8"), | 8 | 8 | 766.6051.135 N i’;‘:j n;ir:c(-S/ Iﬁe’fw 32°), 2 | 762.9455.000
steel, zinc-plated ! P
Bott i Head cap screw,
ottom guiae, with flange, M5x10 mm
with roller, adjustable, 1| 1| 057.3120.071 é\gf& (3/16"x1 3/32-.), steel, 4 | 762.9365.000
plastic, anthracite zinc-plated
Countersunk head g Pan head screw,
Q%E SCI’th{, 4x20 r"nm 4 766.5042.120 & &) 5x35 mm (3/16"x1 3/8"), 4 | 766.6051.135
e (5/32"x25/32"), steel, steel, zinc-plated
zinc-plated
Stolpper, W|th retention > | 057.3073.076
spring, plastic, black
Countersunk head
My, | Sorew 4x20 mm 4 | 600.0000.817

(5/32"x25/32"), steel,
zinc-plated

152

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Running tracks

60 HC Synchro

Fixing clamp for the end pieces of wooden or aluminum

panels
mm
(inch) No. No.
2,500 057.3112.250 Fixation clip for wooden and aluminum panel, 057.3126.071
(8'27/16") 2-piece set ' ]
3,500
Running track, (15 25/32") 057.3112.350 _
aluminum, anodized, S
pre-drilled 6,000 | 4573112.600 g No
(19' 8 7/32") 5 .
cut to 5
size 057.3112.990 Set consisting of: o
2500 % Fixation clip for wooden
Running track, (s';7/1e“) 057.3112.255 N and aluminum panel, steel, 2 | 057.3126.101
aluminum, black zinc-plated
anodized, pre-drilled 3,500 057.3112.355
(1" 525/32"%) Panel end component set, 59 mm (2 5/16"), aluminum,
Running track, 8225722 30617 for running track 057.3112.xxx
extended spacing { ) No
of +9 mm (11/32") 6,000 :
between door and (19' 8 7/32") 30618 Panel end component set, with fixation clip,
wall, aluminum, cut to 59x60 mm (2 5/16x2 3/8"'), aluminum, black 042.3028.056
anodized, pre-drilled size 30668 anodized
Panel end component set, with fixation clip,
Running track, 82;5722 30619 59x60 mm (2 5/16x2 3/8"), aluminum, anodized 042.3028.076
extended spacing ( )
of +20 mm (25/32") 6,000 © | ©
between door and (19' 8 7/32") 30620 8 '5_
wall, aluminum, AR
anodized, pre-drilled | ' 30669 S|g ACE
ol | o
Set consisting of: 3|3
Panels
Panel end component,
mm 59 mm (2 5/16%), 1| | 042.3028.956
(inch) No. aluminum,
black anodized
2,500
’ 042.3004.250
(8'27/16") N2 Bracker connector,
3.500 steel, zinc-plated 2| 2| 057.3051101
Clip-on panel, (11' 5 25/32") 042.3004.350 q Fixation clip for wooden
aluminum, anodized 6.000 and aIu_minum panel, 1|1 | 057.3126.101
’ 042.3004.600 steel, zinc-plated
(19' 8 7/32")
cut to - Screw, M4x2.6 mm
sipe | 042:3004.990 (5/32"x 1/8"), 4|4 011.0101471
2500 steel, zinc-plated
in- ’ 042.3004.255
;Zﬁn;rzjganel, (8'27/16") Panel end component,
lack . 3,500 59 mm (2 5/16“),. 1 | 042.3028.906
black anodized (11" 5 25/32") 042.3004.355 aluminum, anodized
Clip-on components
No.
Clip component for wooden
and aluminum panel,
every 500 mm (1' 7 11/16"), 057.3117.001
aluminum, pre-drilled
Clip component for wooden
and aluminum panel, every
500 mm (1' 7 11/16"), aluminum, | 027-3117:005
black anodized, pre-drilled
Subject to technical modifications. Metric specifications are exact. Inches are approximate. 153



60 HC Synchro

Panel end component set, 79 mm (3 1/8"), aluminum,
for running track 30617, 30618, 30619, 30620, 30668, 30669

No.
Panel end component set, with fixation clip, 30593
59x60 mm (3 1/8x2 3/8"), aluminum, anodized
No.
(sp]
(o]
3
Set consisting of: ®
Panel end component,
79 mm (3 1/8"), aluminum, 1 30590

anodized

Bracker connector,
steel, zinc-plated

{7

2 | 057.3051.101

Fixation clip for wooden
and aluminum panel, 1| 057.3126.101
steel, zinc-plated

- Screw, M4x2.6 mm
(5/32"x 1/8"), steel, 4| 011.0101471
zinc-plated

End cap set for running track 057.3112.xxx

No.

End cap set, with fixation clip, plastic, anthracite 057.3132.072

No.

057.3132.072

Set consisting of:

End cap, plastic, anthracite 1| 057.3132.071

q Fixation clip for wooden
% and aluminum panel, steel, 2 | 057.3126.101
zinc-plated

Bottom guide set for wall mounting

No.
Set bottom' gwdg for 0573128171
wall mounting, with roller
Accessories
No.

/ Track cleaner, plastic, blue 057.3099.071

154

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



60 HC Synchro

Further installation examples
Wall mounting rails with extended spacing of +9 mm/+20 mm
(11/32'/25/32") between door and wall.

69
05 pren 05
32
- o[ X
&, "“_9‘7 J " olio & ’\‘\_g )
F* w0 IE I
K=l [ J KRB K=l
P
SIE — SIEN
T 2 e I
1%..
+3
-3
1 1
+35 +35
| ~ 1n _
3o PG
19 40 6, o 30 40 _l6 o
xI pu g
=l E = E
Wooden panel Optional: Wall bracket bottom guide
10 25 415
[13u 3 15.‘
475 7 32 32 8
05 7o 9.
- 5" 3
G 04
= ©léeo L —
ks 5 12 ®
Ol Wl ey .
035 | NP IR ol -
REN : 32 L @ _©® .
oIy p
, 18y ol e CLéio
(=)= ™| =
=8 28 ~haley b=y -
(30 30 |22-39) 5 81.5
& +H1 180 (Lo g 3. 3L
B s (813" 16 3
1u
32
e
8
10/ 40 _1
13 Wg‘. 3
32 16 16

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 155



60 HC Synchro

Calculations of panels

163 Schiene/Track/Rail 5 Schiene/Track/Rail Schiene/Track/Rail 11.5
Su Tu 3 7 |
8 || 8 6 16
—
3 z 97 =
= el Q|20 Do
2 QN% o] ity O 3%" e}
i T I
Holzblende/Wooden fascia/Cache en bois Clipblende/Clip fascia/Cache a clipser Clipblende/Clip fascia/Cache a clipser
= Schiene/Track/Rail + 19 (3") = Schiene/Track/Rail = Schiene/Track/Rail + 10 (13") 15
il
6
Calculations
Schienenldnge/track length/Longueur du rail S=(2xR0) + 120
Schienenldnge/track length/Longueur du rail S=(2xR0) + 45"
50 Rahmendffnung/frame opening/Ouverture du cadre = RO 50
13 5l
32 32
(O) 1< P 5 A ) o ] - - s S0 S (@
70
TB=R0O+98  TB=RO+3§ 2 T8
2 2 5
In der Mitte 1 Stopper mit Arretierungskraft ( rechte Tiire )
In the middle 1 stopper with retention spring ( right duor)
Dans le centre 1 butée avec force ( porte a droite ) 18
I35 R e o
Accessories Planning/execution

Further information about the product can be found
on www.hawa.com.

— Lock solutions from page 511
— General accessories from page 518

156

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [[21%) 60 HM

Fitting for top-running wooden doors up to 60 kg (132 Ibs.), with surface mounted
running track or running track flush with the ceiling. Optionally with soft and self closing
mechanism. Ceiling mounting. Minimal installation height.

——

Product highlights

“Tﬁ Flexibility Ceiling-integrated or surface-mounted installation
with the same system

M Productivity = Tool-less door mounting

Technical specifications

[\ Max. 60 kg (132 Ibs.)
$H Max. 2700 mm (8'10 5/16")

€2 Max. 1600 mm (5'3") —
n/ \

)« 30-80 mm (1 3/16" to 3 5/32")

P
Installation examples
30 ) X
1 % . 05 05 * mlltthMontagg?ffnung. *(66) 11
with assembly opening 190 | Lo
g// ﬁ avec ouverture de montage 2" [i6
g . - . — A o~
&[N 3| &s 3|7 ——— Ol ) ()
) Fico ki
D Sjeu QS m
Ntw‘m Ni\ \\ L " &b I\ alln
18 18 04x40
23u +1 o +1
32 3 32 13
80 (135
5u (rOw
1. 1 33" (576
+a5 +a5
> K 2235 2
|1 1 I 3u
8 8 9 3
40 40
9u 9u
16 %
2|y T4 Slgs
s | -
I
z|z = e 03—~ -
al aka e
ju
64 64 64 225
170 170 17n Tu
% 23 % 8
12 12 695
15a 15u
% 5 I
©l&io C;a e ©l 5w ~yolsy I'g a«k
g — - A L
é 04x20 04x20 E E E

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 157



'Hawa [[312] 60 HM

Set for ceiling mounting,
for 1 wooden door up to 60 kg (132 Ibs.)

Set for ceiling mounting,
for 1 wooden door up to 60 kg (132 Ibs.)

No. No.
Hawa Porta 60 HM/HMD, 057.3133.072 Hawa Porta 60 HM, minimal installation height,
minimal installation height, for 1 door ’ ’ with running track, 2000 mm (6' 6 3/4"), 057.3134.071
aluminum, for 1 door
AN
S -
g No. ‘E
2 [} No.
5 ®
Set consisting of: 3 mm N
Set consisting of: (inch) 8
Running gear,
plain bearings, 2 | 057.3115.071 7, Running gear,
rollers plastic blue ﬁ}i plain bearings, 2 | 057.3115.071
"' rollers plastic blue
Stopper, with retention
sprizg plastic, gray 2 | 057.3073.072 Stopper, with retention
’ ’ h L 2 | 057.3073.072
spring, plastic, gray
Hexagon head screw,
M8x36 mm (5/16"x1 13/32"), | 2 | 042.0165.101 Hexagon head screw,
steel, zinc-plated & M8x36 mm (5/16"x1 13/32"), | 2 | 042.0165.101
steel, zinc-plated
Cover cap, plastic, grey 2 | 600.0000.533
@ Cover cap, plastic, grey 2 | 600.0000.533
Ell;r;?i?ga?‘n‘ter?rg;ﬁfer’ 2 | 042.0167.001 Running gear holder,
’ . . ’ 2 | 042.0167.001
plastic, anthracite
Housing, steel, zinc-plated 2 | 042.0166.101 / Housing, steel
. ’ ’ 2 | 042.0166.101
zinc-plated
Countersunk head screw,
4x40 mm (5/32"x1 9/16"), 8 | 766.5040.140 Countersunk head screw,
steel, zinc-plated &g& 4x40 mm (5/32"x1 9/16"), 8 | 766.5040.140
steel, zinc-plated
Bottom guide,
with roller, adjustable, 1 | 057.3120.071 Bottom guide,
plastic, anthracite with roller, adjustable, 1| 057.3120.071
plastic, anthracite
Countersunk head screw,
4x20 mm (5/32"x25/32"), 4 | 766.5042.120 Countersunk head screw,
steel, zinc-plated &E}&D 4x20 mm (5/32"x25/32"), 4 | 766.5042.120

158

steel, zinc-plated

Running track,
aluminum,
pre-drilled

2,000
(6'63/4")

057.3016.200

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Running tracks

Soft close

'Hawa [[21%) 60 HM

For soft closing in opening and closing direction

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

(5/16"x2"), steel, zinc-plated

o order 2 sets.
(inch) No.
No.
(5,16’17312”) 057.3016.170 s y
oft close Hawa Porta 60/100, Divido 100,
2 000 10-60 kg (22-132 Ibs.), 1 piece 042.3102.072
’ 057.3016.200
(6'63/4")
= . N
/ Runnllng track, ' 2,500 057.3016.250 B
aluminum, pre-drilled | @ 27/16") o~
S No.
6,000 1 957.3016.600 a2
(19' 8 7/32") L. <t
Set consisting of: o
cutto | 557.3016.990 _
size Soft close, top running,
2000 10-60 kg (22 to 132 Ibs.), 1 | 042.3106.072
634" 057.3016.201 plastic
2,500
/ Running track, ©' 276" 057.3016.251 Trigger for soft close in 1 | 042.3105.001
aluminum, anodized, buildings, zinc die casting ) )
pre-drilled 6,000 | 573016.601
(19' 8 7/32")
cut to
size | 057.3016.991 %@g@ Screw set soft close 1 | 600.0000.566
Running track, (:;5722“) 057.3016.256
with ?Ssembly. Cover for assembly opening
opening, aluminum, cut to 057.3016.998
anodized, pre-drilled size : : No.
2,500 27668 Cover cap to assembly opening, 1-piece set 042.3114.071
(8'27/16")
Running track, 3,500 27667 =
ceiling integration, (11'525/32") Sr-
aluminum, anodized, 6,000 ha No.
pre-drilled (19" 87/32") 30326 g
Set consisting of: o
cutto 27669
size
? | Cover cap assembly 1 | 042.0172.001
Disposable coverto | 2000 | 57 3098 gy / opening, plastic, gra 0172.
running track Hawa ©63/4") N S pening. p - oray
Porta 45/60/100, cut to
plastic, black size 057.3098.990
%@& Screw set soft close 1 | 600.0000.566
Screw set
No.
Screw set for ceiling integration,
+15 mm (+19/32") 057.3180.071
5
§ No.
@
5
Set consisting of: o
@ Hexagon screw, M8x51 mm 2 | 042.0165.103

&

Head cap screw,
M8x50 mm (5/16"x1 31/32"),
steel, zinc-plated

042.0175.002

159




'Hawa [[Z312) 60 HM

Accessories

No.

Routing jig for
\"\0/ assembly opening
>

042.3118.071

Groove cutter to routing jig,
@= 10 mm (13/32"), hard metal

600.0000.309

% Track cleaner, plastic, blue

057.3099.071

160

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Soft close

'Hawa [[21%) 60 HM

7=
1 2
* B 0 | o | 1 |2
629 | qi g [ 40440 | o 430 | on 290 | 1 g3
Hawa Porta 60/100 HHC ey | ok |1l | 24k | 268 |29
20, ] . 3 29, 3 Z= * Montagedffnung
Hawa Porta 60/100 HMHMD/HMT | 1'635" | 19" | 1" 117" | 247" | 2' 65" | 2' 935" 1 2 assembly opening
2 ] ) , ” 5 ouverture de montage
Hawa Porta 100 G/GU/GM/GMT 165" | 1'95" | 1'117" | 2'47" | 265" | 2' 935" * 0 1 2 0 1 2 02
Hawa Porta 100 GF 1 6%“ 2' 4%' Hawa Porta 60/100 H/HC 480 [535 | 590 | 730 | 785 | 840
5 o ; % 3 Hawa Porta 60/100 HM/HMD/HMT | 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GW/GWF T8 | 9" | 1M1 | 2°6" 265" | 2'756" | | Hawa Porta 100 /6WGMGMT | 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GMD 17 |19 | 1 1dr | 25 | 207k |27 | | Hawa Porta 100 GF 480 730
Hawa Porta 100 GW/GWF 512 | 542 | 590 | 762 | 792 | 840
Hawa Divido 100 FUHM/GR 16 1o |11l | 2ad 2762 |2 0 | [HawaPorta 100 GHD 488 | 539 | 590 | 738 | 789 | 840
— PR PEPPSET TS o 5w |0 2~11a| | Hawa Divido 100 H/HM/GR 480 | 535 | 590 | 730 | 785 | 840
Hawa Divido 100 GRM 185" 111057 105" | 2°6" | 2'855" 12'10%" | "Hawa Divido 100 GRM 512 | 567 | 622 760 | 817 | 872
D ARED = 5 5
A = I
Beidseitig geddmpfte Ausfiihrungen ohne stim-
seitigen Zugang erfordern zwei Montagedffnungen| > 570
Versions with soft closing mechanism at both ' 7n
sides without access from the leading edge =11 16 _>
require two assembly openings. Z=2840
Les versions avec amortissement bilatéral sans Z=>pali
acces frontal exigent deux ouvertures de montage.
Ceiling integration
Recommendation: For systems integrated into the ceiling,
provide assembly openings or front access to the system.
80 Abdeckung Montagedffnung bauseitig
33%” Cover assembly opening on site 672
Cache ouverture de montage sur site 25"
T
&~ (&) (&)
05 Ly _— e Ol ¢ 3
[l e \
_ b0
Qe = i j L]
18
23u +1
2 .
135
iR 55
32 16
I 232 2
8 % i
40
- 190 2|y . -
16 N Abdeckung Montagedffnung bauseitig
ﬁ :“f Cover assembly opening on site 66
| = Cache ouverture de montage sur site 19
=~ 219
o— o =2
\ gl | gloe
12 : _
1372‘. 8|7 [
ol O O
©|iSio M 62
Iz
04x20
Accessories Planning/execution

— Lock solutions from page 511
— General accessories from page 518

Further information about the product can be

found on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

161



'Hawa [[Ze8&Y 60 HMD

Fitting for top-running wooden doors up to 60 kg (132 Ibs.), with surface mounted
running track. Optionally with soft and self closing mechanism. Wall mounting. Minimal

installation height.

Product highlights \/

“Tﬁ Flexibility Aluminium panel or customer-provided wooden —
. . . \
panelling integrated in the system

M Productivity = Tool-less door mounting

Aesthetics Also available in black as a “Black Edition” design
option for a particularly attractive appearance

Technical specifications ]

[\ Max. 60 kg (132 Ibs.)

$H Max. 2700 mm (8' 10 5/16")

€5 Max. 1600 mm (5' 3") |

N 30-45 mm (1 3/16" to 1 25/32") ] | —

Installation examples

52.5 53.5 Kleber/glue/coller

K mit Montagetffnung *(64) 9

A L 5
475 26 s 758 1 |5 with assembly opening 2 T3
Tn 3 7o L[] 3 avec ouverture de montage 32
05 15 1 05 18 k7 % g
R J .
Sh b I NV =) Er— ol b
= B ~lEe B e @& &) L
i N_“" N Fio '; i f Ao T
A2 N L] B
th Sim S m_ = fars2) I\ — [
18 18 04 x40
230 +1 23, +[1
32 13 2 13
80 (135)
5. (500
el i 335" (575")
32 32 >235
1u 1 "
i G 9
10 40 1 40
Bu . 1 9. 13 9.,
% 6 % T
Sk 2|8
| = | = Spsy
i i 03 =9
FlE ElE RIESS]
x x
64 64 64 22.5
170 170 170 u
235 er) er) 8
12 12 65
©|5e i 2|0 ~yolsy B ks
R ~7—~erd |
04x20 04x20 g g E

162 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Set for wall mounting,

for 1 wooden door up to 60 kg (132 Ibs.)

No.

Set for wall mounting,

'Hawa [[5GY 60 HMD

for 1 wooden door up to 60 kg (132 Ibs.)

No.

Hawa Porta 60 HM/HMD,

minimal installation height, for 1 door

057.3133.072

Hawa Porta 60 HMD, black,

057.3133.084

Hawa Porta 60 HMD, minimal installation height,
with running track, 2000 mm (6' 6 3/4 "),
aluminum, anodized, for 1 door

057.3136.071

minimal installation height, for 1 door
~
5|8 8 No.
8 8 No. mm CBO
™| ™ Set consisting of: (inch) o
|5
Set consisting of: oo (B Running gear,
73 Running gear. é‘ plain bearings, 2 | 057.3115.071
(=10 | piain bearings, 2| 2| 057.3115.071 rollers, plastic, blue
"(@' rollers, plastic, blue
Stopper, with retention o 73073.072
. . spring, plastic, gray 057.3073.0
Sto.pper, W|th retention 5 057.3073.072
spring, plastic, gray
Hexagon head screw,
Hexaqon head screw. M8x36 mm (5/16"x1 13/32"), | 2 | 042.0165.101
M8x396 mm ’ steel, zinc-plated
u " 2 | 2 | 042.0165.101
(6/16"x1 13/32"), C lasti 2 |1 600.0000.533
steel, zinc-plated over cap, plastic, grey ) ’
Cover cap, plastic, grey | 2 | 2 | 600.0000.533 ;
Running gear holder, 2 | 042.0167.001
plastic, anthracite
Running gear holder, 2| 2 | 042.0167.001
plastic, anthracite
Housing, steel, zinc-plated 2 | 042.0166.101
Housing, steel,
/ zinc-plated 2 | 2 | 042.0166.101 Bottom guide,
with roller, adjustable, 1 | 057.3120.071
Countersunk head plastic, anthracite
Q screw, 4x40 mm 8 | 8 | 766.5040.140 ¢ ixation cli
Alls (5/32"x1 9/16"), & Fixation clip for wooden and | 4 | 57 5456 71
steel, zinc-plated aluminum panel, 2-piece set
Bottom guide, Countersunk head screw,
with roller, adjustable, 1|1 | 057.3120.071 &Egg@ 4x40 mm (5/32"x1 9/16"), 8 | 766.5040.140
plastic, anthracite steel, zinc-plated
Countersunk head %g Countersunk head screw,
Q screw, 4x20 mm 4 766.5042.120 Xy 4x20 mm (5/32"x25/32"), 4 | 766.5042.120
%Ev—% (5/32"x25/32"), steel, steel, zinc-plated
zinc-plated
Single running
; ; track, aluminum 2,000
Stopper, with retention ) ’ i 1| 057.3112.199
% eprine: plastic. biack 2 | 057.3073.076 anod|z.ed, 6'63/4")
pre-drilled
Countersunk head
Q screw, 4x20 mm
%E% (5/32"x25/32"), 4 | 600.0000.817
steel, zinc-plated
Subject to technical modifications. Metric specifications are exact. Inches are approximate. 163



'Hawa [[Ze8&Y 60 HMD

Running tracks

End cap set for running track 057.3112.xxx

No.
End cap set, with fixation clip, plastic, anthracite 057.3131.072
End cap set, with fixation clip, plastic, black 057.3131.075
No.

057.3131.072
057.3131.075

Set consisting of:

End cap, plastic, 1 057.3131.071
anthracite

q Fixation clip for wooden
and aluminum panel, 2| 2| 057.3126.101
steel, zinc-plated

End cap set, 1| 057.3131.076
plastic, anthracite ’ ’

Fixing clamp for the end pieces of wooden or aluminum
panels

No.
Fixe.ation clip for wooden and aluminum panel, 057.3126.071
2-piece set
~
Q
g No.
N
5
Set consisting of: o
q Fixation clip for wooden
X and aluminum panel, steel, | 2 | 057.3126.101
zinc-plated
Panel end component set, 95 mm (3 3/4"),
can be shortened, plastic, wall mounting
No.
Panel end component set, with fixation clip, 30485
95 mm (3 3/4"), plastic, anthracite
o No.
o]
3
Set consisting of: ®

mm
(inch) No.
2,500 057.3112.250
(8'27/16")
3,500
Running track, (15 25/32") 057.3112.350
aluminum, anodized,
% pre-drilled 6,000 1 457 3112.600
(19' 8 7/32")
cutto | 957.3112.900
size
Running track, 2,500 1 4573112,255
aluminum, (8"27/16")
black anodized, 3,500
pre-drilled (18 25/32") 057.3112.355
Running track, 2,500 30617
. (8'27/16")
extended spacing
of +9 mm (11/32") 6,000 30618
between door and (19' 8 7/32")
wall, aluminum, cut to
anodized, pre-drilled . 30668
size
Running track, 2,500 30619
. 8'27/16")
extended spacing
of +20 mm (25/32") 6,000 30620
between door and (19' 8 7/32")
wall, aluminum, cutto
anodized, pre-drilled . 30669
size
Dlsppsable cover to 2,000 057.3098.001
running track Hawa (6'63/4")
Divido 100 / Hawa
Porta 45/60/100, cutto | o2 3098 990
plastic, black size
Panels
mm
(inch) No.
2,500 | 457 3113.250
8'27/16")
3,500
Clip-on panel, (115 25/32°) 057.3113.350
wall mounting,
aluminum, anodized 6,000 057.3113.600
(19' 8 7/32")
cutto | 5573113.900
size
Clip-on panel, 2,500 1 457 3113.255
wall mounting, (8'27/16")
aluminum, 3,500
black anodized (15 25/32) 057.3113.355
164

Panel end component,
95 mm (3 3/4%), 2 30133
plastic, anthracite,

can be shortened

Fixation clip for wooden
and aluminum panel, steel, 2 | 057.3126.101

zinc-plated

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Soft close

For soft closing in opening and closing direction

order 2 sets.

No.

Soft close Hawa Porta 60/100, Divido 100,
10-60 kg (22 to 132 Ibs.), 1 piece

042.3102.072

N
N~
o
N
S No.
[sp)
3
Set consisting of: IS)
Soft close, top running,
10-60 kg (22 to 132 Ibs.), 1 | 042.3106.072
plastic
Tr|gg§r for S.Oft qlose n 1 | 042.3105.001
buildings, zinc die casting
&Eﬁ@ Screw set soft close 1 | 600.0000.566
Cover for assembly opening
No.
Cover cap to assembly opening, 1-piece set 042.3114.071
<
=
§ No.
[sp)
g
Set consisting of: 1<)
)
, Cover cap assembly 1 | 042.0172.001
\ opening, plastic, gray
&Eﬂ% Screw set soft close 1 | 600.0000.566
Bottom guide set for wall mounting
No.
Set bottom guide for 057.3128.171

wall mounting, with roller

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

'Hawa [[5G8 60 HMD

Accessories

No.

Routing jig for

. 042.3118.071
assembly opening

Groove cutter to routing jig,

@= 10 mm (13/32"), hard metal | ©00-0000-309

Track cleaner, plastic, blue 057.3099.071

Further installation examples
Wall mounting rails with extended spacing of +9 mm/+20 mm
(11/32'/25/32") between door and wall.

61.5 725
13u 27
L3 20
565732 5 05 675 "2 5
v 3 210 3
05 %5 i6 2 76
b N P e
Sy ] Ao
Sl a Sl §
ats’i\g mim
18 18
230 +1 230 1
2 I3 32

—~— T
o= =
L+ L+
ol K= @

= Sl SER
19 40 | = 30 40 & =
3 120 [N 13 190 [
4 16 | 16 16 |
== ==
Calculations of panels
5 Schiene/Track/Rail Schiene/Track/Rail 5
3. 3.
6 6
ol =, © = 3 "’1‘%
A& g 1 3
3 I[3
4 8
o=
Clipblende/Clip fascia/Cache a clipser| Holzblende/Wooden fascia/Cache en bois|
= Schiene/Track/Rail = Schiene/Track/Rail + 5 (%“)
Wall mounting bottom guide
0. 25___ 415
13, 31 120
B2 32 8
4
| =
12 © ©
Ol ey )
eled 150 [t}
] 2 gvyL ®__ _® |
|G Lrdico
i o)z S
30 |(22-34) 5 815
3u (Znq1dw 3. n
6 (1) 76 33
165



'Hawa [[Ze8&Y 60 HMD

Soft close

7=
P o———————1) O) 1 2
* B o | 112 o1 ]o
1+ 229 e Pl 3 « 29 1930
Hawa Porta 60/100 HHC 12 | rok |1l 24l |26 |2 0% . *
= Montagedffnung
Hawa Porta 60/100 HMHMD/HMT | 1' 633" | 197" [10 114" | 2143 | 2'65" | 2/ 9" ] 2 assembly opening

ouverture de montage

Hawa Porta 100 G/GU/GM/GMT | 1'683" | 1 97k" [1' 114" | 243 | 2'653" | 2' 9" * o |1 2] 0| 1] 2

Hawa Porta 100 GF 162 24 Hawa Porta 60/100 H/HC 480 | 536 | 590 | 730 | 785 | 840

. = : - > [[Hawa Porta 60/100 HWHMD/HWIT | 480 | 535 | 500 | 730 | 786 | 840

Hawa Porta 100 G/GWF 83" | 19" | 112" | 26" 126%" |2 76" | | Hawa Porta 100 G/G/GMGMT | 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GMD 175 | e |1 g | 2 sk | 20 74k | 2 7 | | Hawa Porta 100 GF 480 730

Frawa Porta 100 GW/GWF 512 [ 542 | 590 | 762 | 792 | 840

Hawa Divido 100 H/HMW/GR 1683 | 1ok [ 10114 | 2143 | 21683 | 2 o | | Hawa Porfa 100 GMD 488 [539 [ 590 | 738 | 789 | 840

— B A T o | o T aBe oo Tiv] | Hawa Divido 100 H/HM/GR 480 | 535 | 590 | 730 | 785 | 840

Hawa Divido 100 GRM 183" 11105 10y | 26" | 285" 121059" | ["aya Divido 100 GRM 512 | 567 | 622 | 762 ] 817 | 872

A B awe

Beidseitig gedampfte Ausfiihrungen ohne stirn-

seitigen Zugang erfordern zwei Montagedffnungen| 2570
Versions with soft closing mechanism at both 0 milo
sides without access from the leading edge =11 Oﬁ

require two assembly openings
Les versions avec amortissement bilatéral sans l=> 2‘—9@
acces frontal exigent deux ouvertures de montage.

= 62
AT k= - 'z
/RN, > ok
Z= >320
« 19
1 P >1'35
7=>480
0 1 2 0 1 2 7=% 1'*6%"
Hawa Porta 60/100 H/HC TR ek |1 | 24 |26 |20
29 ] ] p 20, 3 = * Montagedffnung
Hawa Porta 60/100 HMHMD/HMT | 1'653" | 1" 975" 1" 113" | 21 43" | 2' 63" | 2' 05" ] ) assembly opening
29 ) 1 3 ” 3 ouverture de montage
Hawa Porta 100 G/GU/GM/GMT | 1'65" | 1'9g5" | 1' 117" | 2'43" | 2'653" | 2' 955" * B o |12 o] 1] 2 %
Hawa Porta 100 GF e 2 43 Hawa Porta 60/100 HHC 480 | 535 | 590 | 730 | 785 | 840
; — : % 5> [ Hawa Porta 607100 HWHMD/HNIT | 480 [ 535 | 690 | 730 [ 785 | 840
Hawa Porta 100 GW/GWF Ty | 19" | T 11g" | 2°6" | 265" | 2'756" | | awa Porta 100 G/GU/GM/GMT | 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GMD 17| 1red | 1 | 25k |2 7k | 27 | | Hawa Porta 100 GF 480 730
Hawa Porta 100 GW/GWF 512 | 542 | 500 | 762 | 792 | 840
Hawa Divido 100 H/HM/GR 1 gg 1 9%-- 1 ﬂ%-- o 4% o 6%" s g%-- Hawa Porta 100 GMD 488 [ 539 | 590 | 738 | 789 | 840
— — T o a T o Tarase 1o | Hawa Divido 100 HHM/GR 480 | 535 | 590 | 730 | 785 | 840
Hava Divido 100 GRM T8y |11105"| 105" | 26" | 285" |2'10%" | | Haua Divido 100 GRM 52 | 567 | 622 | 762 | 817 | 872
262 | e = = = 62
22%" | h"{ £ ® 0 :::MI_—‘J B ol o P
>570
> 110"
1 Z=>730
7=>2-4
Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be found
— General accessories from page 518 on www.hawa.com.

166 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



m gelgey 60 HMD Acoustics

Fitting for top-running wooden doors up to 60 kg (132 Ibs.), with surface mounted
running track. Sound attenuation. Wall mounting. Minimal installation height.

Product highlights \/

Q) Comfort Outstanding living comfort thanks to effective | —
exclusion of sound, drafts, odors and unwanted -
light incidence

&Tﬁ Flexibility Aluminium panel or customer-provided wooden
panelling integrated in the system

m Productivity = Tool-less door mounting

Technical specifications ]

@ Max. 60 kg (132 Ibs.)

7 Max. 2500 mm (8' 2 7/16")

o 750-1250 mm (2' 5 17/32" to 4' 1 7/32")

— Inside clearance (LMB) /\
5e 39-45 mm (1 17/32" to 1 25/32") i —

Installation examples

U+ 525
U+ 2%6”
] U+ 30 5 125 ) 110
U+ 13" a
=23
95 U=7+ 4"
— N |
== —:zm Bl |
3 %—9 el T 7 - W
m| = i i il o j
[ I I I
) 1 e i N i I i wo
i T : I\ \ | I I
% ‘ 97 *% \ | | ?4x50 I I ?4%50
1 I 3 H #3530 H #35x30
16 - @
7= 6 (6 - 25) 40 237 237 25
=i -8 1% 9" 9" El
8 10 |
B=X - 10 C= 126 - X
B=X - & C= 48" -X
- 4 o . . 4
: e V2 oy Qb : : <ol 5 X ©,
| 5 8/ % A S E EN b4 Qi o7/ %
3 T / 0> ® '3\,
Elz 1 % %
27 8 ~[ogt| 21
<
i o <
16 16 16
67.5 64 64 64 64 525
2 o2y % 2% 2 23 T % 2%
K
Il [l
f|| 1-23:5x30 I K
- H 17"
| 4ﬁ
| [T Qo
1 i
— =
! ol I |
[\ 235x25  —I= I\ 235x25 ||

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 167



m gelgey] 60 HMD Acoustics

Set for 1 wooden door up to 60 kg (132 Ibs.)

Running tracks

plastic, black

mm
inc o.
(inch) N
2,500 057.3112.250
(8'27/16")
3,500
Running track, (115 25732 057.3112.350
aluminum, anodized,
pre-drilled 6.000 | 457 3112.600
(19' 8 7/32")
cutto | 957.3112.990
size
Running track, 2,500 30617
. @©'27/16")
extended spacing
of +9 mm (11/32") 6,000
% between door and (19'87/32") 30618
wall, aluminum, cut to
anodized, pre-drilled ) 30668
size
Running track, 2,500 30619
. (8'27/16")
extended spacing
of +20 mm (25/32") 6,000 30620
between door and (19'87/32")
wall, aluminum, cut to
anodized, pre-drilled ; 30669
size
Disposable cover to 2,000 057.3098.001
running track Hawa (6'63/4") ’ ’
Divido 100 / Hawa
Porta 45/60/100, Cu.t to 057.3098.990
size

Components for running tracks

No.

Track cleaner, plastic, blue

057.3099.071

h

Key for dismounting, steel,

zinc-plated

042.3119.101

No.
Hawa Porta 60 HMD/HMT Pocket Acoustics, 30431
for 1 door
No.
o
S
Set consisting of: 1)
Running gear,
plain bearings, rollers, 2 | 057.3115.071
plastic, blue
SoftStop
nga Portg Ac0u§tlcs, 1 30472
with retention spring,
plastic, gray
Sto_pper, W|tr_1 retention 1 | 057.3073.072
spring, plastic, gray
"’\,ﬂ Adapter for running gear,
’ for SoftStop, plastic, gray 1 30218
Pan head screw,
N M3x8 mm (1/8"x5/16") 1 30359
Hexagon head screw,
« M8x36 mm (5/16"x1 13/32"), | 1 | 042.0165.101
steel, zinc-plated
Head cap screw,
@/ M8x35 mm (5/16"x1 3/8"), 1 | 042.0175.001
steel, zinc-plated
Cover cap, plastic, grey 1 1600.0000.533
Running gear holder, 2 | 042.0174.001
plastic, anthracite
Housing, steel, zinc-plated 2 | 042.0166.102
Spacer,
housing plastic anthracite 2 30361
Cover cgp set, .plastlc, 1 30484
anthracite, 4-piece set
Flat countersunk head
%g chipboard screw,
P 8 30463

4x50 mm (5/32"x1 31/32",
steel, zinc-plated

168

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Panels
mm
(inch) No.
2,500 | 57 3143250
(8'27/16")
3,500
Clip-on panel, (11' 5 25/32") 057:3113.350
wall mounting,
aluminum, anodized 6,000 057.3113.600
(19' 8 7/32")
cutto | 4573113.990
size

Panel end component set, 95 mm (3 3/4"),
can be shortened, plastic, wall mounting

No.
Panel end component set, with fixation clip, 30485
95 mm (3 3/4"), plastic, anthracite
No.
19
[e2)
S
Set consisting of: @
Panel end component,
95 mm (3 3/47), 2| 30133
plastic, anthracite,
can be shortened
q Fixation clip for wooden
and aluminum panel, steel, | 2 | 057.3126.101
zinc-plated

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

m gelgey] 60 HMD Acoustics

169



m gelgey] 60 HMD Acoustics

Sets left type Vertical seal for seal set, left, right set type
(horizontal seal set)
No.
No. ) )
- Seal vertical, Hawa Acoustics,
Seal, Hawa Acoustics XS, left 30437 7700 mm (25' 3 5/32"), Silicone, 30300
Seal, Hawa Acoustics S, left 30439 black
. Seal, Hawa Acoustics M, left 30441
Seal, Hawa Acoustics L, left 30443
Seal, Hawa Acoustics XL, left 30445
Sets right type
(horizontal seal set)
No.
Seal, Hawa Acoustics XS, right 30436
Seal, Hawa Acoustics S, right 30438
Seal, Hawa Acoustics M, right 30440
Seal, Hawa Acoustics L, right 30442
Seal, Hawa Acoustics XL, right 30444
Hawa Acoustics horizontal seal set
consisting of:
Position | Bezeichnung Anzahl Typ
Position Désignation Numéro Type
Position Designation Number Type
1 Hubdichtung 1 Links/Rechts
Joint de levage Gauche/Droite
Header seal Left/Right
XS 30454
S 30385
M 30455
L 30456
XL 30457
2 Senkdichtung 1 Links Rechts
Joint d'abaissement Gauche Droite
Floor seal Left Right
XS 30446 | XS 30447
S 30387 |S 30383
M 30448 | M 30449
L 30450 |L 30451
XL 30452 | XL 30453
3,4,5,6 | Kleinteileset oben 1 Links 30390 | Rechts 30392
Kit pour petites pieces, supérieur Gauche Droite
Small parts set top Left Right
7,8,9,10 | Kleinteileset unten 1 Links 30416 | Rechts 30417
Kit pour petites pieces, inférieur Gauche Droite
Small parts set bottom Left Right
1 Pocketadapter 1 Links/Rechts 30418
Adaptateur pour caisson a galandage Gauche/Droite
Pocket adapter Left/Right

170 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Definition left, right / door width calculation
Left type (left hand lock)

Ganzoffnend X = Zargenmass 30 - 60

STB = LMB + X + 120|
Ouverture compléte o - X = Dimension du cadre 30 - 60
Fully opening STB=LMB+X+4% X = Frame dimension 15 -2

). S LMB X

il

Dichtseite / Coté étanchéité / Sealing side

120
4%,,

STB

m gelgey 60 HMD Acoustics

Right type (right hand lock)

Teiloffnend
Ouverture partielle

STB=LMB+2*X) +10

X =Zargenmass 30 - 60
X = Dimension du cadre 30 - 60

Partially opening

STB=LMB+(Q2*X)+3

X = Frame dimension 15 - 23

X , LMB X
10
o
8
—Up Dichtseite / Coté étanchéité / Sealing side =
[0 - - - 1]
LMB -Y+X Y= 2120
Y= 243"
STB
Acoustics set determination
Ganzoffnend
Ouverture complete
Fully opening
LVB
X 30 40 50 60
Hawa Acoustics XS 750 - 780 750-770 750-760 750
Hawa Acoustics S 780 - 900 770-890 760 - 880 750 - 870
Hawa Acoustics M 900 - 1030 890-1020 880-1010 870-1000
Hawa Acoustics L 1030-1150 1020 -1140 1010-1130 1000 - 1120
Hawa Acoustics XL 1150 - 1250 1140 - 1250 1130 - 1250 1120 - 1250
LB
3 9" 31" 3
X 1% 1% 1% 23
o 17" a8y 17" i 5oy 17" e 29 o g 17"
Hawa Acoustics XS [2'6 35 -2'65;(2'5 33 -2'6 35|25 5 25525 3
HawaAcousics S [2'6 2 -211:£(2'6 2 -2115(25 8 -2108 |25 I -210 §
Hawa AcousticsM 21114 -3'4 (2114 -3'4 52102 -3'3 3|210 ¥ -33 &
) 4 9 ag 9aa 5 _ag Tlaq 3 _qg 1'laq 3 g3
Hawa Acoustics L 34E-39§34§—38§333-38§33§-38§
g 9" g 7' s g 7| g 15" ' 7| 3 ' 7
HawaAcoustics XL 3'9 55 -4'1 513'8 g -4'1 5138 5 -4'1 5|38 5 -41 5
Teiloffnend
Ouverture partielle
Partially opening
LMB
X 30 40 50 60
Hawa Acoustics XS 750- 870 750 - 850 750 - 830 750-810
Hawa Acoustics S 870-990 850 - 970 830- 950 810-930
Hawa Acoustics M 990 - 1120 970-1100 950-1080 930 - 1060
Hawa Acoustics L 1120 - 1240 1100 - 1220 1080 - 1200 1060 - 1180
Hawa Acoustics XL 1240 - 1250 1220 - 1250 1200 - 1250 1180 - 1250
LMB
3 9" 31" 3
X 1% 1% 1% 23
9 g 17" . o g 17" i q 189 g 17" g Mo g 17" q 7
Hawa Acoustics XS |2'5 37 -2'10 7265 -2'9|2'5 35 -28 (265 -2'7 ¢
Hawa Acoustics S~ (2110 1" -3'2 129 8 -3'2 Hog I 31 Blo7 7 -3 2
n in 31" ' 3 q 3" ' 514 13" o 17 ) i 23"
Hawa AcousticsM 3'2 5 -3'8 513252 -3'7 (315 -365(3 § -355
9 g 3" 13 5" ' 1lqg 17" . g 23 11015
Hawa Acoustics L~ |3'8 35 -4' 3|37 -4 5|36 -3114]355 -3105
0 13 ' AV 1" ' 7' qr 1 ' 7'[21n18" ' 7
Hawa Acousties XL (4 12 -1 14 -4t L1311 L -4t 13108 41

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

Ganzoffnend [STB = LMB + X + 120 X =Zargenmass 30 - 60
Ouverture complete o X = Dimension du cadre 30 - 60
Fully opening STB=LMB+X+4% X = Frame dimension 135 - 23
X LMB . X
- Dichtseite / Cté étanchéité / Sealing side Lk
120
preg
STB
Teilffend STB=LMB+(2"X+ 10 X = Zargenmass 30 - 60
Ouverture partielle - = X = Dimension du cadre 30 - 60
Partially opening STB=LMB+@2"X) +3 X = Frame dimension 155 - 23
X LMB . X
10
7
8
- le Dichtseite / Coté étanchéité / Sealing side nu—
1] B - - U]
Y= =120 LMB-Y+X
Y= = 43"
STB

Block frame / closed frame details

U+ 525 U+ 525
U+ 2&" U+ 2%"
U+ 30 LU+ 30
U+ 13" U+ 13"
U=7+ 3 U=7+3
)| v=z+3 95 | U=7z+ 3"
=F g:ggw = 8 |y
3 e ©lte Slege
! I +2 T I I +2
7] 2 — 7 -2
o 5 - 3
32 ‘ 27 I+§ 4 A ‘ 32 27 I+37
145 g 145 3
7= 6(6-25) % 7= 13(6-25) %
=3 -8 = 3-8
8 || 40 8 40 |
5" Wl” 5" 1&” s
16 16 16 16
o
= |8
i =/
1} I 11 I
Flz El=
723 7 23
FLa Ry FEaRNTE
32 32 32 32
3.5 30 $3.5x 30
\1L./7X \1L«k
O % = 8 <:':E
| SIE : SES
N #35x25 T8 N 83.5 x 25

171



m gelgeY] 60 HMD Acoustics

Partially opening view

5 125 ) 110
2"
& i 1= =r H
AL AL
} i T T T i 4
i ‘ i ‘ ‘ I ‘ ;\
M0 I oA LA
‘ ‘ $35x30 #3530 ‘ ‘
40 237 237 25
B=X-10 16
Box- 4" %,,
— -t 4 s 4N
" 3 3 < "
% ES] ! 5
. L
SIS Py ® 3 !/ Qe
%g/\“ A" /
® ® £
o k)
< o )
LAY 8 o | a1 | Tlee
10 5" v/ Ry
6 6 B
67.5 64 64 64 64 64 64 52.5
2%} 24" oL 25" Y 25" 2% 245"
Il I
H 115 il
4%” 1
@, |
Ll T3t H
I — :
I I
Il \ #3.5x%25 III
Bottom guide assembly detail Calculations of panels
Ganzéffnend Teiloffnend LS 5
Ouverture complete Ouverture partielle %
Fully opening Partially opening
—~ oo
ES N .
X X . Bl
ofte o o
— — +
ot e i °l=
N W
p de / Clip fascia / Cache & clipser
1 _ _ =1S
S B
A |
3 °
1B = = LS 5
5 %
T
25 75
N
o o~
¥
S
Holzblende / Wooden fascia / Cache en bois
=1S+5(3)
172 Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Further installation examples
Wall mounting rails with extended spacing of +9 mm/+20 mm
(11/32'/25/32") between door and wall.

U+525 U+525
1u 1a
U+2ﬁ U+2%
U+30 U+30
3 3u
U+12 U+1
U=7+3 116 U=2+3 116
u=z+5 | | U=Z+3g" ‘
| |
| |
|05 |05
/i A
T
1 o | de 1 Bl e
! H — | -
Ol Epr Ol S
+2 +2
-2 -2
3 3
*32 *l3
3. B 3 R
3 SN 32 S
B T 1
= 7o Ny T 7o n W
=7 | — =7 | —
8l 40 E 8|_ 40 E
50 13 50 12
16 16 16 16

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 173



m gelgeY] 60 HMD Acoustics

Room-to-room sound attenuation
All reference values have been measured on the basis of a practical design. The Rw sound attenuation values specify the
expected sound attenuation between the two rooms which are influenced by the wall, the system and the choice of door leaf.

Reference values tested with a lightweight construction wall in accordance with James Hardy (type 1 H 31 / Rw 52 dB),
size 2.5 x 2.45 m in accordance with DIN EN ISO 10140-2. Clearance 2.0 x 1.0 m. The sound attenuation relates to the entire
structure and specifies which sound attenuation can be expected between the two rooms.

Example walls

System

: Thickness
of door leaf :

Type of door leaf

Estimated sound
attenuation
effect

Room to room

i acoustic rating of Rw 42 dB

Rw
Wall with minimum acoustic without Hawa Acoustics Single door leaf without sealing system ~18 dB
rating of Rw 52 dB H :
Single door leaf, approx. 19 kg/m? ~31dB
‘ acoustic rating of Rw 29 dB -
; ; : : : 39 mm !
\I;;ggtngllwts;zr;structlon wall © Hawa Porta 60 HMD Acoustics : Ch|pb?ard, approx. 25 l.<g/m2 ~30dB
i Hawa Porta 100 HMD Acoustics i No defined acoustic rating
= = : i Door leaf with medium sound attenuation
‘HHHHHHHMXXH‘ level approx. 25 kg/m?, ~34 dB
acoustic rating of Rw 39 dB
T 1
: Single door leaf, approx. 20 kg/m? ~30dB
i Hawa Junior 100 B Acoustics acoustic rating of Rw 29 dB
i H Porta 60 HMD A« i - - :
Lightweight construction wall H H:x: PZrt: 100 HMD ;ggislﬁzs 44 mm Door leaf with medium sound attenuation
with wooden stand H level approx. 28 kg/m?, ~ 34 dB
i acoustic rating of Rw 40 dB
: : Door leaf with high sound attenuation
Hawa Junior 100 B Acoustics 50 mm i level approx. 33 kg/m2, ~35dB
i acoustic rating of Rw 42 dB
' ) 1
I [N}
without Hawa Acoustics Single door leaf without sealing system ~20dB
Solid wall Single door leaf, approx. 19 kg/m?, ~31dB
; 39 mm ; tic rating of Rw 29 dB -
i Hawa Porta 60 HMT Pocket Acoustics : acoustic rating ot Aw
i Hawa Porta 100 HMT Pocket Acoustics ¢ Door leaf with medium sound attenuation
: i level approx. 25 kg/m?, ~37dB
i acoustic rating of Rw 39 dB
Acoustic ratings for wall construction : Single door leaf, approx. 20 kg/m? ~324dB
according to manufacturer. The i Hawa Junior 100 B Pocket Acoustics i acoustic rating of Rw 29 dB
laco.usnc values may vary if installed Hawa Porta 60 HMT Pocket Acoustic_s 44 mm ' Door leaf with medium sound attenuation
in different wall types. i Hawa Porta 100 HMT Pocket Acoustics level approx. 28 kg/m?, ~ 39 dB
i acoustic rating of Rw 40 dB
H i Door leaf with high sound attenuation
i Hawa Junior 100 B Pocket Acoustics 50 mm i level approx. 33 kg/m?, ~41 dB

Planning/execution

Further information about the product
can be found on www.hawa.com.

174

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




'Hawa [[1%Y 60 HMT Pocket

Fitting for top-running wooden doors up to 60 kg (132 Ibs.), with surface mounted
running track or running track flush with the ceiling. Optionally with soft and self closing
mechanism. Ceiling mounting. Wall pocket solution.

Product highlights \/

“Tﬁ Flexibility Ceiling-integrated or surface-mounted pocket
solutions possible

M Productivity Door can be installed in pocket after construction
is complete

Technical specifications

[\ Max. 60 kg (132 Ibs.)
$H Max. 2700 mm (8'10 5/16")

£2  Max. 1600 mm (5'3") /\

)« 30-80 mm (1 3/16" to 3 5/32")

Installation examples

I
|
et 0
19730 |19 (@) . (@)
32 6 |32 45 9 1% ohne Montagedffnung 66 (1)
= 1250 ik without assembly opening = 219 (l.,) =
- 05 2 p2 sans ouverture de montage 32 116
& @ S
O~ =t -
ol 2| Ao
” T 1 = — = - =
X +0 +o
t 2 o | i
|2 | L
| 8
45 80 | 80 135 800
254 5. 5u ’ 5. (25
12 3% BT 56" Cz2)
32 32 | 332 232 16 (932
i 3
I % 32
10 40 10
13 190 134 [
B2 6 32 |
(e
- M L Nz, Skl Sk
=| LIS
I . 03 =4
S Spies SR S
22.5 22.5 [ 64 64 64 64 22.5
) n 170 170 170 170 T
8 8 I 23 %5 %5 %5 8
|
| **
Fiir das Ein- und Ausschwenken darf eine Blende bis max. Unterkante
‘ der Schiene reichen.
| At least one of the panels must end at the lower edge the running track
in order to be able to swivel the door inwards and outwards.
‘ Pour que le pivotement puisse s'effectuer, un cache pourra au maximum
| atteindre le bord inférieur du rail.
12 65 |
154 9.,
2 L e - _ o _]
© 5w N | EE
< w7~ |
N L

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 175



'Hawa [[%Y 60 HMT Pocket

Set for ceiling mounting,
for 1 wooden door up to 60 kg (132 Ibs.)

Set for ceiling mounting,
for 1 wooden door up to 60 kg (132 Ibs.)

No. No.
Hawa Porta 60 HMT Pocket, 057.3133.074 Hawa Porta 60 HMT Pocket,
minimal installation height, for 1 door ’ ’ with running track, 2000 mm (6' 6 3/4"), 057.3181.071
aluminum, anodized, for 1 door
N
O. hal
8 No. '5.
0 © No.
5 &
Set consisting of: o mm S
Set consisting of: (inch) o
Running gear,
plain bearings, 2 | 057.3115.071 7, Running gear,
rollers plastic blue ﬁfi plain bearings, 2 | 057.3115.071
N ' rollers plastic blue
? tC:irrJ]per, I\;v;ttfilcret?ntlon 2 | 057.3073.072 St ith retenti
pring, plastic, gray opper, with retention 1 | 057.3073.072
spring, plastic, gray
Hexagon head screw,
M8x36 mm (5/16"x1 13/32"), | 1 | 042.0165.101 Soring loaded buff
steel, zinc-plated pring loaded butrer
Hawa Porta 60/100 1 27760
Head cap screw, M8x35
mm (5/16"x1 3/8"), steel, 1 | 042.0175.001
zinc-plated Hexagon head screw,
M8x36 mm (5/16"x1 13/32"), | 1 | 042.0165.101
Cover cap, plastic, grey 1 1600.0000.533 steel, zinc-plated
Head cap screw,
) @, M8x35 mm (5/16"x1 3/8"), 1 | 042.0175.001
Running gear holder, 1 | 042.0167.001 steel, zinc-plated
plastic, anthracite
@ Cover cap, plastic, grey 1 | 600.0000.533
iasti, smtvactte 1| 0420174001 Running gear hold
plastic, unning gear holder, 1 | 042.0167.001
plastic, anthracite
Housing, steel, zinc-plated 1 | 042.0166.101 R . hold
unning gear noider, 1 | 042.0174.001
8 plastic, anthracite
F
Housing, steel, zinc-plated 1 | 042.0166.102
Housing, steel, zinc-plated 1 | 042.0166.101
Countersunk head screw,
&@% 4x40 mm (5/32"x1 9/16"), 8 | 766.5040.140
steel, zinc-plated Housing, steel, zinc-plated 1 | 042.0166.102
Bottom guide, with roller,
adjustable, plastic, 1 | 057.3120.071 Countersunk head screw,
anthracite 3&@{% 4x40 mm (5/32"x1 9/16"), 8 | 766.5040.140
steel, zinc-plated
Countersunk head screw,
&@gb 4x20 mm (5/32"x25/32"), 4 | 766.5042.120 Bottom guide,

steel, zinc-plated

176

with roller, adjustable,
plastic, anthracite

057.3120.071

Continued table on next page

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Table continued from previous page

s,

Countersunk head screw,

4x20 mm (5/32"x25/32"), 4

steel, zinc-plated

766.5042.120

Assembly pin, plastic, gray 9

057.0201.001

Countersunk head screw,

Assembly set

60 HMT Pocket

No.

Assembly set Hawa Porta 60/100,
2000 mm (6' 6 3/4")

057.3179.200

Assembly set Hawa Porta 60/100,
2500 mm (8' 2 7/16")

057.3179.250

Assembly set Hawa Porta 60/100,
3000 mm (9' 10 1/8")

057.3179.300

&E&) 5x40 mm (8/16"x1 9/16"), 10| 766.3054.140 olale
steel, zinc-plated 2188
21228 o
Runmng track, ‘ 2,000 5laln
aluminum, anodi- oo . | 1] 0567.3174.200 mm SIS
zed, pre-drilled 66347 Set consisting of: (inch) o|o|o
Running
Running tracks track,
g aluminum, | 2900 | 4 057.3174.200
; (6'63/4")
mm anodized,
(inch) No. pre-drilled
1,700 .
s otsey | 0073016170 Assembly pin, 9 [11 /13| 057.0201.001
plastic, gray
2,000 "} 457 3016.200
/ ©6847 Countersunk head
Running track, 2,500 Q screw, Sx40Mm 14912 |14 | 766.3054.140
W aluminum, pre-drilled | @' 27/16") 057.3016.250 %E&’ (3/16"x1 9/16"), ’ '
5.000 steel, zinc-plated
o s 1r0zey | 057:3016.600 Running
track,
cutto | 1s213016.990 aluminum, 82;57?12 1 057.3174.250
size anodized, | )
re-drilled
2,000 | 457 3016.201 P
(6763/4") Running
2,500 track,
/ Running track, @ 2o | 007-3016.251 aluminum, | 2990 1| 057.3174.300
aluminum, anodized, ©101/8")
anodized, pre-drilled 6,000 057.3016.601 pre-drilled
(19' 8 7/32")
cutto | 1573016.991 | Soft close
size L . . . .
For soft closing in opening and closing direction
Running track, with 2,500 057.3016.256 order 2 sets.
assembly opening, (8'27116")
aluminum, anodized, cut to 057.3016.998 No.
pre-drilled size T Soft close Hawa Porta 60/100, Divido 100, 0423102072
10-60 kg (22-132 Ibs.), 1 piece e
2,500
27668
(8'27/16")
N
Running track, 3,500 27667 S
ceiling integration, (11" 5 25/32") N N
; . o.
aluminum, anodized, 6,000 &
pre-drilled (198 7732 30326 g
Set consisting of: o
cut to
size 27669 Soft close, top running,
] 2000 10-60 kg (22 to 132 Ibs.), 1 | 042.3106.072
Disposable cover to ~°~~ | 057.3098.001 plastic
running track Hawa (66347
Porta 45/60/100, QU0 | 1o 5005090
lastic, black i : : i i
plastic, blac size Trigger for soft close in 1 | 042.3105.001

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

buildings, zinc die casting

Screw set soft close

600.0000.566

177




'Hawa [[%Y 60 HMT Pocket

Cover for assembly opening

No.

Accessories

No.

Cover cap to assembly opening, 1-piece set

042.3114.071

Key for dismounting,
steel, zinc-plated

042.3119.101

~
o
<
i No. .
5 Spring loaded buffer 27760
g’ Hawa Porta 60/100
Set consisting of: IS)
l Cove_r cap ass_embly 1 | 042.0172.001 Rout|.ng jig for assembly 042.3118.071
\’ opening, plastic, gray opening
Q Screw set soft close 1 | 600.0000.566 Groove cutter to routing jig,
U, W = 10 mm (13/32"), hard metal | ©00-0000-309
Screw set
Track cleaner, plastic, blue 057.3099.071
No.
Screw set for ceiling integration,
+15 mm (+19/32") 057.3180.071
~
Q
;% No.
2
5
Set consisting of: o
7 Hexagon screw, M8x51 mm 5> | 042.0165.103

s~

(6/16"x2"), steel, zinc-plated

Head cap screw, M8x50
mm (5/16"x1 31/32"), steel,
zinc-plated

&

042.0175.002

Bottom guide set for wall mounting

No.

Set bottom guide for
wall mounting, with roller

057.3128.171

178

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




'Hawa [[1%Y 60 HMT Pocket

Assembly set/track installation Pocket Wall mounting bottom guide
10 25 41.5
339 3 31 150
155" — 8 32 8
05x40 :‘>
@ | 04
i 0 ® ®
Wl Za )
@ SES - o -
gl 11 | el g ] 2 goll @_ @ | -
- E < o NS Ordieo ﬂ\
= [S<D- EEN T——to
otz 1 ‘
e % 2ol 30 |(22-34) 5 81.5
B Tk 3. Zu
R EEEE W' (51" 76 33
18
** T
32
10 40 10)
13, (9. 13
jB2 % 3
Ceiling integration
Recommendation: For systems integrated into the ceiling,
provide assembly openings or front access to the system.
80 Abdeckung Montagedffnung bauseitig
33%" Cover assembly opening on site 62
Cache ouverture de montage sur site 25"
| e Y =S
05 ™ "‘Lm o O
I =pe \
O =<+
aim N
~
04x40
z Jo
32 -3 |1
135
5.
55
232 ® 2
9%.. % B
- 4{? o= Hawa Porta 100 HMT Pocket: Fiir Montage und Demontage Push-to-open stirnseitigen Zugang gewéhrleisten
136" - Hawa Porta 100 HMT Pocket: For mounting and dismounting of the Push-to-open ensure a frontal access
k= f Hawa Porta 100 HMT Pocket: Pour le montage et le démontage du Push-to-open assurez un acceés frontal
]
pu
ju
=T 66
219
o— o 2
1o - - /
9| e N i 8%
ol o— o
Abdeckung Montageoffnung bauseitig
Cover assembly opening on site 62
04x20 Cache ouverture de montage sur site 2%"

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 179



'Hawa [[%Y 60 HMT Pocket

Spring stop

45
250
132
_ [ 1
+o +0
-2 _|3« 0 4x40
32
45 80
250 Su
5 33
Calculations
T=TB+45 LM = > 650
T=TB+153" M =>2-12"
2l
N e == — -
45 =3 - |
g Qe L=LEY i |
S B=IM+40  TB=IM+1"
40
9u
"6 B
Soft close
7
i
.=
o3 ©) 1 2
* B 0 1 2 0 1 2
Hawa Porta 60/100 HHC 165 | 1o | 1 id | 2ad 262 293 . *
= Montagedffnung
Hawa Porta 60/100 HMHMD/HMT | 1'633" | 1" 9" | 11113 | 214 | 2622 | 2 0 e ——0 1 9 assembly opening
29 1 1 3 29, 3 ouverture de montage
Hawa Porta 100 G/GU/GM/GMT | 1'62" | 119" | 11114 | 214" | 263" | 2' 05 * o |12 ol 1] 2 2
Hawa Porta 100 GF 168 24 Hawa Porta 60/100 H/HC 480 | 535 | 590 | 730 | 785 | 840
. = 1 - = | Hawa Porta 607100 HWHVID/HWT | 480 | 535 | 500 | 730 | 785 | 840
Hawa Porta 100 GW/GWF Vg | 19" | 11" | 26" | 265" | 2746 | | Hawa Porta 100 G/GU/GM/GMT | 480 | 535 | 500 | 730 | 785 | 840
Hawa Porta 100 GMD 17 1o | 11l | 25 | 207k (27 | | Hawa Porta 100 GF 480 730
Hawa Porta 100 GW/GWF 512 | 542 | 590 | 762 | 792 | 840
Hawa Divido 100 /HMW/GR 16| volr |1l | 2 262 |2 o3 | [FawaPota 100GV 488 | 539 | 590 | 738 | 789 | 840
— e T o T o T a8 Tors iy | Hawa Divido 100 HHM/GR 480 | 535 [ 590 | 730 | 785 | 840
Hawa Divido 100 GRM 183" 1105 103" | 2'6" | 2'855" 2'10%" | awa Divido 100 GRM 512 | 567 | 622 | 762 | 817 | 872

ﬁ ONe e =

Beidseitig gedampfte Ausfiihrungen ohne stirn-
seitigen Zugang erfordern zwei Montagedffnungen. >570
Versions with soft closing mechanism at both sides
without access from the leading edge require two >785
assembly openings. =

Les versions avec amortissement bilatéral sans lI=> 2'-6%
acces frontal exigent deux ouvertures de montage.

Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be
— General accessories from page 518 found on www.hawa.com.

180 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



m gelgezy 60 HMT Pocket Acoustics

Fitting for top-running wooden doors up to 60 kg (132 Ibs.), with surface mounted
running track or running track flush with the ceiling. Sound attenuation.
Ceiling mounting. Wall pocket solution.

Product highlights T —

@ Comfort Outstanding living comfort thanks to effective
exclusion of sound, drafts, odors and unwanted
light incidence

Q\ﬁ Flexibility Ceiling-integrated or surface-mounted pocket
solutions possible

M Productivity  Door can be installed in pocket after construction
is complete

Technical specifications

/Ay Max. 60 kg (132 Ibs.)
w Max. 2500 mm (8' 2 7/16")
750-1250 mm (2' 5 17/32" to 4' 1 7/32")
¢ \
— Inside clearance (LMB) :/‘/
P
%He 39-45 mm (1 17/32" to 1 25/32")

Installation examples

U+ 15
U+ 8
2 | u=z+ 20 . 125
U=7+ %
30 10
R
o Il
LAY
i
BB 2|
= B
gl | ol [ &
L % * — ,{, —4 %
7h 2 K i i \i
2
L 84 x50 ‘ ‘ ‘ ‘ H~\
& H 27 3 HM [ | I I Il 0 Al $3.5x30
T » | \e35x30 il
7= 6(6-25) 2 5 w0 |, 237 2
= R T o ¥
10 40 | | 10 o o e, 4,16
r e a/s . - <5 0
3 175 ki 8/ % 8 % E &7 B5 || 8
sy 4 / \\ e
= G / - N
. AN R
|} S
0| = 27 8 21 >
Fl= SR # gﬁf
67.5 64 64 64 64 64 525
— o o o o o 7 oi
S aRh
2 32 ‘ ‘ H
‘ ‘ o\ __#35x30
Il | |#35x30 =
i | ‘ﬁzt -
Sl | @‘i'))
= T
N M T 15 1l
.0 X MR el "
Il $35x25 I 435 ]

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 181



m gelgesy 60 HMT Pocket Acoustics

Set for 1 wooden door up to 60 kg (132 Ibs.)

Accessories for set

No. No.
Hawa Porta 60 HMD/HMT Pocket Acoustics, 30431
for 1 door Spring loaded buffer 27760
Hawa Porta 60/100
No. Running tracks
o
. 3 mm
Set consisting of: ® (inch) No.
Running gear, 1,700
plain bearings, rollers, 2 | 057.3115.071 (5' 6 15/16") 057.3016.170
plastic, blue
(5;03?49‘) 057.3016.200
SoftStop Hawa Porta - .
Acc_)ustlcs, w_|th retention 1 30472 / Runn_lng track, _ 2,500 057.3016.250
spring, plastic, gray aluminum, pre-drilled | (8 27/16")
St ith retenti (15;07?32“) 057.3016.600
opper, WIth retention 1 | 057.3073.072
spring, plastic, gray cut to
; 057.3016.990
size
Adapter for running gear, for 1 30218 2,000 057.3016.201
SoftStop, plastic, gray (66347
2,500
W Running track, @2 716" 057.3016.251
Pan head screw, M3x8 mm aluminum, anodized,
%g&? (1/8"x5/16") 1 30359 pre-drilled 6,000 | 457 3016.601
(19' 8 7/32")
Hexagon head screw, cutto | neva016.991
M M8x36 mm (5/16"x1 13/32"), | 1 | 042.0165.101 size
steel, zinc-plated i
P Dlsposgble cover 2,000 057.3098.001
Head cap screw, M8x35 to running track (6'63/4")
mm (5/16"x1 3/8"), steel, 1 | 042.0175.001 Hawa Divido 100/
@ zinc-pl Hawa Porta
plated . cutto | 457 3008.990
45/60/100, plastic, size 57.3098.
@ Cover cap, plastic, grey 1 | 600.0000.533 black
i i Components for running tracks
Runnlng gear holder, plastic, o | 042.0174.001 p g
anthracite
No.
/ Housing, steel, zinc-plated 2 | 042.0166.102 %@ Track cleaner, plastic, blue 057.3099.071
Spacer, housing plastic Kev for di ;
) 2 30361 ey for dismounting, steel,
/ Spacer n v 042.3119.101
Cover cap set, plastic,
plastic, anthracite, 1 30484
4-piece set
Flat countersunk
head chipboard screw,
N 4x50 mm (5/32'x1 31/32", | 8| 30463

steel, zinc-plated

182

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Assembly set

No.

Assembly set Hawa Porta 60/100,
2000 mm (6' 6 3/4")

057.3179.200

Assembly set Hawa Porta 60/100,
2500 mm (8' 2 7/16")

057.3179.250

Assembly set Hawa Porta 60/100,
3000 mm (9' 10 1/8")

057.3179.300

o|o| o
o ||l o
AN N>
oo o
NN~ No.
I ARIRS
mm
Set consisting of: (inch) o|o|o
Running
track,
aluminum, | 2000 | 4 057.3174.200
. (6'63/4")
anodized,
pre-drilled
Assembly pin, 9 | 11|13 057.0201.001
plastic, gray
Countersunk head
screw, 5x40 mm
&E{g@ (3/16"x1 9/16"), 10|12 |14 | 766.3054.140

steel, zinc-plated

Running
track,

; 2,500
aluminum,

(8'27/16")

pre-drilled

057.3174.250

Running
track,
aluminum,
anodized,
pre-drilled

3,000
©101/8")

% anodized,

057.3174.300

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

m gelgezy 60 HMT Pocket Acoustics

183



m gelgesy 60 HMT Pocket Acoustics

Sets left type Vertical seal for seal set, left, right set type
(horizontal seal set)
No.
No. ) )
- Seal vertical, Hawa Acoustics,
Seal, Hawa Acoustics XS, left 30437 7700 mm (25' 3 5/32"), Silicone, 30300
Seal, Hawa Acoustics S, left 30439 black
; Seal, Hawa Acoustics M, left 30441
Seal, Hawa Acoustics L, left 30443
Seal, Hawa Acoustics XL, left 30445
Sets right type
(horizontal seal set)
No.
Seal, Hawa Acoustics XS, right 30436
Seal, Hawa Acoustics S, right 30438
Seal, Hawa Acoustics M, right 30440
Seal, Hawa Acoustics L, right 30442
Seal, Hawa Acoustics XL, right 30444
Hawa Acoustics horizontal seal set
consisting of:
Position | Bezeichnung Anzahl Typ
Position Désignation Numéro Type
Posttion Designation Number Type
1 Hubdichtung 1 Links/Rechts
Joint de levage Gauche/Droite
Header seal Left/Right
xS 30454
S 30385
M 30455
L 30456
XL 30457
2 Senkdichtung 1 Links Rechts
Joint d'abaissement Gauche Droite
Floor seal Left Right
xS 30446 | XS 30447
S 30387 |S 30383
M 30448 | M 30449
L 30450 | L 30451
XL 30452 | XL 30453
3,4,5,6 | Kleinteileset oben 1 Links 30390 | Rechts 30392
Kit pour petites pieces, supérieur Gauche Droite
Small parts set top Left Right
7,8,9,10 | Kleinteileset unten 1 Links 30416 | Rechts 30417
Kit pour petites pieces, inférieur Gauche Droite
Small parts set bottom Left Right
1 Pocketadapter 1 Links/Rechts 30418
Adaptateur pour caisson a galandage Gauche/Droite
Pocket adapter Left/Right

184 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Definition left, right / door width calculation

Left type (left hand lock)

Ganzifinend  [STB = [WB+ 50
Ouverture compléte —
Fully opening SB=LMB+1%
LMB T=STB+ 72
T=28TB+ 2§

Dichtseite / Coté étanchéité / Sealing side

STB

Teiloffnend
Ouverture partielle
Partially opening

STB = LMB+50
STB=IMB+12]

LMB

T=STB+ 72 -Y

Dichtseite / Cots étanchéits / Sealing ide

T=S8TB+ 25" -v

LMB - Y

STB

Acoustics set determination

LMB
Hawa Acoustics XS 750 - 850
Hawa Acoustics S 850-970
Hawa Acoustics M 970-1100
Hawa Acoustics L 1100 - 1220
Hawa Acoustics XL 1220-1250
LMB
Hawa Acoustics XS [2'5 12 -2'9 &
Hawa Acoustics S (29 38 -3'2 &
Hawa Acoustics M~ |3'2 % -37 %
HawaAcousicsL |37 2 -4 o
HawaAcoustics XL (4 = -4'1 4

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

m gelgezy 60 HMT Pocket Acoustics

Right type (right hand lock)

Ganzoffnend \ STB=LMB +50
Ouverture compléte 5T
Fully opening STB=LMB+1%

T=8TB+ 72 LMB

T=STB+ 2§"

= = = Dichtseite / Coté étanchéité / Sealing side
L STB

Teildffnend STB=LMB + 50
Ouverture partielle
Partially opening STB=LMB + 15

T=STB+ 72 -Y
T=STB + 2&" -Y

p_ Dichtseite / Coté étanchéité / Sealing side

LMB

of - - -
] U
L, LMB - Y
STB
Further installation examples
U+ 15 U+ 15
Us " T
“ lu=z+ 20 “ lu=z+ 20
U=z+ " U=z+ 8"
30 10 30 10
3 T T T
vs| |l o5| |
B — |
1] Il
I _ = .
il I B® gl e
? | |
N = S I
| glHe| ol i
|
| +2
| | +2 I ,
I / ‘ I -2 i
| 32 " o
| 2r +3 3
PRI 2 "
‘ 6 p 3
7= 6(6-25) 35 2
g
10 40 10
13" 11” 13!
32 16 2
| 8= :
e : OIS - S R‘Ey}
| | . i
I 7 - =
pu g
: Fl= Fl=
I
7 23 7 23
5 T
3‘2 32 3 32
|
|
|
|
|
|
: Il | lessx30 Il | |#ssx30
Sulll | 4=
|
! . s
! 8l SIS
|
m #35%25 SIS \h #3525 Sloy
185



m gelgesy 60 HMT Pocket Acoustics

Pocket side view, assembly set Details of end post at lock side

18
23"
32

ko]
k"’f_ﬂ

E

woley ey
U R >

o

S| en
0
9

T = T Tl

10

ey
i3

H“\ 3.5 %35

I
|

| ¢4x50/‘

Assembly set/track installation Pocket

. T U+ 15
LI <[y TR U+ §
32 8 U=Z+ 20
23 [ Qe U=Z+ %g
) gy\,,-”\ 1?%)” 11%0 _
~ ;N
21 Zé‘" %5 m %
" g ]
R 8 L
64 64 64 525 .
7" " 1" S 0|k
235 245 245 275 Bl @ & o @
= &
H gloe| ol L5<D-50
1S<D- 1%
H #35x30 70
-
TT: § e H 27
— L”
— 116
jﬁ{ 7= 6(6-25)
= T gn)
H | 10 40 | | 10
; 13" 1in‘" "Eu
32 16 32

Bottom guide assembly detail

Spring stop

R
1 30
il 1%
ol
A
Glbe Jm - o
6
H * -& °
|
I
I m sl ™ s
110 25 5
4ty % ar

186 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Room-to-room sound attenuation
All reference values have been measured on the basis of a practical design. The Rw sound attenuation values specify the
expected sound attenuation between the two rooms which are influenced by the wall, the system and the choice of door leaf.

Reference values tested with a lightweight construction wall in accordance with James Hardy (type 1 H 31 / Rw 52 dB),
size 2.5 x 2.45 m in accordance with DIN EN ISO 10140-2. Clearance 2.0 x 1.0 m. The sound attenuation relates to the entire
structure and specifies which sound attenuation can be expected between the two rooms.

m gelgezy 60 HMT Pocket Acoustics

Example walls

System

: Thickness
of door leaf :

Type of door leaf

Estimated sound

attenuation
effect

Room to room

i acoustic rating of Rw 42 dB

Rw
Wall with minimum acoustic without Hawa Acoustics Single door leaf without sealing system ~18 dB
rating of Rw 52 dB H :
Single door leaf, approx. 19 kg/m? ~31dB
‘ acoustic rating of Rw 29 dB -
; ; : : : 39 mm !
\I;;ggtngllwts;zr;structlon wall © Hawa Porta 60 HMD Acoustics : Ch|pb?ard, approx. 25 l.<g/m2 ~30dB
i Hawa Porta 100 HMD Acoustics i No defined acoustic rating
= = : i Door leaf with medium sound attenuation
‘HHHHHHHMXXH‘ level approx. 25 kg/m?, ~34 dB
acoustic rating of Rw 39 dB
T 1
: Single door leaf, approx. 20 kg/m? ~30dB
i Hawa Junior 100 B Acoustics acoustic rating of Rw 29 dB
i H Porta 60 HMD A« i - - :
Lightweight construction wall H H:x: PZrt: 100 HMD ;ggislﬁzs 44 mm Door leaf with medium sound attenuation
with wooden stand H level approx. 28 kg/m?, ~ 34 dB
i acoustic rating of Rw 40 dB
: : Door leaf with high sound attenuation
Hawa Junior 100 B Acoustics 50 mm i level approx. 33 kg/m2, ~35dB
i acoustic rating of Rw 42 dB
' ) 1
I [N}
without Hawa Acoustics Single door leaf without sealing system ~20dB
Solid wall Single door leaf, approx. 19 kg/m?, ~31dB
; 39 mm ; tic rating of Rw 29 dB -
i Hawa Porta 60 HMT Pocket Acoustics : acoustic rating ot Aw
i Hawa Porta 100 HMT Pocket Acoustics ¢ Door leaf with medium sound attenuation
: i level approx. 25 kg/m?, ~37dB
i acoustic rating of Rw 39 dB
Acoustic ratings for wall construction : Single door leaf, approx. 20 kg/m? ~324dB
according to manufacturer. The i Hawa Junior 100 B Pocket Acoustics i acoustic rating of Rw 29 dB
laco.usnc values may vary if installed Hawa Porta 60 HMT Pocket Acoustic_s 44 mm ¢ Door leaf with medium sound attenuation
in different wall types. i Hawa Porta 100 HMT Pocket Acoustics level approx. 28 kg/m?, ~ 39 dB
i acoustic rating of Rw 40 dB
H i Door leaf with high sound attenuation
i Hawa Junior 100 B Pocket Acoustics 50 mm i level approx. 33 kg/m?, ~41 dB

Planning/execution

Further information about the product
can be found on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

187



m gejgey 100 H

Fitting for top-running wooden doors up to 100 kg (220 Ibs.), with surface mounted
running track. Optionally with soft and self closing mechanism. Wall or ceiling mounting.

Product highlights I

“Tﬁ Flexibility Ceiling mounting with customer-provided panelling
or integrated clip-on panel in aluminium or wood ——

M Productivity Retrofitting of all components through the provided
assembly opening, prevents contamination during
construction work

Aesthetics Also available in black as a “Black Edition” design
option for a particularly attractive appearance

Technical specifications

[\ Max. 100 kg (220 Ibs.)
$H Max. 2700 mm (8'10 5/16")
Nt
<>  Max. 1600 mm (5'3") /\
»He 30-80 mm (1 3/16" to 3 5/32") —
]
Installation examples
30 63
" 150
135 235 K mit Montagesffnung *
| 05 ’ﬁ(w with assembly opening 11, (66)
- avec ouverture de montage % (2%‘)
N B - A= ;
. - ol e o ) (7] | o Ofe e
8|7 - © ks U n(
S RNIEE Sl P NSy
— SEN - NIE
2 N 28
3u 3n
135 135 +§
. *
b 05x35 80 (139
+3 8 5. 5.
SCREE NiE 33" (75")
e 100 30(85)* 2
150 3 uadlnf| 3n
316 175" (332")| 32
16110 _ 40 _J10 4107) . 40
Su 13 1g., 130 B 9u 11”
8 32 16 32 32 32 16
B - ~| Fie
e = B o
= |+ | - N BN M
£ I :g I e
x X
s o 12 62 12]_s7(027K]
15 Zn 150 4150 ;b
» 275 2 13 &)
12 12 &
150 154 2:"
3 32 L
e ©lswy & [olse
g o = o &
s 04x20 E 04x20 E 5

188 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



m gejgezy 100 H

Set for ceiling or wall mounting, Set for ceiling or wall mounting,
for 1 wooden door up to 100 kg (220 Ibs.) for 1 wooden door up to 100 kg (220 Ibs.)
No. No.
Hawa Porta/Divido 100 H/HC, for 1 door 057.3139.071 Hawa Porta 100 H, with running track, 2000 mm
(6' 6 3/4"), aluminum, anodized, for 1 door 057.3141.071
Hawa Porta 100 H/HC, black, for 1 door 057.3139.075 ’ ’ ’
5|8 5
% % No. g No.
™ ® mm S
% % Set consisting of: (inch) o

Set consisting of:

Running gear,

Running gear, ball bearing, 2 | 057.3114.071

ball bearing, 2 | 2 | 057.3114.071 ! .
; . rollers plastic white
rollers plastic white
. . Stopper, with retention
Stopper, with retention 5 057.3073.072 spring, plastic, gray 2 | 057.3073.072

spring, plastic, gray

Suspension bolt,
M8x32 mm (5/16"x1 1/4"), 2 | 057.0123.104
steel, zinc-plated

Suspension bolt,
M M8x32 mm (5/16"x1 1/4"),| 2 | 2 | 057.0123.104
steel, zinc-plated

. Hexagon locking nut,
& ) . .
& Hexagon 'ank(';r_‘glgt‘:é 2 | 2 | 768.9005.101 2 M8, steel, zinc-plated 2 | 768.9005.101
. C<s =5 | Support bracket,
_&£<s =5 | Support bracket, height - \/-\/ ) )
S -
//‘.\/ and lateral adjustable, 5 | 2| 0573129101 \// height and Igteral adjust 2 | 057.3129.101
\/ steel, zinc-plated able, steel, zinc-plated

Pan head screw,
5x35 mm (3/16"x1 3/8"), 8 | 766.6051.135
steel, zinc-plated

Pan head screw, «;&g
&E{% 5x35 mm (3/16"x1 3/8"), | 8 | 8 | 766.6051.135 AW
steel, zinc-plated

Bottom guide,
with roller, adjustable, 1 | 057.3120.071
plastic, anthracite

Bottom guide,
with roller, adjustable, 1|1 | 057.3120.071
plastic, anthracite

Countersunk head Countersunk head screw,

screw, 4x20 mm ;%@g@ 4x20 mm (5/32"x25/32"), 4 | 766.5042.120
%@% (5/32"x25/32"), 4 766.5042.120 steel, zinc-plated
steel, zinc-plated
. . Track cleaner, plastic, blue 1 | 057.3099.071
Sto_pper, W|tr_1 retention o | 0573073.076 %
spring, plastic, black

/ Running track, 2000
Countersunk head aluminum, anodi- (6"63/4 Y 1 | 057.3016.201
‘ég@% screw, 4x20 mm, 4 | 600.0000.817 zed, pre-drilled

steel, zinc-plated

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 189



m gejgey 100 H

Running tracks

Assembly set

190

mm No.
vl N Assembly set Hawa Porta 60/100, 057.3179.200
5v16,17323” 057.3016.170 2000 mm (6' 6 3/4")
¢ ) Assembly set Hawa Porta 60/100, 057.3179.250
5’603?49 057.3016.200 2oty (& 2 771e
- ¢ ) Assembly set Hawa Porta 60/100, 057.3179.300
/ Running track, 2,500 | 457 3016.250 3000 mm (9' 10 1/8")
aluminum, pre-drilled | @ 27/16")
6,000 8138
(19'8 732") 057.3016.600 GRS
(o2 N>R Ne)]
NN~ No.
cut to o=
. 057.3016.990 AR
size AL RRER
5000 Set consisting of: (inch) o|o|o
6 sqnn | 057:3016.201 Running
track
! 2,000
/ Running track, (8,2;5;22“) 057.3016.251 aluminum, | #9904 057.3174.200
aluminum, anodized, anodized,
pre-drilled 6,000 057.3016.601 pre-drilled
(19' 8 7/32")
Assembly pin,
cut to
utto | 0s7.3016.991 olastio, gray 9 | 11|13 057.0201.001
F%unnintg);I track, yvith (:;5722“) 057.3016.256 Countersunk head
assembly opening, screw, 5x40 mm
aluminum, anodized, i\%@g@ 3/16"] 9/16" 10|12 |14 | 766.3054.140
i cutto | 4573016.998 (816" )
pre-drilled size ) : steel, zinc-plated
1,700 1 057 3048170 Running
(5' 6 15/16") track, 2500
000 aluminum, 8‘;7/16” 1 057.3174.250
~7PY 1 057.3048.200 anodized, | ' )
) pre-drilled
2,500 | 457 3048.250 Running
Combi running track, | 2716" track, 3,000
aluminum, pre-drilled | 3 500 aluminum, ’ 1 | 057.3174.300
057.3048.350 . (9'101/8")
(11'5 25/32") anodized,
pre-drilled
6,000 057.3048.600
(19 87/32")
Panels
cutto | 457.3048.990
size
mm
2,500 (inch) No.
Combi running track, | g 5716 057.3048.255
aluminum, black ‘2'500“ 042.3004.250
anodized, pre-driled | 3500 | 4523040 358 (8'27/16")
(11' 5 25/32") 3.500
>°7% | 042.3004.350
Disposable cover to 2,000 | 5223098001 Clip-on panel, (11 5 25/32")
running track Hawa ©'634" aluminum, anodized 6,000
Porta 45/60/100, cut to o a2y | 042:3004.600
plastic, black size 057.3098.990
cutto | 445 3004.990
size
2,500
Cl"p'."” panel, o aiay | 042:3004.255
aluminum,
black anodized 3,500 042.3004.355
(11 5 25/32")

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Clip-on components

m gejgezy 100 H

Bracket set for wall mounting

No. No.
Clip component for wooden Angle bracket for wall mounting, 057.3005.172
and aluminum panel, 057.3117.001 steel, zinc-plated, 10-piece set ’ ’
every 500 mm (1'7 11/16"), ’ ’
aluminium, pre-drilled ~
N~
Clip component for wooden 3
and aluminum panel, every = No.
500 mm (1'7 11/16"), aluminum, | 0°/-3117:008 8
black anodized, pre-drilled Set consisting of: ]
Soft close Wall mounting angle
For soft closing in opening and closing direction bracket, steel, zinc-plated 10| 057.0169.101
order 2 sets.
Countersunk head screw,
No. &g& M5x12 mm (3/16"x15/32"), 10| 762.5008.100
Soft close Hawa Porta 100, Divido 100, steel, zinc-plated
61-100 kg (133-220 Ibs.), 1 piece 042.3102.071
Soft close Hawa Porta 60/100, Divido 100, Hexagon nut, M5, steel,
10-60 kg (22-132 Ibs.), 1 piece 042.3102.072 zinc-plated 10} 768.9025.100
SR
o| o Bottom guide set for wall mounting
S| No.
AR No.
99
Set consisting of: o|o )
Set bottom guide for 057.3128.171
Soft close, top running, wall mounting, with roller ’ ’
61-100 kg (133 to 1 042.3106.071
220 lbs.), plastic
Trigger for soft close
in buildings, 1|1 | 042.3105.001 No.
zinc die casting
Routing jig for assembly
%0\9 Spening 042.3118.071
?&E{% Screw set soft close 1| 1 |600.0000.566 i
Groove cutter to routing jig,
Soft close, top running, @=10 mm (13/32"), hard metal 600.0000.309
10-60 kg (22 to 132 Ibs.), 1| 042.3106.072
plastic
Track cleaner, plastic, blue 057.3099.071
Cover for assembly opening
No.
Cover cap to assembly opening, 1-piece set 042.3114.071
~
Q
§ No.
@2
g
Set consisting of: o
Cover cap assembly 1 | 042.0172.001
opening, plastic, gray
&E& Screw set soft close 1 1 600.0000.566
Subject to technical modifications. Metric specifications are exact. Inches are approximate. 191




m gejgey 100 H

Assembly set/Wooden panel Optional: Wall mounting
30 30 (14-31)
30 [ QT
1%” 05x40 o 05 12 (Sl
5.
35 7
05 -
RIS
oy 935
- =) T R ] B == o VL%
S = Iy 5 : H 5
H Qe I 8|t ; o gl
== N == Ol 8|2 R
, B T =i ‘“ = N
=2 ] SIS <= & P 57
T _ _ - =I5
2|y S g
: £
1 2.. 1§ -3 %u
i 10,40
+H3 g 134 9.
1 -3 | e
H3 Hg Iz
3 |1 10 25 4915
8 13, 31, 1B
32 2 8
L 04
|
<y ©) ®
. 12,
Aeles 150 ol =
<y 3 gl @@ @ | _ _
. ©] =
o . =\
he =N | u 5
30 |(22-34) 5 815
ST /PNl 3. i
156" (§"132) 76 33

Soft close

= 2
1 19u
 —— DO 1 ) e
7=3535
* B o |1l 2 o 1] 2o 10
Hawa Porta 60/100 HHC 1659 | 1o | 1 11ar | 24 268 298 . *
= Montagedffnung
Hawa Porta 60/100 HMAHMD/HMT | 1' 633" | 197" [10 114" | 243 | 2'65" | 2' 0" o i ] ) assembly opening
29 1 1 3 29, 3 ouverture de montage
Hawa Porta 100 G/GU/GM/GMT | 1'65" | 1' 955" [ 1' 115" | 2'43" | 265" | 2' 935" * B o |1 2] o 1] 2 %
Hawa Porta 100 GF 168" 24 Hawa Porta 60/100 H/HC 480 | 535 | 590 | 730 | 785 | 840
. = : - | Hawa Porta 607100 HWHVID/HWT | 480 | 535 | 500 | 730 | 785 | 840
Hawa Porta 100 GW/GWF Ty | 19" | 11" | 26" | 26" | 2746 | | Hawa Porta 100 G/GU/GM/GMT | 480 | 535 | 500 | 730 | 785 | 840
Hawa Porta 100 GMD 175 ek (11| 2rsd |27k |27 | | Hawa Porta 100 GF 480 730
Hawa Porta 100 GW/GWF 512 | 542 | 590 | 762 | 792 | 840
Hawa Divido 100 H/HM/GR 1‘6%“ 1o | 1 11g 2\4%- 2 6%” o 9% Hawa Porta 100 GMD 488 [539 | 590 | 738 | 789 | 840
— s T G T oo o o5 To 5. | Hawa Divido 100 HHM/GR 480 | 535 | 590 | 730 | 785 | 840
Hava Divido 100 GRM 185" 111057 10" | 2°6" | 2'855" 12'10%" | 'Hawa Divido 100 GRM 512 | 567 | 622 | 762 | 817 | 872

Beidseitig gedampfte Ausfiihrungen ohne stirn-
seitigen Zugang erfordern zwei Montagedffnungen| > 570
Versions with soft closing mechanism at both 7
sides without access from the leading edge
require two assembly openings

Les versions avec amortissement bilatéral sans Z=> 2‘-9%"
acces frontal exigent deux ouvertures de montage.

Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be
— General accessories from page 518 found on www.hawa.com.

192 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



100 H Synchro

Fitting for 2 synchronously opening wooden doors up to 100 kg (220 Ibs.),
with surface mounted running track. Wall or ceiling mounting.

Product highlights
S Flexibility Standard applications can be extended with —
the Synchro option
{pr Comfort Two doors open simultaneously and make
large openings possible
Aesthetics Also available in black as a “Black Edition” design
option for a particularly attractive appearance
Technical specifications
[\ Max. 100 kg (220 Ibs.)
w Max. 2700 mm (8'10 5/16")
&2 Max. 1200 mm (3'11 1/4") /‘/\
)« 30-80 mm (1 3/16" to 3 5/32") |
_
Installation examples
30
11”"
|08 19
| %
4
@ S SN H(e
e L L gl :
N B | | <k L
= EE ] o
28
155"
1 80 05x35 80
H1 T2 = =
SCIER 3% 3%
100 30 10
16 (10|, 40 _|10
5 18, 48w 13
8 32 16 32
alds o o Ly =R
. o @ @ ©- = JN [3e) v_Jq,
i = —_— b ﬂggfgg_.: KUy My M
ok 135.5 35 12 62 12| 37
12 65
ol % 0 o _______]
|| 2|5 Ja- ‘ QT a,"z""
Ao i 0

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 193



100 H Synchro

Set for ceiling mounting,
for 1 wooden door up to 100 kg (220 Ibs.) (order 2x)

Synchro set

No.

No. Hawa Porta 60/100 H/HC and 042.3027.072
Hawa Porta/Divido 100 H/HC, for 1 door 057.3139.071 Hawa Divido 100 H, Synchro, for 2 doors ' '
Hawa Porta 100 H/HC, black, for 1 door 057.3139.075
5
~ |0 N
5|58 % No.
[©2NNe)] i
O ® No. g
o |, Set consisting of: )
5|5 /
Set consisting of: o|o P
. — Deviating roller, ball bearin 2 | 055.0101.001
Running gear, \a 9 9
ball bearing, 2 | 2 | 057.3114.071
rollers plastic white
’ Cable safety,
ot i retenti &P steel, zinc-plated 2 | 056.0124.101
opper, with retention 2 057.3073.072
spring, plastic, gray /
Clamp piece,
Suspension bolt, ]( steel, zinc-plated 2 | 057.0113.101
M M8x32 mm (5/16"x1 2 | 2 | 057.0123.104
1/4"), steel, zinc-plated
. Kevlar cable
Hexagon locking nut, ; " 1| 752.0059.104
S _
& M8, steel, zinc-plated 2 | 2 | 768.9005.101 D= 2.5 mm (3/32")
2> Support bracket, height Flat washer, M5, 5.3/15/2 mm
Z and lateral adjustable, 2 | 2| 057.3129.101 (3/16"/19/32"/3/32"), 2 | 600.0000.681
\/ steel, zinc-plated — steel, zinc-plated
Pan head screw, Rounded head screw,
&E{%) 5x35 mm (3/16"x1 3/8"), | 8 | 8 | 766.6051.135 &g&@ 5x25 mm (3/16"x31/32"), 2 | 762.9455.000
steel, zinc-plated steel, zinc-plated
Bottom guide, Head cap screw, with flange,
with roller, adjustable, 1|1 | 057.3120.071 %@gb M5x10 mm (3/16"x13/32"), 4 | 762.9365.000
plastic, anthracite ) steel, zinc-plated
g Counte‘rts;rak head %g Pan head screw,
Q screw, ax2l mm 4 766.5042.120 Ny 5x35 mm (3/16"x1 3/8"), 4 | 766.6051.135
N (5/32 X?5/32 ), steel, zinc-plated
steel, zinc-plated
Sto_pper, W|tr_1 retention > | 057.3073.076
spring, plastic, black
Countersunk head
Ay, | screw, 4x20 mm, 4 | 600.0000.817

steel, zinc-plated

194

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Running tracks

Assembly set

100 H Synchro

mm No.
=) N Assembly set Hawa Porta 60/100, 057.3179.200
5v16,1731(;” 057.3016.170 2000 mm (6' 6 3/4")
¢ ) Assembly set Hawa Porta 60/100, 057.3179.250
(5’62?49‘) 057.3016.200 | | 2200 mm (8"27/16")
/ Running track, 2500 égggr?nbg (59?25"";‘78"’},;’ G AL, 057.3179.300
aluminum, i 057.3016.250
) (8'27/16")
pre-drilled
6,000 glgls
o s 1r0mey | 057:3016.600 RIS
cut to ‘,o\: g ‘,o:a No.
Y 057.3016.990 AR
Size mm S B B
5000 Set consisting of: (inch) oo |o
©63/4) 057.3016.201 Running
track
2,500 ! 2,000
/ Running track, sy | 057:3016.251 aluminum, | 5| 057.3174.200
aluminum, anodized, anodized,
pre-drilled 6,000 057.3016.601 pre-drilled
(19' 8 7/32")
Assembly pin,
cut to
size 057.3016.991 plastic, gray 9 | 11]13| 057.0201.001
Runninéil track, with (8,2;5722“) 057.3016.256 Countersunk head
assembly opening, screw, 5x40 mm
aluminum, anodized, | out to sy (3/16'x1 9/16", 10|12 14 | 766.3054.140
pre-drilled size 057.3016.998 steel, zinc-plated
1,700 1 057 3048170 Running
(5' 6 15/16") track, 2500
2000 aluminum, s-;me“ 1 057.3174.250
~7PY 1 057.3048.200 anodized, | ' )
) pre-drilled
2,500 | 57 3048.250 Running
Combi running track, | (82716") track, 3,000
aluminum, pre-drilled | 3 500 aluminum, | 1 | 057.3174.300
057.3048.350 . 9'101/8")
(11" 5 25/32") anodized,
pre-drilled
6,000 057.3048.600
(19' 8 7/32")
Panels
cutto | 4573048.990
size
mm
2,500 inch No.
Combi running track, | g 5716 057.3048.255 (=)
aluminum, black 2,500 1 45 3004.250
anodized, pre-drilled 3,500 057.3048.355 ®'27/16")
(11' 5 25/32") 3500
: 2000 _ > | 042.3004.350
Disposable cover to ) 057.3098.001 Clip-on panel, (11'5 25/32")
running track Hawa (©'6347 aluminum, anodized 6.000
Porta 45/60/100, cut to o5y | 042:3004.600
plastic, black size 057.3098.990
cutto | 545 3004.990
size
2,500
Cllip-on panel, alu- © 2716 042.3004.255
minum,
black anodized 3'500 042.3004.355
(11 5 25/32")
Subject to technical modifications. Metric specifications are exact. Inches are approximate. 195




100 H Synchro

Clip-on components

No.

Clip component for wooden
and aluminum panel,

every 500 mm (1'7 11/16"),
aluminium, pre-drilled

057.3117.001

Clip component for wooden
and aluminum panel, every
500 mm (1'7 11/16"), aluminum,
black anodized, pre-drilled

057.3117.005

Accessories

No.

Track cleaner, plastic, blue

057.3099.071

Wooden panel/aluminum panel

Assembly set

30
13 05x40
16
Tt (-;‘LD
2 e glse
ks 8% I EN e
- B|og B h -
Qs R 9 &lzoley
SIER Sl
-] 0] T
28 rs) 28
3 3
1
+1 T3
1n L ..
i 33 H1 H33
T -13 T
Calculations
Schienenlénge/track length/Longueur du rail S=(2xR0) + 120
Schienenldnge/track length/Longueur du rail S=(2xR0) + 4%-
50 Rahmendffnung/frame opening/Ouverture du cadre = RO 50
130 130
32 32
[T T m—
‘\ &\7 I} T ‘rﬁﬁoi g} T i N} T T { LI A‘ﬂ J‘
] [
TB=R0+98  TB=RO+3{" { 18
7 %
In der Mitte 1 Stopper mit Arretierungskraft ( rechte Ttire )
ol 10 In the middle 1 stopper with retention spring ( right door) 8 10,
%“ Dans le centre 1 butée avec force ( porte a droite ) %
J
(= 2l T
| i E] 437;:% Tt o e
] [
Accessories Planning/execution

— Lock solutions from page 511
— General accessories from page 518

196

Further information about the product can be
found on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [[Z3%Y 100 HC

Fitting for top-running wooden doors up to 100 kg (220 Ibs.), with surface mounted
running track. Optionally with soft and self closing mechanism. Wall mounting.

Product highlights \/

“Tﬁ Flexibility Wall mounting with integrated clip-on panelling in —
wood or aluminium with stylish end pieces I \\]
M Productivity Retrofitting of all components through the provided
assembly opening, prevents contamination during
construction
Aesthetics Also available in black as a “Black Edition” design
option for a particularly attractive appearance
Technical specifications ]
[\ Max. 100 kg (220 Ibs.)
w Max. 2700 mm (8' 10 5/16")
&2 Max. 1600 mm (5' 3") /\
5[e 30-45 mm (1 3/16" to 1 25/32") | —

Installation examples

¥ mit Montagedffnung
60 475 716 5 19 with assembly opening 9 (ee)* 1015
05 3. 05 7 O | 5 3013 avec ouverture de montage 31, 19m - 3 1«
\ % \ 5w |8 i || 7 3 3" 6
. = —
. L g ‘ L ©| 5o ] s i
&[N = S| &[N =S| . I ° olfe HMHe |
e gl i glde 9| : [CYeH 2l
- - q N . — 035 O] dq O N
Q| = Qe e s =
d = - S|y E
SIER] =i SR = EEN - =
28 o[ 28 12
3u 3
135 135 .
+3 +3 P5x35 *
13 -3 80 (137)
35" (5%..)
NEN +1 100 30 (87
15, 3 walm
REE % a2 136l
10, 40 6| 10 40 5
13u wiu a 13, 1@.. 3.
2 6 32 2 6 16
N~
S
= T ; o 05 ]
3|21 Q|2 —| IS
| N NS
W= I = 12 62 12 37(94)*
15, 7n 150 415u 11w
HE FlE . 25 » 13%'6%)
1 12 65
150 9.
b @ I
S 2| dieo 8 ©|Sico ol =
= (ol e (ol /’_E‘jm\v
183 ] 7 7~ |
? g\ D4x20 ? a 04x20 g g E

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 197



'Hawa [[Z31%Y 100 HC

Set for wall mounting,
for 1 wooden door up to 100 kg (220 Ibs.)

Set for wall mounting,

for 1 wooden door up to 100 kg (220 Ibs.)

No. No.
Hawa Porta/Divido 100 H/HC, for 1 door 057.3139.071 Hawa Porta 100 HC, with running track
Hawa Porta 100 H/HC, black, for 1 door 057.3130.075 | [ e S T 057.3143.071
anodized, for 1 door
~— | O
~ | —
o | o N~
o | o o
[ N) No. ]
®| o i No.
Set consisting of: g; 5 mm CBO
g ot Set consisting of: (inch) o
Running gear, Running gear,
ball bearing, rollers, 2 | 2| osr3t14.0n ball bearing, rollers, 2 | 057.3114.071
plastic, white plastic, white
Stopper, with retention . .
spring, plastic, gray 2 057.3073.072 Sto.pper, W|th retention > | 057.3073.072
spring, plastic, gray
fﬂ%i%znrsr::)nn bot, Suspension bolt,
M \ " 2 | 2 | 057.0123.104 M8x32 mm (5/16"x1 1/4"), 2 | 057.0123.104
(5/16"x1 1/4"), steel, A
: steel, zinc-plated
zinc-plated
. Hexagon locking nut,
Hexagon locking nut, . 2 | 768.9005.101
> L _
M8, steel, zinc-plated 2 | 2| 768.9005.101 M8, steel, zinc-plated
. C<e Support bracket, height
RS Support bracket, height - \/-\/ A
S
" | and lateral adjustable, | 2 | 2 | 057.3129.101 \// ;:,i_lafztrggadjusmble’ steel, | 2 | 057.3129101
\/ steel, zinc-plated P
Pan head screw, Al gfgshr?q?r(nj (Z%%Y'vh 3/8") 8 | 766.6051.135
%Eﬂ% 5x35 mm (3/16"x1 3/8"), | 8 | 8 | 766.6051.135 W ] ’ ’ ’
e . steel, zinc-plated
steel, zinc-plated
. . Bottom guide
Bottom guide, with ) !
roller, adjustable, 111 | 057.3120.071 with roller, adjustable, 1 | 057.3120.071
; . plastic, anthracite
plastic, anthracite
Countersunk head %gﬁ;@ 4002u(? tersti(gﬁszeag;g;e\)lv, 4 | 766.5042.120
screw, 4x20 mm ENCD Xl mm "X ") . :
S‘%Eﬁ@ (5/32"x25/32"), steel, 4 766.5042.120 steel, zinc-plated
zinc-plated
. . End cap, plastic, anthracite 1| 057.3132.071
Stolpper, W|th retention > | 057.3073.076
spring, plastic, black
Fixation clip for wooden and
Counte‘rtsunk head aluminum panel, 2-piece set 1| 057.3126.071
screw, 4x20 mm
g‘%g,% (5/32"x25/32"), 4 | 600.0000.817 Clip component for wooden
steel, zinc-plated and aluminum panel, every
500 mm (1’ 7 11/16"), 5 | 057.:3117.001
aluminum, pre-drilled
% Track cleaner, plastic, blue 1 | 057.3099.071
Single running
% track, aluminum, 2,000 | 4| 5575112199
anodized, (6'63/4")
pre-drilled
Clip-on panel,
aluminum, 2:000 11 | 042.3004.199
anodized ( )

198

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Running tracks

'Hawa [[Z3%Y 100 HC

Fixing clamp for the end pieces of wooden or aluminum

panels
mm
(inch) No. No.
2,500 057.3112.250 Fixation clip for wooden and aluminum panel, 057.3126.071
(8'27/16") 2-piece set
3,500
Running track, (15 25/32") 057.3112.350 _
aluminum, anodized, S
pre-drilled 6,000 | 4573112.600 g No
(19' 8 7/32") N .
(]
tt . 5
C;Jize" 057.3112.990 | Set consisting of: 3
] 2500 % Fixation clip for wooden
Running track, o2 | 057.3112.255 & and aluminum panel, steel, | 2 | 057.3126.101
aluminum, (8"27/16") zinc-pl
) plated
black anodized, 3,500
pre-drilled (18 25/32") 057.3112.355 .
Panel end component set, 59 mm (2 5/16"), aluminum,
Running track, 2,500 30617 for running track 057.3112.xxx
. (8'27/16")
extended spacing No
of +9 mm (11/32") 6,000 30618 :
between door and (19' 8 7/32") Panel end component set, with fixation clip,
wall, aluminum, cut to 59x60 mm (2 5/16x2 3/8"'), aluminum, black 042.3028.056
anodized, pre-drilled size 30668 anodized
Panel end component set, with fixation clip,
Running track, 82;5722 30619 59x60 mm (2 5/16x2 3/8"), aluminum, anodized 042.3028.076
extended spacing ( )
of +20 mm (25/32") 6,000 © | w©
between door and (19' 8 7/32") 30620 8 '5_
wall, aluminum, AR
anodized, pre-drilled | ' 30669 S|g ACE
ol | o
Set consisting of: 3|3
Panels
Panel end component,
mm o0 mm (2 5/167), 1| | 042.3028.956
(inch) No. aminum,
black anodized
2,500 | 445 3004.250
! " : : Bracker connector,
(8'27/16") s
3.500 steel, zinc-plated 2| 2| 057.3051101
’ 042.3004.350 - -
Clip-on panel, (11' 5 25/32") q Fixation clip for wooden
aluminum, anodized 6.000 and aluminum panel, 1|1 | 057.3126.101
’ 042.3004.600 steel, zinc-plated
(19' 8 7/32")
cut to - Screw, M4x2.6 mm
sipe | 042:3004.990 (5/32"x 1/8"), 4|4 011.0101471
steel, zinc-plated
Cli | al 2,500 042.3004.255
mift]?qn panel, alu- ®2718") ] ] Panel end component,
lack S 3,500 59 mm (2 5/16“),. 1 | 042.3028.906
black anodized (11" 5 25/32") 042.3004.355 aluminum, anodized
Clip-on components
No.
Clip component for wooden
and aluminum panel, every
500 mm (1' 7 11/16", 057.3117.001
aluminum, pre-drilled
Clip component for wooden
and aluminum panel, every
500 mm (1' 7 11/16"), aluminum, | 027-3117:005
black anodized, pre-drilled
Subject to technical modifications. Metric specifications are exact. Inches are approximate. 199



'Hawa [[Z31%Y 100 HC

Panel end component set, 79 mm (3 1/8"),

can be shortened, aluminum, for running track 30617,

30618, 30619, 30620, 30668, 30669

Soft close

For soft closing in opening and closing direction

order 2 sets.

No. No.
Panel end component set, with fixation clip, Soft close Hawa Porta 100, Divido 100,
59x60 mm (3 1/8x2 3/8"), aluminum, anodized 30593 61-100 kg (133 to 220 Ibs.), 1 piece 042.3102.071
Soft close Hawa Porta 60/100, Divido 100,
10-60 kg (22 to 132 Ibs.), 1 piece 042.3102.072
No. I
@ -
3 5|5
Set consisting of: & ,8 ,% No.
™| M
Panel end component, L 9 g
79 mm (3 1/8"), aluminum, | 1 30590 Set consisting of: S|°
anodized
Soft close,
Bracker connector, top running, 61-100 kg 1 042.3106.071
steel, zinc-plated 2 | 057.3051.101 (133 to 220 Ibs.), plastic
qQ Fixation glip for wooden Trigger for
X and aluminum panel, steel, | 1 | 057.3126.101 soft close in buildings, | 1 | 1 | 042.3105.001
zinc-plated zinc die casting
- Screw, M4x2.6 mm
(5/32"x 1/8"), steel, 4 | 011.0101.171
zinc-plated %@% Screw set soft close 1] 1 |600.0000.566
End cap set for running track 057.3112.xxx Soft close, top running,
N 10-60 kg (22 to 132 Ibs.), 1| 042.3106.072
o plastic
End cap set, with fixation clip, plastic, anthracite 057.3132.072
Cover for assembly opening
:
%' . No.
o ’ Cover cap to assembly opening, 1-piece set 042.3114.071
NG
Set consisting of: 3
~
Q
End cap, plastic, anthracite 1 | 057.3132.071 E No.
(3p)
g
q Fixation clip for wooden Set consisting of: °
and aluminum panel, 2 | 057.3126.101

steel, zinc-plated

200

Cover cap assembly
opening, plastic, gray

042.0172.001

Screw set soft close

600.0000.566

No.

Set bottom guide for
wall mounting, with roller

057.3128.171

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Accessories

No.

Routing jig for assembly
opening

042.3118.071

Groove cutter to routing jig,
@= 10 mm (13/32"), hard metal

600.0000.309

Track cleaner, plastic, blue

057.3099.071

Further installation examples
Wall mounting rails with extended spacing of +9 mm/+20 mm
(11/32'/25/32") between door and wall.

69 80
05 o230 05 354
32 32
- 5 b 5 s
oS M Tglde pss T2 e " o|de
B = I\
e = q = ol 1 T wolz
NS d NElS ez g o &l
2|y — e SIEN — e
28 o[ 28 B
3. 3,
135 1
% 43 % 43
-3 -13
1u 1u
g g
o2l @98
190 4 _ ol 30 a0 _l6 o
= 3 9. 7. T= x 13 PR Tl
6 32 2 16 6 32 Bl
== ==
Optional: Wall bracket bottom guide
10 25 41.5
3] 3 150
32 32 8
h| 04
<y ® ®
e
Szl 0l -
< gl @ __ =
o ,_=v‘:, ©tdico
[ £ : : v
30 |(22-34) 5 81.5
3w (In_q 1w . T
16" (513" i 33
Calculations of clip-on panels
6.3 Schiene/Track/Rail 5 Schiene/Track/Rail Schiene/Track/Rail 115
5 || du 3. 7.
8 ||8 6 16
S =
o g 97 S
3/de B B|a ur B2
[ [ 1 1
Holzblende/Wooden fascia/Cache en bois Clipblende/Clip fascia/Cache a clipser Clipblende/Clip fascia/Cache & clipser
= Schiene/Track/Rail + 19 (3") = Schiene/Track/Rail = Schiene/Track/Rail + 10 (13) 15
Tu
6

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

201



'Hawa [[Z31%Y 100 HC

Soft close

=
P o———————1) O) 1 2
* B o | 112 o1 ]o
Hawa Porta 60/100 HHC 1659 | 1o | 1 1dr | 243 | 262 293 . *
= Montagedffnung
Hawa Porta 60/100 HM/HMD/HMT | 1'633" | 1" 97" [10 114" | 243 | 2'653" | 2/ 9" ] 2 assembly opening
29 1 1 3 29, 3 ouverture de montage
Hawa Porta 100 G/GW/GM/GMT | 1'65" | 1'9¢g" | 1" 115" | 2'43" | 265" | 2' 935" * B o |1 |20 1] 2 o
Hawa Porta 100 GF 162 24 Hawa Porta 60/100 H/HC 480 | 535 | 590 | 730 | 785 | 840
- = 1 - | [[Hawa Porta 60/100 HWHVD/HWIT | 480 | 535 | 500 | 730 | 786 | 840
Hawa Porta 100 GW/GWF V83" | 19" | 112" | 26" 126%" | 276" | | Hawa Porta 100 6/6/GMGMT | 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GMD 17 1o | 1 1dr | 25 | 207k |27 | | Hawa Porta 100 GF 480 730
Fawa Porta 100 GW/GWF 512 [ 542 | 590 | 762 | 792 | 840
Hawa Divido 100 H/HM/GR 1683 | 1ok |10 11d | 2143 | 268 | 2 o | | Hawa Porfa 100 GMD 488 539 | 590 | 738 | 789 | 840
— B T b | o T e oo iv] | Hawa Divido 100 H/HM/GR 480 | 535 | 590 | 730 | 785 | 840
Hawa Divido 100 GRM 183" 11105 110y | 26" | 285" 121059" | e Divido 100 GRM 512 | 567 | 622 | 762 | 817 | 872

Beidseitig gedampfte Ausfiihrungen ohne stirn-
seitigen Zugang erfordern zwei Montagedffnungen|
Versions with soft closing mechanism at both
sides without access from the leading edge
require two assembly openings

Les versions avec amortissement bilatéral sans
acces frontal exigent deux ouvertures de montage.

Soft close

Z= >320
1+ 190
1 2 =15
Z=>480
* EC] o |1 |2 o | 1|0 o
Z=>1-6%
Hawa Porta 60/100 HHC e | 1rek |1 | 24 |26 |20
29 ] ] 3 2 3 l= * Montagedffung
Hawa Porta 60/100 HM/HMD/HMT | 1'653" | 1" 97k" | 1" 113" | 2'4d | 2' 62" | 2' 0 ) ) assembly opening
ouverture de montage
Hawa Porta 100 G/GU/GM/GMT | 1'62" | 1975 [1'11J | 2143 | 2768 | 2' 9" * 0o |1 | 2 @
Hawa Porta 100 GF 1 623" 24 Hawa Porta 60/100 H/HC 480 | 535 | 590
= = : % > [ Hawa Porta 60/100 HWHMD/HMT | 480 | 535 | 590
Hawa Porta 100 GW/GWF V8" |19 | V'T1a"| 26" 265" | 276" | | Hawa Porta 100 G/GW/GM/GMT | 480 | 535 | 500
Hawa Porta 100 GMD 17 et | 1 |2 sk |2 7k | 217 | | Hawa Porta 100 GF 480
Hawa Porta 100 GW/GWF 512 | 542 | 590
Hawa Divido 100 H/HW/GR It 6%” T 9%.. T H%“ 2 4%.. Py 6%" Y g%" Hawa Porta 100 GMD 488 | 539 | 590
— T o o5 1o oif| | Hawa Divido 100 HHW/GR 480 | 535 | 590
Hawa Divido 100 GRM 185" (110" 110" | 26" | 2'8%" |2/ 105" | jaua Divido 100 GRM 51 Teer Tom2
h’ﬂ*—/\_’ F=s =
2570
>1-10%"
1 2=>730
7=>2-4
Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be found
— General accessories from page 518 on www.hawa.com.

202 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



100 HC Synchro

Fitting for 2 synchronously opening wooden doors up to 100 kg (220 Ibs.), with surface
mounted running track. Wall mounting.

Product highlights

“Tﬁ Flexibility Standard applications can be extended with
the Synchro option
QQ(P Comfort Two doors open simultaneously and make large, T ——
fully accessible openings possible —

Aesthetics Also available in black as a “Black Edition” design
option for a particularly attractive appearance

Technical specifications ]‘
[\ Max. 100 kg (220 Ibs.)
w Max. 2700 mm (8' 10 5/16")
1 L /\
£2  Max. 1200 mm (3' 11 1/4") | —
P
9He 30-45 mm (1 3/16" to 1 25/32") P
Installation examples
60 9 _1015
110 [3d| 1
05 2 2| B2
Jee Jos ik
(™l o™l sHMHe
- u - 1l e
| 1 82 =l ]
- L - q ©
N &= | < N f
SER SR 9
28 o] 12
13" 7 7 g e
% +1 05x35 16
80
5n
33
Has" 100 30
1. T 130
g 16 16
10l 40 _l
B 490 Lo
32 16 32
Otéo sy
© © ym— ==
- . o v () 0N = i o M
B[ tarat NS =S
==z 1355 35 12 62 1|, %7
Ll " " 15u 7u 150 15u
= 53 1 k2 275 % 1%
65
12
©| 5o =R .
- ~[olSy _ Y
04x20

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 203



100 HC Synchro

Set for ceiling mounting,
for 1 wooden door up to 100 kg (220 Ibs.) (order 2x)

Synchro set

No.

No. Hawa Porta 60/100 H/HC and Hawa Divido 100 H,
— 042.3027.072
Hawa Porta/Divido 100 H/HC, for 1 door 057.3139.071 Synchro, for 2 doors
Hawa Porta 100 H/HC, black, for 1 door 057.3139.075
5
— N
S g S No.
| o (5}
® |0 No. &
o |, Set consisting of: o
5|5 «
Set consisting of: oo
N/, Deviating roller, ball bearin 2 | 055.0101.001
Running gear, \a 9 9
ball bearing, 2 | 2 | 057.3114.071
rollers, plastic, white
’ Cable safety,
st th retent e steel, zinc-plated 2 | 056.0124.101
, % Clamp piece, 2 | 057.0113.101
Suspension bolt, ]& steel, zinc-plated s
M M8x32 mm (5/16"x1 1/4"), | 2 | 2 | 057.0123.104
steel, zinc-plated
. Kevlar cable
Hexagon locking nut, ; " 1| 752.0059.104
S _
& M8, steel, zinc-plated 2 | 2 | 768.9005.101 D= 2.5 mm (3/32")
€ > | Support bracket, height Flat washer, M5,
Z and lateral adjustable, | 2 | 2 | 057.3129.101 5.3/15/2 mm 5 | 600.0000.681
\/ steel, zinc-plated \_/ (8/16"/19/32"/3/32"),
steel, zinc-plated
‘%E Pan head screw, Rounded head screw,
X 5x35 mm (3/16"x1 3/8"), | 8 | 8 | 766.6051.135 . .
B steel, zinc-plated %@& 5x25 mm (8/16"x31/32"), 2 | 762.9455.000
steel, zinc-plated
Bottom guide, .
. . Head cap screw, with flange,
with roller, adjustable, 1|1 | 057.3120.071 R N
plastic, anthracite &g&@ M5x10.mm (8/16"x13/32"), 4 | 762.9365.000
steel, zinc-plated
Countersunk head
screw, 4x20 mm Pan head screw,
&g&a (5/32"x25/32"), steel, 4 766.5042.120 %@{gb 5x35 mm (3/16"x1 3/8"), 4 | 766.6051.135
zinc-plated steel, zinc-plated
Sto_pper, W|tr_1 retention > | 057.3073.076
spring, plastic, black
Countersunk head
screw, 4x20 mm
N (5/32"x25/32"), steel, 4 | 600.0000.817

zinc-plated

204

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Running tracks

100 HC Synchro

Panel end component set, 59 mm (2 5/16"), aluminum,
for running track 057.3112.xxx

mm
(inch) No. No.
2,500 057.3112.250 Panel end component set, with fixation clip,
(8'27/16") 59x60 mm (2 5/16x2 3/8"'), aluminum, black 042.3028.056
anodized
Running track 8,500 057.3112.350 = :
lurmi ’d' d (11" 5 25/32") Panel end component set, with fixation clip, 042.3028.076
auminum, anodized, - 0o 59x60 mm (2 5/16x2 3/8"), aluminum, anodized "oPes:
pre-drilled ’ 057.3112.600
(19' 8 7/32")
B8R
cutto | 957.3112.900 3|s
size LS N
o | O .
Running track, 2,500 | 57 3412.055 o &
aluminum, @2mnen Set consisting of: 3|3
black anodized, 3,500
pre-drilled (11" 5 25/32") 057.3112.355 Egnel en2d5(;<1)g:ponent,
mm ( ) 1 042.3028.956
Running track, 20500 30617 alrminum,
extended spacing ( ) ack anodize
of +9 mm (11/32") 6,000 Bracker connector,
between door and (19'87/32") 30618 steel, zinc-plated 2 | 2| 057.3051.101
wall, aluminum, cut to
anodized, pre-drilled . 30668 q Fixation clip for wooden
size and aluminum panel, 11| 057.3126.101
Running track, (:ﬁgg,) 30619 steel, zinc-plated
extended spacing i Screw, M4x2.6 mm
of +20 mm (25/32") 6,000 30620 (5/32"x 1/8"), steel, 4| 4| 011.0101.171
between door and (19' 8 7/32") ‘ zinc-plated
wall, aluminum, cutto
anodized, pre-drilled size 30669 Panel end component,
59 mm (2 5/16"), 1 | 042.3028.906
aluminum, anodized
Panels
ym Panel end component set, 79 mm (3 1/8"),
(L) ! can be shortened, aluminum, for running track 30617,
2,500 042.3004.250 30618, 30619, 30620, 30668, 30669
(8'27/16")
No.
3,500 1545 3004.350 T—
Clip-on panel, (11' 5 25/32") Panel end component set, with fixation clip, 30593
aluminum, anodized 6.000 59x60 mm (3 1/8x2 3/8"), aluminum, anodized
’ 042.3004.600
(19' 8 7/32")
cutto | 545 3004.990
size N
2,500 2 >
Clip-on panel, & 27716 042.3004.255 s o ] 9
aluminum, et consisting of: ®
black anodized (11?';52’222”) 042.3004.355 Panel end component,
79 mm (3 1/8"), aluminum, 1 30590
. anodized
Clip-on components
Bracker connector,
No. steel, zinc-plated 2 | 057.3051.101
Clip component for wooden Fixation clip for wooden
and aluminum panel, every e '
500 mm (1" 7 11/16"), aluminum, 057.3117.001 X and aluminum panel, 1| 057.3126.101
pre-drilled steel, zinc-plated
Clip component for wooden Screw,
and aluminum panel, every 057.3117.005 M4x2.6 mm (5/32"x 1/8"), 4 | 011.0101.171

500 mm (1' 7 11/16"), aluminum,
black anodized, pre-drilled

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

steel, zinc-plated

205



100 HC Synchro

End cap set for running track 057.3112.xxx

No.
End cap set, with fixation clip, plastic, anthracite 057.3132.072

No.

057.3132.072

Set consisting of:

End cap, plastic, anthracite 1 | 057.3132.071

» Fixation clip for wooden
% and aluminum panel, 2 | 057.3126.101
steel, zinc-plated

Bottom guide set for wall mounting

No.
t bottom guide for
Set bottom guide fo 057.3128.171
wall mounting, with roller
Accessories
No.
Track cleaner, plastic, blue 057.3099.071
Further installation examples Wooden panel
Wall mounting rails with extended spacing of +9 mm/+20 mm
(11/32'/25/32") between door and wall. 475 7_ 16
v 9| Su
— s @] |8
69 =l 5e 2| Sio
05 23 05 o[ I
] 2 gl
. 035
- p{INT X I &k E 1' 1
oIS My gl oyl _‘ﬁzgmw . -+
4 B 1 o o ohs N 2 N
SIS J NS IS IS 3
E 130
(=Y = (=Y (R 32 1
=28 ) 2] o) +
28 o3|l o |l -
15
+3 +3 ;
-3 -3 +3"
e
8
" +" 10l 40 _B
8 2 L) 8 a = 3
19 40 16 o 30 40 _16 o
x 3 9. 7. =z T 3. 9. L. =
¢ W %@ AT 6 6 32 AT
= E =&

206 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



100 HC Synchro

Optional: Wall bracket bottom guide

10 25 415
.
13, 31 18
32 32 8
L 04
P
<y 0 ® ®
O ey :
|5l 150 ol-
my 2 gl @ @ | — —
- o] =
e S T F
30 [(22-34) 5 815
34 Zuq1dw 3 7
6 (51 76 £
Calculations of panels
16 3 Schiene/Track/Rail 5 Schiene/Track/Rail Schiene/Track/Rail 115
Su || In 3. 7
8 |8 6 16
= =
- : 97 3
z Rwofe Q| e
3/ o' = B o
f T f I
Holzblende/Wooden fascia/Cache en bois Clipblende/Clip fascia/Cache a clipser Clipblende/Clip fascia/Cache a clipser
= Schiene/Track/Rail + 19 (%“) = Schiene/Track/Rail = Schiene/Track/Rail + 10 (%‘) 15
il
6
Calculations
Schienenlénge/track length/Longueur du rail S=(2xR0) + 120
Schienenlange/track length/Longueur durail S=(2xR0) + “'
50 Rahmentffnung/frame opening/Ouverture du cadre = RO 50
131 13
32 32
(O) a0 A P R— o v of o Aoy 00—t {5 o] (O)
TB-RO+98  TB=RO+% g 18
2 2 3"
In der Mitte 1 Stopper mit Arretierungskraft ( rechte Tire )
In the middle 1 stopper with retention spring ( right door )
Dans le centre 1 butée avec force ( porte a droite ) 18
133 R -9 o
Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be found

— General accessories from page 518 on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 207



'Hawa [[1%Y 100 HM

Fitting for top-running wooden doors up to 100 kg (220 Ibs.), with surface mounted
running track or running track flush with the ceiling. Optionally with soft and self closing

mechanism. Ceiling mounting. Minimal installation height.

Product highlights \=\
“Tﬁ Flexibility Ceiling-integrated or surface-mounted installation
with the same system
M Productivity = Tool-less door mounting
Technical specifications
[\ Max. 100 kg (220 Ibs.)
w Max. 2700 mm (8'10 5/16")
€2 Max. 1600 mm (5'3")
)« 30-80 mm (1 3/16" to 3 5/32") I L—

Installation examples

-

30 ' )
g o 5 Koo Ky
19 |Ls
g// ﬁ avec ouverture de montage 2" [i6
5 e - - . —de =
&N 3| & 3|k _ Ol (&)
ol Fio ki
Al alge m
Ntw‘m Ni | N - L = I\ alln
18 18 04x40
23u +1 o +1
32 13 2 13
80 (135
5u (rOw
1 1 33" (535")
+a5 +a5
3 32 >235 2
1 1
o 1 % %
40 40
9u 9u
16 %
2|y T4 S5
B II - I‘ .
nn Ll 03
E = = Elz ==
ju |l
64 64 64 225
170 170 17n Tu
23 23 25 8
12 12 695
15 15u T
3 & I
else| = SN |G NEN (B |ols
g — - A L
é 04x20 04x20 E E E

208 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Set for ceiling mounting,
for 1 wooden door up to 100 kg (220 Ibs.)

No.

'Hawa [} 100 HM

Set for ceiling mounting,

for 1 wooden door up to 100 kg (220 Ibs.)

No.

Hawa Porta 100 HM/HMD and Hawa Divido 100
HM, minimal installation height, for 1 door

057.3133.071

057.3133.071

Set consisting of:

No.

Running gear,
ball bearing, 2
rollers plastic white

057.3114.071

Stopper, with retention

h ) 2 | 057.3073.072
spring, plastic, gray
Hexagon head screw,
M8x36 mm (5/16"x1 13/32"), | 2 | 042.0165.101
steel, zinc-plated
Cover cap, plastic, grey 2 | 600.0000.533

Running gear holder,
plastic, anthracite

042.0167.001

Housing, steel, zinc-plated 2

042.0166.101

Countersunk head screw,
4x40 mm (5/32"x1 9/16"), 8
steel, zinc-plated

766.5040.140

Bottom guide,
with roller, adjustable, 1
plastic, anthracite

057.3120.071

Countersunk head screw,
4x20 mm (5/32"x25/32"), 4
steel, zinc-plated

766.5042.120

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

Hawa Porta 100 HM, minimal installation height,
with running track, 2000 mm, aluminum,
anodized, for 1 door

057.3135.071

~
Q
3 No.
o
mm =
Set consisting of: (inch) o
Running gear,
ball bearing, 2 | 057.3114.071
rollers plastic white
Sto.pper, W|th retention > | 057.3073.072
spring, plastic, gray
Hexagon head screw,
& M8x36 mm (5/16"x1 13/32"), | 2 | 042.0165.101
steel, zinc-plated
@ Cover cap, plastic, grey 2 | 600.0000.533
Runnmg gear holder, plastic, 5 | 042.0167.001
anthracite
Housing, steel, zinc-plated 2 | 042.0166.101
Countersunk head screw,
&g& 4x40 mm (5/32"x1 9/16"), 8 | 766.5040.140
steel, zinc-plated
Bottom guide,
with roller, adjustable, 1 | 057.3120.071
plastic, anthracite
Countersunk head screw,
&Eﬁ&g 4x20 mm (5/32"x25/32"), 4 | 766.5042.120

steel, zinc-plated

Track cleaner, plastic, blue

057.3099.071

Running track,

aluminum, 2,000
anodized, (6'63/4")
pre-drilled

057.3016.201

209



'Hawa [[1%Y 100 HM

Running tracks Soft close
For soft closing in opening and closing direction
Ut order 2 sets.
(inch) No.
No.
(5,16{312”) 057.3016.170 -
e o e 00| oszatozor
o saan | 057-3016.200 = —
. . Soft close Hawa Porta 60/j 00, Divido 100, 042.3102.072
Running track, 2,500 10-60 kg (22-132 Ibs.), 1 piece
. ) 057.3016.250
aluminum, pre-drilled | @ 27/16")
- | AN
6,000 | y573016.600 S|
(19' 8 7/32") [aV Y]
= =] No.
cutto | 957.3016.990 =
size o | &
Set consisting of: S| o
2,000 057.3016.201 .
6'63/4") Soft close, top running,
2500 61-100 kg 1 042.3106.071
/ Running track, @2 | 027-3016.251 (133 to 220 Ibs.), plastic
aluminum, anodized,
pre-dilled 0:000 | 057.3016.601 Trigger for soft close
(198 7s2") in buildings, zinc die 1| 1 | 042.3105.001
cutto | 457 3016.991 casting
size
Running track, with | 2999 1 057 3016.256 Alls, | Screw set soft close 1| 1| 600.0000.566
assembly opening, (8'27/16") &
aluminum, anodized, cut to
pre-drilled size 057.3016.998 ]
Soft close, top running,
2,500 10-60 kg (22 to 132 Ibs.), 1 | 042.3106.072
(8'27/16") 27668 plastic
Running track, 3,500 27667
V ceiling integration, (11' 5 25/32") Cover for assembly opening
aluminum, anodized, 6,000
pre-drilled (19 8.7/32) 30326 No.
Cover cap to assembly opening, 1-piece set 042.3114.071
cut to
. 27669
size
Disposable cover to 2"000” 057.3098.001 S
running track Hawa (66347 o No.
Porta 45/60/100, cutto P
plastic, black size 057.3098.990 L &
Set consisting of: o

’ )
Cover cap assembly 1 | 042.0172.001
\ opening, plastic, gray

&f% Screw set soft close 1 | 600.0000.566

210 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Screw set

No.

Screw set for ceiling integration,
+15 mm (+19/32")

057.3180.071

~
Q
;% No.
@
5
Set consisting of: o
s ff) Hexagon screw, M8x51 mm
& (5/16"x2"), steel, zinc-plated 2 | 042.0165103
Head cap screw,
®/ M8x50 mm (5/16"x1 31/32"), | 1 | 042.0175.002

steel, zinc-plated

Accessories

No.

Routing jig for
assembly opening

042.3118.071

Groove cutter to routing jig,
@=10 mm (13/32"), hard metal

600.0000.309

% Track cleaner, plastic, blue

057.3099.071

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

'Hawa [[21%Y 100 HM

211



'Hawa [[1%Y 100 HM

Ceiling integration
Recommendation: For systems integrated into the ceiling,
provide assembly openings or front access to the system.

80 Abdeckung Montagedffnung bauseitig
3%" Cover assembly opening on site 672
Cache ouverture de montage sur site 25"
R T T T~
05 &~ —" o Ol &) (&)
Il ol \
o cr:)::: 10
RIS N | _ED: e \i,, ]
18 04x40
23u +1
32 13
135
M ’ 550
2 | 232 B 2
BE) Tu 3u
8 % k4
40
= 9. 2|y . o
176 T Abdeckung Montagedffnung bauseitig
|z Cover assembly opening on site
won 66
| = Cache ouverture de montage sur site 19
(=1 Gl
o— o £
\ wlde | ol
S| ISR
12 _
5 I
LS ~ C;% 62
7
%6
04x20
Soft close
=
1 2
0 1 2 0 1 2
Hawa Porta 60/100 HHC 16 | 1ok |1l | 24 268 |29 5 *
= Montagedffnung
Hawa Porta 60/100 HMHMD/HMT | 1'65" | 1" 97" | 1111} | 243 | 265" | 2' 02 ] ) assembly opening
ouverture de montage
Hawa Porta 100 G/GU/GM/GMT | 1'63" | 1975 [ 1"113 | 243" | 26" | 2 9" * B o |1 2] 0| 1] 2 =
Hawa Porta 100 GF 163 24 Hawa Porta 60/100 HHC 480 [ 535 | 590 | 730 | 785 | 840
- = : - > [ Hawa Pora 60/100 HWHMD/HVIT | 480 | 535 | 590 | 730 | 785 | 840
Havia Porta 100 GW/GWF VB | 9" | T11g" | 26" 263" | 276" | | Hawa Porta 100 G/GU/GM/GMT | 480 | 535 | 500 | 730 | 785 | 840
Hawa Porta 100 GMD 175 1ekt | 11 |2 sgr | 274k | 27 | | Hawa Porta 100 GF 480 730
Hawa Porta 100 GW/GWF 512 | 542 | 590 | 762 | 792 | 840
Hawa Divido 100 HHM/GR 1622 [1rodr |11l | 24k |62 |2 of | [HawaPorta 100 GHD 488 539 | 590 | 738 | 789 | 840
- s A o T oo a5 1o 15 | Hawa Divido 100 H/HM/GR 480 | 535 | 590 | 730 | 785 | 840
Hawa Divido 100 GRM 8" |11105") 105" | 2'6" 1 2°8%" 12'105" | |"Hawa Divido 100 GRM 512 567 | 622 | 762 | 817 | 872

A BB e

Beidseitig gedampfte Ausfiihrungen ohne stirn-
seitigen Zugang erfordern zwei Montagedffnungen|
Versions with soft closing mechanism at both
sides without access from the leading edge
require two assembly openings.

Les versions avec amortissement bilatéral sans
acces frontal exigent deux ouvertures de montage.

Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be
— General accessories from page 518 found on www.hawa.com.

212 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [[5%) 100 HMD

Fitting for top-running wooden doors up to 100 kg (220 Ibs.), with surface mounted
running track. Optionally with soft and self closing mechanism. Wall mounting.

Minimal installation height.

Product highlights

Aluminium panel or customer-provided wooden
panelling integrated in the system

<> Flexibility

M Productivity = Tool-less door mounting

Aesthetics Also available in black as a “Black Edition” design
option for a particularly attractive appearance

Technical specifications

[\ Max. 100 kg (220 Ibs.)
$H Max. 2700 mm (8' 10 5/16")
£2  Max. 1600 mm (5' 3")
»He 30-45 mm (1 3/16" to 1 25/32")

Installation examples

52.5 53.5 Kleber/glue/coller
oL ol
475 “16 5 475 8 1 5
Tn 3 7o a1 3.
05 | 1§ & 05 | 18" 3'|/] 6
= u -
&Ies 1%} '\_%
~ Sy ~ISiey
Sy T ; Ao
Sig E 5
&:éw Siﬁ'\%
18 18
23u +H1 23u +1
2 13 32 I3
il 1.
32 32
1 1.
i 8
10 40 1 40
B 19 B 9.
32 16 32 76
S 2l9e
| | =
Ifn I
FlE ElE
x x
12 12
154 15,
2 32
©| S ~fisy ©|beo ~oly
D4x20 04x20

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

-

su\
—
//\
P
* mit Montagedffnung *(64) 9 5
with assembly opening ol T 3.
avec ouverture de montage 32 32 16
— A P S——— =5l 1.
— SOIlIC LGl
T
D ﬂ _ = 22} N — 1
é 04x40 é *é
80 (135
LT
35" (6r5")
>235
o
RIESS]
03 =4
RIESS]
64 64 64 22.5
170 170 170 n
235 er) er) 8
65
9u
%5
[I=INE
T |
213



'Hawa [[Z32%Y 100 HVD

Set for wall mounting,
for 1 wooden door up to 100 kg (220 Ibs.)

Set for wall mounting,
for 1 wooden door up to 100 kg (220 Ibs.)

No. No.
Hawa Porta 100 HM/HMD and Hawa Porta 100 HMD, minimal installation height,
Hawa Divido 100 HM, 057.3133.071 with running track and panel, 1996 mm 057.3137.071
minimal installation height, for 1 door (6' 6 19/32"), aluminum, anodized, for 1 door
Hawa Porta 100 HMD, black,
minimal installation height, for 1 door 057.3133.085 w,:
o
-l wo E) No.
S| mm |2
AR No. Set consisting of: (inch) 8
o | &
5|5 ; ;
Set consisting of: o|o Running gear, ball bearing, | , | 1573114071
rollers, plastic, white ’ ’
Running gear,
ball bearing, rollers, 2 | 2 | 057.3114.071
plastic, white Stopper, with retention
spring, plastic, gray 2 | 057.3073.072
Stopper, with retention
Spring, p|asticy gray 2 057.3073.072 Hexagon head screw,
& M8x36 mm (5/16"x1 13/32"), | 2 | 042.0165.101
Hexagon head screw, steel, zinc-plated
M8x36 mm .
& (5/16"x1 13/32"), 2 | 2| 042.0165.101 @ Cover cap, plastic, grey 2 | 600.0000.533
steel, zinc-plated
. Running gear holder,
Cover cap, plastic, grey | 2 | 2 | 600.0000.533 plastic, anthracite 2 | 042.0167.001
Running gear holder,
plastic, anthracite 2 | 2 | 042.0167.001 Housing, steel, zinc-plated 2 | 042.0166.101
Housing, steel, Countersunk head screw,
/ zinc-plated 2 | 2| 042.0166.101 ;\g@&y 4x40 mm (5/32"x1 9/16"), 8 | 766.5040.140
steel, zinc-plated
Countersunk head
screw, 4x40 mm Bottom guide,
2%@§ (5/32"x1 9/16"), 8 | 8 | 766.5040.140 with roller, adjustable, 1 | 057.3120.071
steel, zinc-plated plastic, anthracite
Bottom guide, Countersunk head screw,
with roller, adjustable, 111 | 057.3120.071 &E&D 4x20 mm (5/32"x25/32"), 4 | 766.5042.120
plastic, anthracite steel, zinc-plated
Countersunk head q _— .
ally, | sorew 4x20mm il | 766.5042.120 =S e o o | 1] 057.3126.071
R (5/32"x25/32"), steel, ’ ’
zinc-plated
% End cap, plastic, anthracite 1| 057.3131.071
Sto.pper, W|th retention > | 057.3073.076
spring, plastic, black
Countersunk head %@ Track cleaner, plastic, blue 1 | 057.3099.071
%g screw, 4x20 mm 4 | 600.0000.817
N\ X " " . .
ool sine-piaied Single runring
’ track‘, aluminum, 2,000 1| 057.3112.199
anodized, (6'63/4")
pre-drilled
Running track,
alumllnum, 2,000 1| 057.3113.199
anodized, (6'63/4")
pre-drilled

214

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Running tracks

anodized

(115 25/32")

mm
(inch) No.
2,500 057.3112.250
(8'27/16")
3,500
Running track, (15 25/32") 057.3112.350
aluminum, anodized,
% pre-drilled 6,000 1 457 3112.600
(19' 8 7/32")
cutto | 957.3112.900
size
Running track, 2,500 1 4573112,255
aluminum, (8"27/16")
black anodized, 3,500
pre-drilled (18 25/32") 057.3112.355
Running track, 2,500 30617
. (8'27/16")
extended spacing
of +9 mm (11/32") 6,000
% between door and (19' 8 7/32") 30618
wall, aluminum, cut to
anodized, pre-drilled . 30668
size
Running track, 2,500 30619
. 8'27/16")
extended spacing
of +20 mm (25/32") 6,000
% between door and (19' 8 7/32") 30620
wall, aluminum, cutto
anodized, pre-drilled . 30669
size
Disposable cover to 2,000
running track Hawa (6'63/4") 057.3098.001
Divido 100 / Hawa
Porta 45/60/100, cutto | o2 3098 990
plastic, black size
Panels
mm
(inch) No.
2,500 | 457 3113.250
8'27/16")
3,500
CIi;I::-on patr'1el, (11" 5 25/32") 057.3113.350
wall mounting,
aluminum, anodized 6,000 057.3113.600
(19' 8 7/32")
cutto | 5573113.900
size
Clip-on panel, 2,500 | 57 3113255
wall mounting, (8'27/16")
aluminum, black 3,500

057.3113.355

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

'Hawa [[8%) 100 HMD

End cap set for running track 057.3112.xxx

No.

End cap set, with fixation clip, plastic, anthracite

057.3131.072

End cap set, with fixation clip, plastic, black

057.3131.075

Al | IO
N~ |
Q| Q
o ® No.
o | &
| 5
Set consisting of: oo
End cap, plastic, 1 057.3131.071
anthracite
a Fixation clip for wooden
and aluminum panel, 2 | 2 | 057.3126.101

steel, zinc-plated

End cap set,
plastic, anthracite

N2

057.3131.076

Fixing clamp for the end pieces of wooden or aluminum

panels

No.

Fixation clip for wooden and aluminum panel,
2-piece set

057.3126.071

~
Q
g No.
©
5
Set consisting of: &
q Fixation clip for wooden
X and aluminum panel, steel, | 2 | 057.3126.101
zinc-plated
Panel end component set, 95 mm (3 3/4"),
can be shortened, plastic, wall mounting
No.
Panel end component set, with fixation clip, 30485
95 mm (3 3/4"), plastic, anthracite
o No.
[ee]
3
Set consisting of: 15}
Panel end component,
95 mm (3 3/4%), 2 30133
plastic, anthracite,
can be shortened
. Fixation clip for
wooden and aluminum 2 | 057.3126.101

panel, steel, zinc-plated

215




'Hawa [[ZS85Y 100 HMD

Soft close

For soft closing in opening and closing direction

order 2 sets.

No.

Soft close Hawa Porta 100, Divido 100,
61-100 kg (133 to 220 Ibs.), 1 piece

042.3102.071

Soft close Hawa Porta 60/100, Divido 100,
10-60 kg (22 to 132 Ibs.), 1 piece

042.3102.072

~— | AN
N~ |
o | o
RN
= =] No.
IR
§ g
Set consisting of: oo
Soft close,
top running, 61-100 kg 1 042.3106.071
(133 to 220 Ibs.), plastic
Trigger for
soft close in buildings, 1|1 | 042.3105.001
zinc die casting
crew set soft close . .
&E S ft cl 1|1 |600.0000.566
Soft close, top running,
10-60 kg (22 to 132 Ibs.), 1 | 042.3106.072
plastic
Cover for assembly opening
No.
Cover cap to assembly opening, 1-piece set 042.3114.071
~
Q
§ No.
[sp)
g
Set consisting of: o
)
Cover cap assembly 1 | 042.0172.001
\ opening, plastic, gray
&E& Screw set soft close 1 | 600.0000.566
Bottom guide set for wall mounting
No.
Set bottom guide for 057.3128.171

wall mounting, with roller

216

Accessories

No.

Routing jig for
assembly opening

042.3118.071

Groove cutter to routing jig,
@=10 mm (13/32"), hard metal

600.0000.309

Track cleaner, plastic, blue

057.3099.071

Further installation examples
Wall mounting rails with extended spacing of +9 mm/+20 mm

(11/32'/25/32") between door and wall.

61.5 72.5
13, 27u
235 27
56.532 5 95 67.5 22 5
7a 3. 21 3
b5 % i6 2% L s
b N &e
~le ~E e
—yS AN o —y &S N Zeo
Sk Sl
mim &’ié\%
18 18
23u +1 23 +1
32 -3 32 I3
1u 1a
‘2 a2
NaR |1
8 8
SIS 2|
191, 40 4 30 40 o
3 19 non 13 12 nlon
4 16 =| = 6 16 | =
== ==
Calculations of panels
5 Schiene/Track/Rail Schiene/Track/Rail 5
3. 3
16 76
wl =, © =N B “”1‘%
N g 19 {13
Fg.. i
1 s
T ==
Clipblende/Clip fascia/Cache a clipser Holzblende/Wooden fascia/Cache en bois|
= Schiene/Track/Rail = Schiene/Track/Rail + 5 (%“)

Wall mounting bottom guide

10

13
32

P
&l&

25

32

i

LOlco

13116

30 2234
3 Zu_q4 11w
16 (1)

63.5
2

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Soft close

'Hawa [[5%) 100 HMD

=
P o———————1) O) 1 2
* B o | 1 ]2 o] 1]
Hawa Porta 60/100 H/HC 1659 | 1o | 1 1dr | 243 | 262 293 _ _
29 ] . 3 29 3 Z= * Montagedffnung
Hawa Porta 60/100 HWHMD/HMT | 1° 653" | 195" | 1" 115" | 2' 43" | 265" | 2' 935 1 ) assembly opening
29 4 | 3 29 3 ouverture de montage
Hawa Porta 100 G/GW/GM/GMT | 1'65" | 1'9¢g" | 1" 115" | 2'43" | 265" | 2' 935" * B o |1 |20 1] 2 o
Hawa Porta 100 GF 162 24 Hawa Porta 60/100 H/HC 480 [535 [ 590 [ 730 | 785 | 840
Hawa Porta 60/100 HM/HMD/HMT | 480 | 535 | 590 | 730 | 785 | 840
5 11 1 29, 3
Hawa Porta 100 GW/GWF Ve | 19" | 11" | 26" | 265" | 2746 | | Hawa Porta 100 G/GU/GM/GMT | 480 | 535 | 500 | 730 | 785 | 840
Hawa Porta 100 GMD 17 1ok | 11l | 25 | 207k |27 | | Hawa Porta 100 GF 480 730
Hawa Porta 100 GW/GWF 512 | 542 | 590 | 762 | 792 | 840
Hawa Divido 100 H/HM/GR 16| volr |11l | 2 |2 62 |2 o3 | [FaWaPora 100GV 488 | 539 | 590 | 738 | 789 | 840
- By 1] s | 5 a5 abe | oot | Hawa Divido 100 H/HW/GR 480 | 535 | 590 | 730 | 785 | 840
Hawa Divido 100 GRM 18" | 110" 103" | 26" | 285" [2'10%" | | uya Divido 100 GRM 512 | 567 | 622 | 762 | 817 | 872
h%ﬂ—_—_;a Y TR £ =
m_\ (10
Beidseitig gedampfte Ausfiihrungen ohne stirn-
seitigen Zugang erfordern zwei Montagedffnungen|
Versions with soft closing mechanism at both
sides without access from the leading edge
require two assembly openings
Les versions avec amortissement bilatéral sans
acces frontal exigent deux ouvertures de montage.
Soft close
s A8
@® Q= <5
= >320
1+ 19
! 2 e 7=2480
=2
* B o | 1|2 o | 1] D
Z=21-65
1 229 roln 1 qqdn 230 1 729 103
Hawa Porta 60/100 H/HC 165 |19 [ 111 | 204y | 265 |2 95 = * i
290 | i odn | 4o qqdn | o 30 | o 1290 | o 030 = Montagedfnung
Hawa Porta 60/100 HM/HMD/HMT | 1'653" | 1'9g5" | 1' 113" | 2'43" | 2'653" | 2' 935 ] ) assembly opening
20, 1 1 3 0 3 ouverture de montage
Hawa Porta 100 G/GU/GM/GMT 165 [ 1o (1117 | 204y |26 295" * 0 1 2 =
Hawa Porta 100 GF 1 623" 24 Hawa Porta 60/100 H/HC 480 | 535 | 590
: - ] % 3 Hawa Porta 60/100 HM/HMD/HMT | 480 | 535 | 590
Hawa Porta 100 GW/GWF Vo' | 19" | V113" | 26" 265" | 2746 | | awa Porta 100 G/GWGM/GMT | 480 | 535 | 500
19 ln 1gln 1 qqdn e i 1230
Hawa Porta 100 GMD 175" [ 195" [ 111" | 255" | 2/ 73" | 2/ 735 | | Hawa Porta 100 GF 480
Hawa Porta 100 GW/GWF 512 | 542 | 590
Hawa Divido 100 H/HW/GR It 6%” T 9%.. T H%“ 2 4%.. Py 6%" Y g%" Hawa Porta 100 GMD 488 | 539 | 590
" 5 1l 1 e | o o aBe [oraiia] | Hawa Divido 100 HHMW/GR 480 | 535 | 590
Hawa Divido 100 GRM T8yt (11105 1103 | 26" | 283" |2' 10" | [Tiawa Divido 100 GRM 517 567 T 602
2 S
2570
>1-10%"
B 2=>730
Z=>2-43"
Accessories Planning/execution

— Lock solutions from page 511
— General accessories from page 518

Further information about the product can be found

on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

217



'Hawa [[%Y 100 HMD Acoustics

Fitting for top-running wooden doors up to 100 kg (220 Ibs.), with surface mounted
running track. Sound attenuation. Wall mounting. Minimal installation height.

Product highlights \/

@ Comfort Outstanding living comfort thanks to effective :Qn

— R . \
exclusion of sound, drafts, odors and unwanted light —
incidence

&Tﬁ Flexibility Aluminium panel or customer-provided wooden

panelling integrated in the system

m Productivity = Tool-less door mounting

Technical specifications ]

/M Max. 100 kg (220 Ibs.)

w Max. 2500 mm (8' 2 7/16")

s 750-1250 mm (2' 5 17/32" to 4' 1 7/32")

— Inside clearance (LMB) /\
)€ 39-45 mm (1 17/32" to 1 25/32") _ —

Installation examples

U+ 525
U+ 2%6”
] U+ 30 5 125 ) 110
U+ 13" a
| u=ze3
#5 U=7+ 4"
— N |
== —:zm Bl |
gloe et
. = S i =i B‘T‘r ! | f
: 1 i L i Al i I [ NI h
7
= | \ M I, | I I I A
I Ig || \essx0 | o
16 32
7= 6 (6 - 25) 40 237 237 25
= (3-8 1% 0" 9" 3
8 10 |
7 o
B=X - 10 C= 126 - X
B=X - & C= 43" X
- 4 . . 4
: B T Z0N  NER S : : < |y ™~ . oA
| 5 8/ % A S E EN b4 Qi o7/ %
ik / 02 o3
= = 1 % %
=
27 8 SEP
Ti 5" 13"
16 16 16
67.5 64 64 64 64 64 64 52.5
- P 2 i i 2% o 2 2
|8
Il [l
f|| 1-23:5x30 I K
el 1 47"
fe| [T g
s 1 HIES
. T — o=
w o: ‘ i
[\ 235x25  —I= I\ 235x25 ||

218 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Set for 1 wooden door up to 100 kg (220 Ibs.)

No.
Hawa Porta 100 HMD/HMT Pocket Acoustics, 30430
for 1 door
o No.
@p)
g
Set consisting of: 1)
Running gear, ball bearing,
rollers, plastic, white 2| 057.3114.07
SoftStop Hawa Porta
Acoustics, with retention 1 30472
spring, plastic, gray
Stolpper, W|th retention 1 | 057.3073.072
spring, plastic, gray
Adapter for running gear,
for SoftStop, plastic, gray 1 30218
Pan head screw,
U M3x8 mm (1/8"x5/16") 1 30359
Hexagon head screw,
& M8x36 mm (5/16"x1 13/32"), | 1 | 042.0165.101
steel, zinc-plated
Head cap screw, M8x35
, mm (5/16"x1 3/8"), steel, 1 |1 042.0175.001
)
zinc-plated
@ Cover cap, plastic, grey 1 |1 600.0000.533
Running gear holder, 5 | 042.0174.001
plastic, anthracite ’ ’
/ Housing, steel, zinc-plated 2 | 042.0166.102
/ Spacer,_housmg plastic 2 30361
anthracite
Cover cap set, plastic, 1 30484
anthracite, 4-piece set
Flat countersunk head
%E chipboard screw, 8 30463
AWy 4x50 mm (5/32"x1 31/32",

steel, zinc-plated

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

'Hawa [[8%Y 100 HMD Acoustics

Running tracks

mm
(inch) No.
2,500 | 457 3112.250
8'27/16")
3,500
Running track’ ) ! . 057.3112.350
' ) (11' 5 25/32")
aluminum, anodized, 6.000
pre-drilled ’ 057.3112.600
(19' 8 7/32")
cutto | 457 3112.990
size
Running track, 2,500 30617
extended spacing (8'27/16")
of +9 mm (11/32") 6,000
% between door and (19' 8 7/32") 30618
wall, aluminum, cut to
anodized, pre-drilled size 30668
Running track, 2,500 30619
extended spacing 8'27/16")
of +20 mm (25/32") 6,000
% between door and (19' 8 7/32") 30620
wall, aluminum, cut to
anodized, pre-drilled size 30669
Disposable cover to 2,000 | 1223098.001
running track Hawa (6'63/4") ) )
Divido 100 / Hawa
Porta 45/60/100, cutto | 57 .3098.990
plastic, black size
Components for running tracks
No.

Track cleaner, plastic, blue

057.3099.071

N

Key for dismounting, steel,

zinc-plated

042.3119.101

219



'Hawa [[3%Y 100 HMD Acoustics

Panels
mm
(inch) No.
2500 1 457 3113.250
(8'27/16")
3,500
Clip-on panel, i1 225 | 057:3113.350
wall mounting,
aluminum, anodized 6,000 | 4573113.600
(19' 8 7/32")
cutto | 557 3113.990
Size

Panel end component set, 95 mm (3 3/4"),
can be shortened,, plastic, wall mounting

No.
Panel end component set, with fixation clip, 30485
95 mm (3 3/4"), plastic, anthracite
. No.
[ce]
3
Set consisting of: ®
Panel end component,
95 mm (3 3/4%), 2 30133
plastic, anthracite,
can be shortened
q Fixation clip for
% wooden and aluminum 2 | 057.3126.101
panel, steel, zinc-plated

220

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Sets left type

(horizontal seal set)

'Hawa [[8%Y 100 HMD Acoustics

Vertical seal for seal set, left, right set type

No.
No. ) )
- Seal vertical, Hawa Acoustics,
Seal, Hawa Acoustics XS, left 30437 7700 mm (25' 3 5/32"), Silicone, 30300
Seal, Hawa Acoustics S, left 30439 black
. Seal, Hawa Acoustics M, left 30441
Seal, Hawa Acoustics L, left 30443
Seal, Hawa Acoustics XL, left 30445
Sets right type
(horizontal seal set)
No.
Seal, Hawa Acoustics XS, right 30436
Seal, Hawa Acoustics S, right 30438
Seal, Hawa Acoustics M, right 30440
Seal, Hawa Acoustics L, right 30442
Seal, Hawa Acoustics XL, right 30444
Hawa Acoustics horizontal seal set
consisting of:
Position | Bezeichnung Anzahl Typ
Position Désignation Numéro Type
Position Designation Number Type
1 Hubdichtung 1 Links/Rechts
Joint de levage Gauche/Droite
Header seal Left/Right
XS 30454
S 30385
M 30455
L 30456
XL 30457
2 Senkdichtung 1 Links Rechts
Joint d'abaissement Gauche Droite
Floor seal Left Right
XS 30446 | XS 30447
S 30387 |S 30383
M 30448 | M 30449
L 30450 |L 30451
XL 30452 | XL 30453
3,4,5,6 | Kleinteileset oben 1 Links 30390 | Rechts 30392
Kit pour petites pieces, supérieur Gauche Droite
Small parts set top Left Right
7,8,9,10 | Kleinteileset unten 1 Links 30416 | Rechts 30417
Kit pour petites pieces, inférieur Gauche Droite
Small parts set bottom Left Right
1 Pocketadapter 1 Links/Rechts 30418
Adaptateur pour caisson a galandage Gauche/Droite
Pocket adapter Left/Right

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

221




'Hawa [[%Y 100 HMD Acoustics

Definition left, right / door width calculation
Left type (left hand lock)

Right type (right hand lock)

(Ganzdffnend X =Zargenmass 30 -
STB = LMB + X+ 120
Ouverture compléte At - X = Dimension du cadre 30 - 60
Fully opening STB=LMB + X+ 43 X = Frame dimension 15 -2
X LMB X
1 Dichtseite / Coté étanchéité / Sealing side -
120
prg
STB
Teildffnend STB =LMB + (2*X) + 10| X = Zargenmass 30 - 60
Ouverture partielle - = X = Dimension du cadre ?O - Gq
Partially opening SB=LMB+Q2"X+3 X = Frame dimension 13 -2
X , LMB X
10
o
8
—4n Dichtseite / Coté étanchéité / Sealing side =
[ U B B - U
LMB -Y+X Y= 2120
Y= = 43"
STB
Acoustics set determination
Ganzoffnend
Ouverture compléte
Fully opening
LMB
X 30 40 50 60
Hawa Acoustics XS 750 - 780 750-770 750 -760 750
Hawa Acoustics S 780 - 900 770-890 760 - 880 750- 870
Hawa Acoustics M 900 - 1030 890-1020 880-1010 870-1000
Hawa Acoustics L 1030-1150 1020 -1140 1010-1130 1000-1120
Hawa Acoustics XL 1150 - 1250 1140-1250 1130 - 1250 1120-1250
LMB
3 9 31" 3
X 1% 1% 1% 23
Hawa Acoustics XS |25 35 -26 5|26 3 -26 (25 3 -255(2'5
HawaAcoustics S [2'6 & -211512'6 2 -21155|2'5 & -2105 |25 £ -210 §
9 i 7 i 9| o 1" i 59190 21" I 3o 1" i 3
Hawa Acoustics M~ {21112 -3'4 (2115 -3'4 212105 -3'3 3|2110 § -3'3 3
0 g 9" g 9[ar 5" g 7' 3" g 1"[qr 3" g 3"
HawaAcousticsL 34 5 -3'9 5134 5 -3'8 £|3'3 7 -3'8 ;|33 5 -384
i g 9 g1 2|38 ' aq Ll3g 15 iaq Il3g 3 iaq I
Hawa Acoustics XL (3'9 5 -4'1513'8 5 -4'1 5138 35 -4'1 5|38 5 -4'1 5
Teiloffnend
Ouverture partielle
Partially opening
LB
X 30 40 50 60
Hawa Acoustics XS 750 - 870 750 - 850 750 - 830 750-810
Hawa Acoustics S 870-990 850- 970 830-950 810-930
Hawa Acoustics M 990 - 1120 970-1100 950 - 1080 930 - 1060
Hawa Acoustics L 1120 - 1240 1100 - 1220 1080-1200 1060 - 1180
Hawa Acoustics XL 1240 -1250 1220 -1250 1200 - 1250 1180 - 1250
LVB
3 9 31" 3
X 155 1% 1% 23
Hawa Acoustics XS (2'5 27 -210 |25 1 -2:9 |25 I -8 |25 1 27 [
: o 1" 310 3'org 15" (319 loig 11" g1 o7 7 g 5
HawaAcousticsS 210 7 -3'25(29 5 -3'24(285 -315(27 5 -3 3
i o 31" ' 3o 3 ' 5'qiq 13" 1o 17" o 5" i 23"
HawaAcousticsM 3255 -3'8 51325 -3'7 315 -365|3 3 -35%
9 | 3 v 13" ae 5 ' 1larg 17" g 1"laig 23" 11 15"]
HawaAcousticsL  [3'8 35 -4' 5|37 -4' 5|3'63 -3117|355 -3103
i 13 g e 2 g Dl s M08 Saq
HawaAcoustics XL |4 3= -4'1 514" = -4'1 5|31 5 -4'15(3105 -4'1 5
222

Ganzoffnend & ISTB = LMB + X + 120 X=Z§rger!mass30-60
Ouverture compléte = X = Dimension du cadre ?0 -60
Fully opening STB=LMB+X+45 X = Frame dimension 13 -2
X LMB X
- Dichtseite / Coté étanchéité / Sealing side | —
120
Jrer
STB
Teiliffnend [STB=[MB+(2*X) +10 X = Zargenmass 30 - 60
Ouverture partielle - = X=Dimension du cadre 30 - 60
Partially opening STB=LMB+(2"X +35 X = Frame dimension 13 -2
X LMB . X
10
7
8
- e Dichtseite / Coté étanchéité / Sealing side nu—
] - - - U]
Y= >120 LMB-Y+X
EET
STB
Block frame / closed frame details
U+ 525 U+ 525
U+ 2" U+ 2"
U+ 30 U+ 30
U+ 1% U+ 1%
U=7+ 3 U=7+3
#5 U=7+§" #5 U=27+ ¢
— | — |
= giggég =3 Sﬁﬁgm
Slege ©le gfie @it
| I +2 ] I I +2
7 -2 — 7 2
ZiR 2
32 ‘ 27 I+§ 1 A ‘ 32 27 I+§
IR B % K
7= 6(6-25) 7= 13(6-25)
- -y PR TR T T
8 40 | 8 40 |
5" 1&" 0 5" 11” h
16 16 16 16
puml
~ | S SIS
| _. II !
11 :ﬁ n :”:
Flz =
7 23 7 23
XaEy EEER
32 32 32 32
$3.5x 30 #3.5x30
I 23530 I
N Bl 8=
: EIE™ ! SIEN
[N $35x26 ~'® I\ _23.5 x 25

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



100 HMD Acoustics

Hawa [

Partially opening view

5 125 ) 110
2"
& i 1= =r H
AL & .
vr vlv ‘ ! ‘ ‘ n
i ‘ I I ‘ ! ! ;\
oo I I B |
‘ ‘ $35x30 #3530 ‘ ‘
40 237 237 25
1% o o %
B=X-10 16
Box- 4" %,,
—— 4 = 4—‘
" 3 3 < "
# &5 &5 B
N L
]|y ® 2 ©3 7 | &=
%g/\“ A" /
® ® £
o e =
| 27 8 o | or | o
" = w/ Wy -
176 6 i
67.5 64 64 64 64 64 64 52.5
2% 24 25 o 24 W W 2
Il I
H 115 I
4%” I
T T T T T T T T T T T T @fﬂ\”
& D
Ll T3t H
T - .
I I
Il \ #3.5x%25 III
Bottom guide assembly detail Calculations of panels
Ganzoffnend Teildffnend LS 5
Ouverture complete Ouverture partielle %
Fully opening Partially opening
B :
o X X N ,:Eg
©|ie ¥
—|— +
(] BE)
o
p de / Clip fascia / Cache & clipser
1 _ _ =1S
5 Bl
- |
3 °
A E= = = LS 5
5 %
& 76
25 75
% 2R :
N
o o~
o+
= pun]
Holzblende / Wooden fascia / Cache en bois

=1S+5(3)

223

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [[%Y 100 HMD Acoustics

Further installation examples
Wall mounting rails with extended spacing of +9 mm/+20 mm
(11/32'/25/32") between door and wall.

U+525 U+525
1w Tu
U+2ﬁ U+2ﬁ
U+30 U+30
3 3
U1 U+ 12
U=7+3 116 U=2+3 116
u=z+5 | | U=Z+3g" ‘
| |
| |
|05 |05
A
T
| B | } Bl e
| — | —
Ol Ol
+H2 +2
-2 -2
3n 3u
*32 *l3
3. B 3. :
32 QR,EX 32 QRJ_S‘»
| 4 | 4
= 7o N 7o n W
=7 | — =75 | —
8l 40 E 8|_ 40 E
50 190 50 19
16 16 16 16

224

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Room-to-room sound attenuation
All reference values have been measured on the basis of a practical design. The Rw sound attenuation values specify the
expected sound attenuation between the two rooms which are influenced by the wall, the system and the choice of door leaf.

Reference values tested with a lightweight construction wall in accordance with James Hardy (type 1 H 31 / Rw 52 dB),
size 2.5 x 2.45 m in accordance with DIN EN ISO 10140-2. Clearance 2.0 x 1.0 m. The sound attenuation relates to the entire
structure and specifies which sound attenuation can be expected between the two rooms.

. : Estimated sound
: Thickness : : X
Example walls System ; ; Type of door leaf attenuation
: of door leaf :
: : effect
Room to room
Rw
Wall with minimum acoustic without Hawa Acoustics Single door leaf without sealing system ~18dB
rating of Rw 52 dB H : :
: i Single door leaf, approx. 19 kg/m? ~31dB
‘ i acoustic rating of Rw 29 dB -
; ; : : : 39 mm H f
Lightweight construction wall : " : i Chipboard, approx. 25 kg/m?
wi?h metgl stand i Hawa Porta 60 HMD Acoustics o Zefined a(r;)cF))ustic rat"? ~30dB
i Hawa Porta 100 HMD Acoustics : 9
= = : i Door leaf with medium sound attenuation
f ! i level approx. 25 kg/m?, ~34dB
KX&XXXXXXXUU@U i acoustic rating of Rw 39 dB
f 1 >
: Single door leaf, approx. 20 kg/m? ~30dB
i Hawa Junior 100 B Acoustics i acoustic rating of Rw 29 dB
: Hawa Porta 60 HMD Acoustics : - - )
Lightweight construction wall H Haxa Porta 100 HMD Aczus:tics 44 mm i Door leaf with medium sound attenuation
with wooden stand : level approx. 28 kg/m?, ~ 34 dB
i acoustic rating of Rw 40 dB
: Door leaf with high sound attenuation
Hawa Junior 100 B Acoustics 50 mm level approx. 33 kg/m?, ~35dB
acoustic rating of Rw 42 dB
T ) 1
I [N}
without Hawa Acoustics ; Single door leaf without sealing system ~20dB
Solid wall : ¢ Single door leaf, approx. 19 kg/m?, ~31dB
: 39 mm : tic rating of Rw 29 dB ~
i Hawa Porta 60 HMT Pocket Acoustics : acoustic rating of Rw 29 d
i Hawa Porta 100 HMT Pocket Acoustics i Door leaf with medium sound attenuation
: : level approx. 25 kg/m?, ~37 dB
i acoustic rating of Rw 39 dB
Acoustic ratings for wall construction : Single door leaf, approx. 20 kg/m? ~32dB
according to manufacturer. The i Hawa Junior 100 B Pocket Acoustics i acoustic rating of Rw 29 dB
laco.ushc values may vary if installed Hawa Porta 60 HMT Pocket Acoustiqs 44 mm Door leaf with medium sound attenuation
in different wall types. i Hawa Porta 100 HMT Pocket Acoustics ¢ level approx. 28 kg/m?, ~39dB
i acoustic rating of Rw 40 dB
H ¢ Door leaf with high sound attenuation
i Hawa Junior 100 B Pocket Acoustics 50 mm i level approx. 33 kg/m?, ~41dB
i acoustic rating of Rw 42 dB

Planning/execution

Further information about the product
can be found on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

225



'Hawa [[Z32%Y 100 HMT Pocket

Fitting for top-running wooden doors up to 100 kg (220 Ibs.), with surface mounted
running track or running track flush with the ceiling. Optionally with soft and self closing
mechanism. Ceiling mounting. Wall pocket solution.

Product highlights
<> Flexibility

M Productivity

Ceiling-integrated or surface-mounted pocket

solutions possible

Door can be installed in pocket after construction

is complete

Technical specifications

@ Max.
w Max.
£2  Max.
)«

100 kg (220 Ibs.)

2700 mm (8' 10 5/16")

1600 mm (5' 3")

Installation examples

30-80 mm (1 3/16" to 3 5/32")

\/

I
|
et 0
19.] 43 |19 o N O
32 6 |32 45 9 1%-- ohne Montagedffnung 66 (1)
= 1250 ik without assembly opening 219 (l.,)
- 05 2 p2 sans ouverture de montage 32 116
& @ SR
Ot =t -
ol 2| Ao
” T 1 = — = - =
X
** 1"z 0 | 4o o
32
“l2 L
| 8
45 80 | 80 135 800
250 5. 5 (20w
12 3% BT 56" Cz2)
32 32 | 332 232 16 (932
i 3.
I % 32
10 40 10
3. 19 13 |
B2 6 32 |
(28 - -
- S ey Sk Sk
= 5]
N o 03~
== LIS S Syl
22. 22.5 [ 64 64 64 64 22.5
) n 170 170 170 170 T
8 8 I 23 %5 %5 %5 8
|
| **
Fiir das Ein- und Ausschwenken darf eine Blende bis max. Unterkante
‘ der Schiene reichen.
| At least one of the panels must end at the lower edge the running track
in order to be able to swivel the door inwards and outwards.
‘ Pour que le pivotement puisse s'effectuer, un cache pourra au maximum
| atteindre le bord inférieur du rail.
12 65 |
154 9.,
2 L e - _ o _]
Lo Yol ?‘.’Léw
w7~ |
N 0
226 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Set for ceiling mounting,
for 1 wooden door up to 100 kg (220 Ibs.)

'Hawa [[Z1%) 100 HMT Pocket

Set for ceiling mounting,
for 1 wooden door up to 100 kg (220 Ibs.)

No. No.
Hawa Porta 100 HMT, 057.3133.073 Hawa Porta 100 HMT Pocket,
Pocket minimal installation height, for 1 door ’ ' with Push-to-open, with running track, 2000 mm 057.3181.072
(6' 6 3/4"), aluminum, anodized, for 1 door
2 Hawa Porta 100 HMT Pocket,
S’). with Push-to-open, with running track, 2500 mm 057.3181.073
® No. (8'2 7/16"), aluminum, anodized, for 1 door
2
Set consisting of: o o
D
Qe
Running gear, ball bearing, ®|® No.
rollers, plastic, white 2 | 057.3114.071 mm |22
Set consisting of: (inch) 8|38
Stopper, with retention Running gear, ball
spring, plastic, gray 2 | 057.3073.072 bearing, rollers, plastic, 2 | 2| 057.3114.071
white
Hexagon head screw,
M8x36 mm (5/16"x1 13/32"), | 1 | 042.0165.101 St_opper, ) )
steel, zinc-plated without retention spring, | 2 | 2 | 057.3073.071
plastic, gray
Head cap screw,
M8x|35_mm (|5/1%x1 3/8"), 1 | 042.0175.001 Soft close, top running,
steel, zinc-plate 61-100 kg (133t02201bs), | 1 | 1 | 042.3106.071
lastic
Cover cap, plastic, grey 1 1600.0000.533 i
Trigger for soft close
Running gear holder, in buildings, zinc die 1] 1| 042.3105.001
plastic, anthracite 1 | 042.0167.001 casting
Push-to-open Hawa
Running gear holder, Porta 100, 40-100 kg 11110
. 57.3177.071
plastic, anthracite 1| 042.0174.001 (88 to 220 Ibs.), with
self-closing
) ) Release piece for
Housing, steel, zinc-plated 1 | 042.0166.101 Push-to-open, 1|1 | 057.3176.001
zinc die casting
Housing, steel, zinc-plated 1 | 042.0166.102 ;%g;%za Screw set soft close 2 | 2 | 600.0000.566
%E Countersunk head screw, Hexagon head screw,
P 4x40 mm (5/32"x1 9/16"), 8 | 766.5040.140 « M8x36 mm
steel, zinc-plated (5/16"x1 13/32"), 1] 1| 042.0165101
steel, zinc-plated
Bottom guide, Head cap screw,
with roller, adjustable, 1 | 057.3120.071 ’
plastic, anthracite o | M8x35 mm 1| 1| 042.0175.001
’ @ (5/16"x1 3/8"), steel, ' ’
Countersunk head screw, Zinc-plated
&@g@ 4x20 mm (5/32"x25/32"), 4 | 766.5042.120

steel, zinc-plated

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

Cover cap, plastic,grey | 1 | 1

600.0000.533

Running gear holder,
plastic, anthracite

042.0167.001

Running gear holder,
plastic, anthracite

042.0174.001

Continued table on next page

227



'Hawa [[Z32%Y 100 HMT Pocket

Table continued from previous page

Housing, steel,
zinc-plated

042.0166.101

Running tracks

Housing, steel,
zinc-plated

042.0166.102

Countersunk head
screw, 4x40 mm
(5/32"x1 9/16"), steel,
zinc-plated

766.5040.140

Bottom guide,
with roller, adjustable,
plastic, anthracite

057.3120.071

Countersunk head
screw, 4x20 mm
(5/32"x25/32"), steel,
zinc-plated

766.5042.120

Running
track,
aluminum,
anodized,
pre-drilled

2,000
6'63/4")

057.3174.200

Assembly pin, plastic,
gray

1

057.0201.001

Countersunk head
screw, 5x40 mm
(8/16"x1 9/16"), steel,
zinc-plated

766.3054.140

Running
track,
aluminum,
anodized,
pre-drilled

2,500
(8'27/16")

057.3174.250

228

mm
inch No.
(
1,700 057.3016.170
(5' 6 15/16")
2,000 057.3016.200
(6'63/4")
/ Running track, 2,500 057.3016.250
aluminum, pre-drilled | ('27/16") ’ ’
6,000 057.3016.600
(19' 8 7/32")
cutto | 4573016990
size
2,000 057.3016.201
©'63/4"
2,500
/ Running track, @o7ne | 0°7-3016.251
aluminum, anodized,
pre-drilled 6.000 | 457 3016.601
(19' 8 7/32")
cutto | 457.3016.991
size
Running track, with 2,500 057.3016.256
% assembly opening, (8'27118")
aluminum, anodized, cut to
pre-drilled size 057.3016.998
2,500 27668
(8'27/16")
Running track, 3,500 27667
V ceiling integration, (11'525/32")
aluminum, anodized, 6,000
pre-drilled (19' 8 7/32") 30326
cut to
size 27669
Dlsp_osable cover to 2,000 057.3098.001
running track Hawa (6'63/4")
Divido 100 / Hawa
Porta 45/60/100, Cult to 057.3098.990
plastic, black size

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Assembly set

No.

Assembly set Hawa Porta 60/100,
2000 mm (6' 6 3/4")

057.3179.200

Assembly set Hawa Porta 60/100,
2500 mm (8' 2 7/16")

057.3179.250

Assembly set Hawa Porta 60/100,
3000 mm (9' 10 1/8")

057.3179.300

Set consisting of: (inch)

057.3179.200
057.3179.250
057.3179.300

No.

Running
track,
aluminum,
anodized,
pre-drilled

2,000
6'63/4")

057.3174.200

Assembly pin,
plastic, gray

1

13

057.0201.001

Countersunk head
screw, 5x40 mm
(8/16"x1 9/16"),
steel, zinc-plated

12

14

766.3054.140

Running
track,
aluminum,
anodized,
pre-drilled

2,500
(8'27/16")

057.3174.250

Running
track,
aluminum,
anodized,
pre-drilled

3,000
(@ 101/8")

057.3174.300

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

Soft close

'Hawa [[Z1%) 100 HMT Pocket

For soft closing in opening and closing direction

order 2 sets.

No.

Soft close Hawa Porta 100, Divido 100,
61-100 kg (133 to 220 Ibs.), 1 piece

042.3102.071

Soft close Hawa Porta 60/100, Divido 100,
10-60 kg (22 to 132 Ibs.), 1 piece

042.3102.072

Set consisting of:

042.3102.071

042.3102.072

No.

Soft close,
top running, 61-100 kg
(133 to 220 Ibs.), plastic

042.3106.071

Trigger for
soft close in buildings,
zinc die casting

042.3105.001

Screw set soft close

600.0000.566

Soft close, top running,
10-60 kg (22 to 132 Ibs.),
plastic

042.3106.072

Push-to-open with self closing mechanism
(must only be used with Hawa Porta 100)

No.

Push-to-open Hawa Porta 100,
40-100 kg (88 to 220 Ibs.), 1 piece

057.3178.071

Set consisting of:

057.3178.071

No.

Push-to-open

Hawa Porta 100,

40-100 kg (88 to 220 Ibs.),
with self-closing

057.3177.071

Release piece for
Push-to-open, zinc die
casting

057.3176.001

=
y

Screw set soft close

600.0000.566

229



'Hawa [[Z32%Y 100 HMT Pocket

Cover for assembly opening

No.

Accessories

No.

Cover cap to assembly opening, 1-piece set

042.3114.071

Key for dismounting,
steel, zinc-plated

042.3119.101

~
o
<
i No. .
5 Spring loaded buffer 27760
g’ Hawa Porta 60/100
Set consisting of: IS)
l Cove_r cap ass_embly 1 | 042.0172.001 Rout|.ng jig for assembly 042.3118.071
\’ opening, plastic, gray opening
Q Screw set soft close 1 | 600.0000.566 Groove cutter to routing jig,
U, W = 10 mm (13/32"), hard metal | ©00-0000-309
Screw set
Track cleaner, plastic, blue 057.3099.071
No.
Screw set for ceiling integration,
+15 mm (+19/32") 057.3180.071
~
Q
;% No.
2
5
Set consisting of: o
7 Hexagon screw, M8x51 mm 5> | 042.0165.103

&

(6/16"x2"), steel, zinc-plated

Head cap screw,
M8x50 mm (5/16"x1 31/32"),
steel, zinc-plated

&

042.0175.002

Bottom guide set for wall mounting

No.

Set bottom guide for
wall mounting, with roller

057.3128.171

230

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Assembly set/track installation Pocket

'Hawa [[Z1%) 100 HMT Pocket

Spring stop

A

30
1;.‘
16 .
05x40 —
@ 5
25u
@
S| - |de J
Q
Bes 1
e LN b
- 3.
18 P
* % 23 45 80
32 1275‘. 3iu
32 32
10| 40 _10
[13u 12.\ 13
32 16 32
Wall mounting bottom guide
10 2% 415
3u 31 180
8 32 8
04
|04
12 ® ®
F<lb=IN ‘
= T, of .
32 el @ @ ([ _
| LCpdico
ol : —
30 |(22-34) 5 815
3 Zu_4 11w 3 Tn
s (g1 is 33

45 9 al
L3
45
& OINC
I ~

+H0 +0

-2 1k 04x40
45 80 Nur fiir Hawa Porta 100 HMT Pocket
g %' Only for Hawa Porta 100 HMT Pocket

Seulement pour Hawa Porta 100 HMT Pocket

Tiirgewicht / door weight / poids de la porte 40-100 kg / 88-220 Ibs. \

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

04 x40

231



Hawa [

Ceiling integration
Recommendation: For systems integrated into the ceiling,
provide assembly openings or front access to the system.

80 Abdeckung Montagedffnung bauseitig
2 Cover assembly opening on site 62
Cache ouverture de montage sur site 2%"
— = \&e‘-’ = I o N
& |™~IE (6N ML)
0s ; == - I
L e | \
[ -
&i@ & ~
S~
18 04x40 o
23u +0
32 -3 L
8
135
5.
55
232 ®
9%" 3% "
- 43 o= Hawa Porta 100 HMT Pocket: Fiir Montage und Demontage Push-to-open stirnseitigen Zugang gewahrleisten
136" - e Hawa Porta 100 HMT Pocket: For mounting and dismounting of the Push-to-open ensure a frontal access
B "f Hawa Porta 100 HMT Pocket: Pour le montage et le démontage du Push-to-open assurez un accés frontal
11
X
| =
= 66
19
o— o £2
12 SERNEES
154 / = o
32 - =
|| ol
©| S IS O 8|
> o— o
Abdeckung Montagedffnung bauseitig
Cover assembly opening on site 62
04x20 Cache ouverture de montage sur site 25"
Calculations
T=TB+45 LM = > 650
_ 254 o419
T=TB+15; M==>2"13;
2|y
,,,,,,,,,,,,, 9
45 - \
Ol
el — = I |
217 B=M+40  TB=IM+ 13"
40
9.
"6 18

232

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [[Z1%) 100 HMT Pocket

Soft close
I
=
- " 1119
P oa———1 C) 1 2 2135
7=>535
* B o |12 o | 1] 7o o
Hawa Porta 607100 HHC 165 | 1o | 1 i1d | 2ad 2068 293 . *
= Montagedffnung
Hawa Porta 60/100 HMHMD/HMT | 1'653" | 1' 9" | 11113 | 214 | 2' 622" | 2 0" o : ] ) assembly opening
29 1 1 3 2, 3 ouverture de montage
Hawa Porta 100 G/GU/GM/GMT | 1'65" | 1' 955" | 1'113" | 2'43" | 2'65" | 2' 95" * B o |12 0] 1] 2 o
Hawa Porta 100 GF 168 24 Hawa Porta 60/100 H/HC 480 | 535 | 590 | 730 | 785 | 840
: = 1 5 > | Hawa Porta 607100 HWHVID/HT | 480 | 535 | 500 | 730 | 785 | 840
Hawa Porta 100 GW/GWF Vg | 19" | 11" | 26" | 265" | 2746 | | Hawa Porta 100 G/GU/GM/GMT | 480 | 535 | 500 | 730 | 785 | 840
Hawa Porta 100 GMD 17 1o | 1 idr | 25 | 207k |27 | | Hawa Porta 100 GF 480 730
Hawa Porta 100 GW/GWF 512 | 542 | 590 | 762 | 792 | 840
Hawa Divido 100 H/HWGR 16 | volr |11l | 2 |2 6@ |2 o3 | [FaWaPoa 100GV 488 | 539 | 590 | 738 | 789 | 840
— s A o T o o a5 1o 5] | Hawa Divido 100 HHM/GR 480 | 535 | 590 | 730 | 785 | 840
Hawa Divido 100 G 18" 111057 10" | 2'6" | 2'855" 12' 105" | "Hawa Divido 100 GRM 512 | 567 | 622 | 762 | 817 | 872

i

Beidseitig gedampfte Ausfiihrungen ohne stirn-
seitigen Zugang erfordern zwei Montagedffnungen.
Versions with soft closing mechanism at both sides
without access from the leading edge require two
assembly openings.

Les versions avec amortissement bilatéral sans
acces frontal exigent deux ouvertures de montage.

Push-to-open soft closing mechanism

45 Py — —
1%.. 5 © © J ° Ot
> 585
Nur fiir Hawa Porta 100 Pocket S 1 q gL
Only for Hawa Porta 100 Pocket T y==»800
Seulement pour Hawa Porta 100 Pocket i
n Y=22-7;
Tirgewicht / door weight / poids de la porte 40-100 kg / 88-220 Ibs. Empfehlung: Hawa Montageset verwenden
Recommendation: Use the Hawa Assembly set
Y= Y= Recommendation: Utilisez le kit de montage Hawa
0 \ P —Cl \ 1 -
Ohne Montageset: Fiir Montage und Demontage
1 Y O ©) 1 Push-to-open stimseitigen Zugang gewahrieisten
- Without asembly set: For mounting and dismounting
Hawa Porta 100 Pocket oy ‘ 2' 54 || Hawa Porta 100 Packet 495 ‘ 800 of the Push-to-open ensure a frontal access

Sans kit de montage: Pour le montage et le
démontage du Push-to-open assurez un acces frontal

45 W
ppiT (D
32 =

Nur fiir Hawa Porta 100 Pocket
Only for Hawa Porta 100 Pocket

Y =550
Seulement pour Hawa Porta 100 Pocket Yoo 19%
Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be
— General accessories from page 518 found on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 233



m gelges] 100 HMT Pocket Acoustics

Fitting for top-running wooden doors up to 100 kg (220 Ibs.), with surface mounted
running track or running track flush with the ceiling. Sound attenuation.
Ceiling mounting. Wall pocket solution.

Product highlights

@ Comfort

< Flexibilit

y

M Productivity

Technical specifications

@ Max.

w Max.

)€

_

Outstanding living comfort thanks to effective
exclusion of sound, drafts, odors and unwanted
light incidence

Ceiling-integrated or surface-mounted pocket
solutions possible

Door can be installed in pocket after construction
is complete

100 kg (220 Ibs.)
2500 mm (8' 2 7/16")

750-1250 mm (2' 5 17/32" to 4' 1 7/32") /\

Inside clearance (LMB) L

39-45 mm (1 17/32" to 1 25/32")

Installation examples

U+ 15
U+ 8"
Z lu=z+ 20
U=7+ %
30 10
1%” 3"
es |
Q!
M
gl | ©lie
7 I +2
< ‘ -
52 27 W3
1% I :
7= 6(6-25) 3% 5 40 237 25
= g LA 9B 3
10 40 | | 10 ® o 416
I IR Ry S = o ~|hE Tt
) 176 2 8/ % Q% =] & 32 8
ofz 1 NS
|9 / / Nl
1 N
= Bl / - \
! " B ~ : ‘(\4
ik 27 8 21 o
E i % 0%
67.5 64 64 64 64 64 52.5
s P 2 P P 2 2 25
BaRNy
2 32
Il | |e35x30
|
gl
!
\h $35x25 Slo
234 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Set for 1 wooden door up to 100 kg (220 Ibs.)

m gelgez§ 100 HMT Pocket Acoustics

Accessories for set

No. No.
Hawa Porta 100 HMD/HMT Pocket Acoustics, 30430
for 1 door Spring loaded buffer 27760
Hawa Porta 60/100
o No. Running tracks
@p)
L S mm
Set consisting of: 1) (inch) No.
Runni ball beari 1700 1 057.3016.170
unning gear, bat beanng, | 5 | 057.3114.071 (66 15/16") e
rollers, plastic, white
(5;03?49‘) 057.3016.200
SoftStop Hawa Porta 5 )
Acc_)ustlcs, w_|th retention 1 30472 / Runn_lng track, _ 2,500 057.3016.250
spring, plastic, gray aluminum, pre-drilled | (8 27/16")
st ith retenti (151507?32“) 057.3016.600
opper, with retention 1 | 057.3073.072
spring, plastic, gray cut to
; 057.3016.990
size
Adapter for running gear, 1 30218 2I,000“ 057.3016.201
for SoftStop, plastic, gray (©'634"
2,500
W Rlunn_ing track,d. L e 057.3016.251
Pan head screw, M3x8 mm aluminum, anodized,
N (1/8"x5/16") 1 30359 pre-drilled 6,000 | 457 3016.601
(19' 8 7/32")
Hexagon head screw, cutto | neva016.991
« M8x36 mm (5/16"x1 13/32"), | 1 | 042.0165.101 size
steel, zinc-plated i
P Dlsposgble cover 2,000 057.3098.001
Head cap screw, to runnlr.19' track (6'63/4")
M8x35 mm (5/16"x1 3/8"), 1 | 042.0175.001 Hawa Divido 100/
@ ; Hawa Porta
steel, zinc-plated . cut to 057.3098.990
45/60/100, plastic, size 57.3098.
@ Cover cap, plastic, grey 1 | 600.0000.533 black
) ) Components for running tracks
Runnlng gear holder, plastic, > | 042.0174.001
anthracite No.
/ Housing, steel, zinc-plated 5 | 042.0166.102 / Track cleaner, plastic, blue 057.3099.071
Spacer, housing plastic » 30361 Key for dismounting, steel, 042.3119.101
anthracite zinc-plated
Cover cap set, plastic,
plastic, anthracite, 1 30484
4-piece set
Flat countersunk
head chipboard screw,
N 4x50 mm (5/32'x1 31/32", | 8| 30463

steel, zinc-plated

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

235




m gelges] 100 HMT Pocket Acoustics

Assembly set Push-to-open with self closing mechanism
(must only be used with Hawa Porta 100)
No.
No.

Assembly S(Iat HaV\{Ia Porta 60/100, 057.3179.200

2000 mm (6' 6 3/4") Push-to-open Hawa Porta 100,

40-100 kg (88 to 220 Ibs.), 1 pi 057.3178.071

Assembly set Hawa Porta 60/100, - g (88to s.), 1 piece

057.3179.250

2500 mm (8' 2 7/16")
Assembly set Hawa Porta 60/100, ~
3000 mm (9' 10 1/8") 057.3179.300 g .
o.
by
o|lo|o Lo 5
8. & 8 Set consisting of: =)
f\_’ f\: ‘P\: No. Push-to-open
M| M0 Hawa Porta 100
mm NN N § 1| 057.3177.071
Set consisting of: iy | 8188 4961100”k9|(88. to 220 Ibs.),
with self-closing
Running
track, 2000 Release piece for
aluminum, | °°° ) 1 057.3174.200 Push-to-open, 1| 057.3176.001
anodized, 6347 zinc die casting
pre-drilled
; Qﬁ@ Screw set soft close 1 | 600.0000.566
Assembly pin, 9 | 1113 | 057.0201.001 >
plastic, gray

Countersunk head

N ?;2%",‘,’;(?’;}?6”,?)”" 1012 14 | 766.3054.140

steel, zinc-plated

Running
track,
aluminum,

% anodized,

2,500
(8'27/16")

1 057.3174.250

pre-drilled

Running
track,
aluminum,
anodized,
pre-drilled

3,000
(@ 101/8")

1| 057.3174.300

236 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Sets left type

(horizontal seal set)

m gelgez§ 100 HMT Pocket Acoustics

Vertical seal for seal set, left, right set type

No.
No. ) )
- Seal vertical, Hawa Acoustics,
Seal, Hawa Acoustics XS, left 30437 7700 mm (25' 3 5/32"), Silicone, 30300
Seal, Hawa Acoustics S, left 30439 black
; Seal, Hawa Acoustics M, left 30441
Seal, Hawa Acoustics L, left 30443
Seal, Hawa Acoustics XL, left 30445
Sets right type
(horizontal seal set)
No.
Seal, Hawa Acoustics XS, right 30436
Seal, Hawa Acoustics S, right 30438
Seal, Hawa Acoustics M, right 30440
Seal, Hawa Acoustics L, right 30442
Seal, Hawa Acoustics XL, right 30444
Hawa Acoustics horizontal seal set
consisting of:
Position | Bezeichnung Anzahl Typ
Position Désignation Numéro Type
Posttion Designation Number Type
1 Hubdichtung 1 Links/Rechts
Joint de levage Gauche/Droite
Header seal Left/Right
xS 30454
S 30385
M 30455
L 30456
XL 30457
2 Senkdichtung 1 Links Rechts
Joint d'abaissement Gauche Droite
Floor seal Left Right
xS 30446 | XS 30447
S 30387 |S 30383
M 30448 | M 30449
L 30450 | L 30451
XL 30452 | XL 30453
3,4,5,6 | Kleinteileset oben 1 Links 30390 | Rechts 30392
Kit pour petites pieces, supérieur Gauche Droite
Small parts set top Left Right
7,8,9,10 | Kleinteileset unten 1 Links 30416 | Rechts 30417
Kit pour petites pieces, inférieur Gauche Droite
Small parts set bottom Left Right
1 Pocketadapter 1 Links/Rechts 30418
Adaptateur pour caisson a galandage Gauche/Droite
Pocket adapter Left/Right

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

237




=8 100 HMT Pocket Acoustics

Hawa [

Definition left, right / door width calculation
Left type (left hand lock)

Ganzbffnend  [STR = (B + 50
Ouverture compléte =
Fully opening SB=LMB+1%
LMB T=S8TB+ 72
T=28TB+ 2§

[ Dichtseite / Coté étanchéité / Sealing side

- = =
STB =‘
Teiloffnend STB=LMB +50
Ouverture partielle EE
Partially opening STB=LMB+15
LMB T=S8TB+ 72 -VY

| nDichtseite / Coté étanchéité / Sealing side

T=98TB+ 25" -

o LU

LMB - Y

STB

Acoustics set determination

LMB
Hawa Acoustics XS 750 - 850
Hawa Acoustics S 850 -970
Hawa Acoustics M 970-1100
Hawa Acoustics L 1100 - 1220
Hawa Acoustics XL 1220 -1250
LMB
) g 17" g 15"
Hawa Acoustics XS 2'5 5 -2'9 3;
9 g 15" g 3"
Hawa Acoustics S 295 -325%
) 5 3 a7 &
Hawa AcousticsM ~ [3'2 5 -3'7 %
HawaAcousicsL |37 32 -4' 3
- T g4 T
Hawa AcousticsXL |4 5 -4'1 5
238

Right type (right hand lock)

Ganzoffnend STB= (VB + 50
Ouverture compléte —
Fully opening STB=LMB+15

T=STB+ 72 L LMB

T=STB+ 2§ —l—

= = = J Dichtseite / Coté étanchéité / Sealing side —
[ S1B

Teiloffnend STB=LMB+50
Ouverture partielle
Partially opening STB=LMB + 13

T=STB+ 72

LMB

il Dichtseiie /Coté étancﬁe’ité / Sealing side

1 U - - U=
[ LMB - Y
STB
Further installation examples
U+ 15 U+ 15
U+ %” U+ %7
U=Z+ 20 U=27+ 20
u=z+ g u=2+ %"
30 10 3 10
13" 13 IEN 3
16 32 WF 32
o5 |l 05| |l
T e — |
1] Il
-
1 . ok
|1 Bl e e
i | |
| N
I : SlH2| ot
I S| | ©lte -
|
| | +2
| 7 I +2 7 I -2
! 9 -2 ] H 3
| 32 " 32 >
! 27 .3 2 a5
145 I % 145 3
‘ 7= 6(6-25) % 7= 6(6-25) 32
PR UE T
10 40 | | 10 10 40 10
v P bre e
32 16 32 32 16 32
! 0| e =
! ey -
= | . = N
| Tl - = :‘E
I :g I U
: Fl= = =
I
7. .23 723
T e
3‘2 32 32 32
|
|
|
|
|
|
! Ill | leasxao Ill | leasx30
1] =
|
! . =
|
I\ ¢35x25 Sl IN_#35%25 SIEN

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Pocket side view, assembly set

|

oy
ol

25

I

$3.5x35

ol
g~ico

=3
=

21

525

=~
=

N
.
e

~(=

<

X
275

)

N
&
g
A
g

Ty 45

™oy

$35x30

Spring stop

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

3.5 x30

m gelgez§ 100 HMT Pocket Acoustics

Details of end post at lock side

18
S5
42 5
oo e
32 16
<z (=1
|
= 2l5e
3 _
15
S
AR 3

Assembly set/track installation Pocket

S

U+ 15
U+ %
U=Z+ 20
U=z+ %"
30 10
5 7
os| |l
gall I
Ll
CDV:\N
o
[
7 |
g"‘
32 27
o
7= 6(6-25)
T
10 40 | | 10
13" 1in"' "EH
32 16 32

Bottom guide assembly detail

@

1S<D- 1%

el

NS

N 30

©|ie 14"

© i<

A

5o 3&, -

16

B o
25 75
7 YL

239



m gelges] 100 HMT Pocket Acoustics

Push-to-open with self closing mechanism

H\ $3.5x35

<~ —

L, Crgal o) |
i IR
m M m I

I

110
Py

240 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Room-to-room sound attenuation
All reference values have been measured on the basis of a practical design. The Rw sound attenuation values specify the
expected sound attenuation between the two rooms which are influenced by the wall, the system and the choice of door leaf.

m gelgez§ 100 HMT Pocket Acoustics

Reference values tested with a lightweight construction wall in accordance with James Hardy (type 1 H 31 / Rw 52 dB),
size 2.5 x 2.45 m in accordance with DIN EN ISO 10140-2. Clearance 2.0 x 1.0 m. The sound attenuation relates to the entire
structure and specifies which sound attenuation can be expected between the two rooms.

Example walls

System

: Thickness
of door leaf :

Type of door leaf

Estimated sound
attenuation

effect

Room to room

i acoustic rating of Rw 42 dB

Rw
Wall with minimum acoustic without Hawa Acoustics Single door leaf without sealing system ~18 dB
rating of Rw 52 dB H :
Single door leaf, approx. 19 kg/m? ~31dB
‘ acoustic rating of Rw 29 dB -
; ; : : : 39 mm !
\I;;ggtngllwts;zr;structlon wall © Hawa Porta 60 HMD Acoustics : Ch|pb?ard, approx. 25 l.<g/m2 ~30dB
i Hawa Porta 100 HMD Acoustics i No defined acoustic rating
= = : i Door leaf with medium sound attenuation
‘HHHHHHHMXXH‘ level approx. 25 kg/m?, ~34 dB
acoustic rating of Rw 39 dB
T 1
: Single door leaf, approx. 20 kg/m? ~30dB
i Hawa Junior 100 B Acoustics acoustic rating of Rw 29 dB
i H Porta 60 HMD A« i - - :
Lightweight construction wall H H:x: PZrt: 100 HMD ;ggislﬁzs 44 mm Door leaf with medium sound attenuation
with wooden stand H level approx. 28 kg/m?, ~ 34 dB
i acoustic rating of Rw 40 dB
: : Door leaf with high sound attenuation
Hawa Junior 100 B Acoustics 50 mm i level approx. 33 kg/m2, ~35dB
i acoustic rating of Rw 42 dB
' ) 1
I [N}
without Hawa Acoustics Single door leaf without sealing system ~20dB
Solid wall Single door leaf, approx. 19 kg/m?, ~31dB
; 39 mm ; tic rating of Rw 29 dB -
i Hawa Porta 60 HMT Pocket Acoustics : acoustic rating ot Aw
i Hawa Porta 100 HMT Pocket Acoustics ¢ Door leaf with medium sound attenuation
: i level approx. 25 kg/m?, ~37dB
i acoustic rating of Rw 39 dB
Acoustic ratings for wall construction : Single door leaf, approx. 20 kg/m? ~324dB
according to manufacturer. The i Hawa Junior 100 B Pocket Acoustics i acoustic rating of Rw 29 dB
laco.usnc values may vary if installed Hawa Porta 60 HMT Pocket Acoustic_s 44 mm ¢ Door leaf with medium sound attenuation
in different wall types. i Hawa Porta 100 HMT Pocket Acoustics level approx. 28 kg/m?, ~ 39 dB
i acoustic rating of Rw 40 dB
H i Door leaf with high sound attenuation
i Hawa Junior 100 B Pocket Acoustics 50 mm i level approx. 33 kg/m?, ~41 dB

Planning/execution

Further information about the product
can be found on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

241




'Hawa [[Z32%Y 300 H

Fitting for top-running wooden doors up to 300 kg (660 Ibs.), with surface mounted

running track. Wall or ceiling mounting.

Product highlights
<> Flexibility

{pr Comfort

to the ball bearing rollers

Technical specifications

@ Max.

300 kg (660 Ibs.)

Three or four point guidance for maximum stability

Even heavy doors close smoothly and quietly thanks

$H Max. 4000 mm (13'1 15/32")
£2  Max. 4000 mm (13'1 15/32") | —
l/
»He 40-80 mm (1 9/16" to 3 5/32") P
Installation examples
i 6__ 40 08 45
1 13.. 3
42 | e 13
& ] s 2
IS — 1%..
[ | ol 5 ETE . elze I Jnf | -
U 1 Ui ol 7 P
] o T.,()" ] ] B - 1
i | s 0| ol ol e ~ 7
39 S - 39 | | S S| 39 ol 06 x40
13 1 L T ] A7 AN 74 N~
L [ o | ofee u Qt:m é g u é é é
o 11 o Ll o 11
- +10 H10 | [Z+ H10 % 11050 32
a s s || U5 | BT a
150 25
+% 4 % 4 % 58" i
_|3n _|3. _|3u
16 16 16 25
= T A 30, i 100
8@0% g E;ls?’ 32 § i]@ 3%..
f:‘ fﬁ ﬁf | ohze ) 011x22 -
I} *
EIE EIE EE \
_ 20 | 20 44 20 | 20 38
<l- %u %u 1%u %u %u 1%..
©orE
25
A 31,
19w 32
32 /g
05
&l Qo
[ L Qe — — — —
©| gy elgy y HH ©| S -
2 &l
P05 %\
\_06 Mjfg
60 25 25 5 60
23.. 3 3 3n 2;3”
8 32 32 16 8

242

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [[Z31%Y 300 H

Set for ceiling or wall mounting, Bracket set for wall mounting

for 1 wooden door up to 300 kg (660 Ibs.)

No.
No. .
Angle b_racket for wall njountmg, 057.3005.172
Hawa Porta 300 H, for 1 door 058.3000.171 steel, zinc-plated, 10-piece set
— N
~ =
o o)
S No. S No.
D D
3 - 5
Set consisting of: 8 Set consisting of: 8
Running gear, Wall mounting angle
ball bearings, 2 | 058.3005.171 g ang 10| 057.0169.101

rollers plastic white

Stopper, with rubber buffer,
steel, zinc-plated

058.3008.171

o | B

Suspension bolt, M10x45 mm

(13/32"x1 25/32"), 2 | 058.3006.171
steel, zinc-plated
=2 |s pport bracket
o > u il
> steel, zinc-plated 2 | 058.3009.101
X
él/’ Sy | T bottom guide, 1| 058.3011.101
@ steel, zinc-plated
S&E{g@ Screw set 1 | 058.0103.171
Running tracks
mm
inc o.
(inch) N
3,000 058.3002.300
©'101/8")
Running track, 6,000
S steel, pre-drilled (19' 8 7/32") 058.3002.600
cutto | 58 3002.990
size
3,000 058.3016.300
(9'101/8")
& Running track, 6.000
aluminum, anodized, ’ 058.3016.600
) (19' 8 7/32")
pre-drilled
cutto | 45g.3016.990
size
Guide tracks
mm
(inch) No.
6,000
> Guide track, steel, (19' 8 7/32") 058.3013.600
zinc-plated,
pre-drilled cutto | 558.3013.990
size

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

bracket, steel, zinc-plated

Countersunk head screw,
M5x12 mm (3/16"x15/32"), 10
steel, zinc-plated

762.5008.100

Hexagon nut, M5,

steel, zinc-plated 10

768.9025.100

Accessories

No.

Bottom guide pin, for screw
fixing, for 058.3010.101, 20 mm
(25/32")

058.3015.171

Bottom guide roller, 20 mm
(25/32"), steel, zinc-plated

058.3012.171

Soffit suspension bracket,
for 058.3002.300/600,
every 500 mm (1'7 11/16"),
steel, zinc-plated

058.3001.171

Supporting angle bracket/
bottom guide, steel, zinc-plated

058.3010.101

Track connecting U-piece
for 058.3002.300/600, steel,
zinc-plated, pre-drilled

058.3004.101

243




'Hawa [[Z32%Y 300 H

Further installation examples

05 6 40
dn 190
4 16
26
g«]iu
N~ [Sjey 32
™| -
KNIy
I g Sl
5 | e
3 %,% i | «
[ar] b =)
Ee M| o
1B
e
o 11
+10 Zu
5 16
130
32
3
16
pu
@S
™
=+
o
=
06
L
2| Sy
&=
05
RN
25
31
32
Accessories

— General accessories from page 518

244

Mounting example with support bracket

i<

N YN
‘ -
C J 5
- 3
g 6 ©
3
06x40 < ®
100 wohe
3l5e 3%‘. Slge L& %
2l's - 2
m ®
2/
154 6 25
116" %u %u
100
3%\.
03
1 D11x22 1
¢ i
i olde |_ I
40 30 30 40
1%\. 1%u 1%.. 1%u
Planning/execution

Further information about the product can be

found on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

1n
616




'Hawa [[Z31%Y 600 H

Fitting for top-running wooden doors up to 600 kg (1320 Ibs.), with surface mounted

running track. Wall or ceiling mounting.

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

Product highlights
“Tﬁ Flexibility Three or four point guidance for maximum stability
M .
> Comfort Even heavy doors close smoothly and quietly thanks
to the ball bearing rollers
Technical specifications ]‘
[\ Max. 600 kg (1320 Ibs.)
w Max. 6000 mm (19'8 7/32")
&2 Max. 5000 mm (16'4 27/32") //\
)« 40-100 mm (1 9/16" to 3 15/16") P '
Installation examples
110 55
& % o
08 | 9 0 (43 %
%' SER =In*
= ] o ] e [am)] Mo |
—T — - T T I 6
Ff oo B T_Tﬂ e g% @) R
| 1 S “L L 2l [ 1 | =5
T 3 T 3 j
50 iy Bl |50 kS
7 7 g
[ L ] [ L ] ol
8l 8l T
+10 013 +10 013 e ;%0 ;
iy 7 s 3 160 * 20 ||
o | +|B _ 100
o ol " | 013x30 03
I n n olzm
= E EE =
I n
25 221 .20 50 20 | 22 33
3 32
32
05 .
&k &y
2|9k b %
\ %
\_05 ¥ N\l
60 25 5 60
2 # S
245



'Hawa [[231%Y 600 H

Set for ceiling or wall mounting,
for 1 wooden door up to 600 kg (1320 Ibs.)

No.

Hawa Porta 600 H, for 1 door

059.3010.171

Set consisting of:

059.3010.171

No.

Running gear, ball bearings,

rollers plastic white

059.3004.171

Stopper, with rubber buffer,

steel, zinc-plated

059.3009.171

Accessories

No.

Connecting sleeve,
steel, zinc-plated

059.3001.171

Ceiling suspension bracket,
steel, zinc-plated

059.3002.171

Wall suspension bracket,
steel, zinc-plated

059.3003.171

Bottom guide pin,
for screw fixing, for
058.3010.101, 20 mm (25/32")

058.3015.171

Suspension bolt,

M12x60 mm (15/32"x2 3/8"), | 2 | 059.3005.171
steel, zinc-plated
Support bracket, 2 | 059.3007.101
steel, zinc-plated
él/’ Sy | T bottom guide, 1| 058.3011.101
@ steel, zinc-plated
S&E{g@ Screw set 1 | 058.0103.171
Running tracks
mm
(inch) No.
Runnm_g track, 6,000 059.3000.600
steel, zinc-plated (19' 8 7/32")
Runnmg track, cqt to 059.3000.990
steel ,zinc-plated size
Guide tracks
mm
(inch) No.
6,000
% Guide track, (19 8 7/32°) 058.3013.600
steel, zinc-plated,
pre-drilled cutto | 458.3013.990
size

246

Bottom guide roller, 20 mm
(25/32"), steel, zinc-plated

058.3012.171

Supporting angle bracket/bot-
tom guide, steel, zinc-plated

058.3010.101

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Installation examples bottom guides Mounting example with support bracket

e T
2 [ =
i 03
32 | —= _ _ 30
S ,
Blge pf2 ©
i 03
© B
06 ~
= = —
. g 0640 sy
b 6
HH 2|9 H 2| Sy 100 8|
. ' - . 3 e g
&l &= S| K
25 25 8|
3 3lu
32 32
10
194 6 = B =
T *
100
3R
It 013x30 |— 1
SIEN @
‘. s [| 1
50 30 40 60
W %
Accessories Planning/execution
— General accessories from page 518 Further information about the product can be

found on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 247

9u
746




